Quick Start Guide

=
€] ®
5] @
] ]
] @‘ ]
®
] ‘E‘ ]
]

VQ 100/VQ 60

3 Way Dual 12" Large Format Loudspeaker for High Performance Installation Applications

VQ 85DF/VQ 64DF

2 Way Down-Firing Dual Concentric Mid-High Loudspeaker for High Performance Installation
Applications

VQ 64MH

2 Way Dual Concentric Mid-High Large Format Loudspeaker for High Performance Installation
Applications

VQ MB

Dual 12" Mid-Bass Large Format Loudspeaker for High Performance Installation Applications

TANNOY

9 5 F B B B 3 B 3 @ @



g

EN

&

NowuswNz

F

3

UUU

2 VQ Series

(V) Safety Instruction

Read these instructions.

Keep these instructions.

Heed all warnings.

Follow all instructions.

Do not use this apparatus near water.
(lean only with dry cloth.

Do not block any ventilation openings. Install in
accordance with the manufacturer’s instructions.

8. Do notinstall near any heat sources such
as radiators, heat registers, stoves, or other apparatus
(including amplifiers) that produce heat.

9. Use only attachments/accessories specified
by the manufacturer.

(Jg‘_!@

10. Use only with

the cart, stand, tripod,
bracket, or table specified
by the manufacturer, or
sold with the apparatus.
When a cartis used,

use caution when moving
the cart/apparatus

11. Correct disposal of this
product: This symbol indicates that
this product must not be disposed
of with household waste,
according to the WEEE Directive

combination to avoid injury from tip-over.
(2012/19/EU) and your national
law. This product should be taken

to a collection center licensed for

the recycling of waste electrical and electronic equipment
(EEE). The mishandling of this type of waste could have a
possible negative impact on the environment and human
health due to potentially hazardous substances that are
generally associated with EEE. At the same time, your
cooperation in the correct disposal of this product will
contribute to the efficient use of natural resources. For
more information about where you can take your waste
equipment for recycling, please contact your local city
office, or your household waste collection service.

12. Do not install in a confined space, suchasa
book case or similar unit.

13. Do not place naked flame sources, such as lighted
candles, on the apparatus.

() Instruccion de seguridad

Lea las instrucciones.

Conserve estas instrucciones.

Preste atencion a todas las advertencias.
Siga todas las instrucciones.

No use este aparato cerca del agua.

oOn,dwWwN-R

Limpie este aparato con un pafio seco.

7. Nobloquee las aberturas de ventilacién.
Instale el equipo de acuerdo con las instrucciones
del fabricante.

8. Noinstale este equipo cerca de fuentes de calor
tales como radiadores, acumuladores de calor, estufas u
otros aparatos (incluyendo amplificadores) que puedan
producir calor.

9. Use Unicamente los dispositivos o accesorios
especificados por el fabricante.

10. Use Ginicamente la
carretilla, plataforma,
tripode, soporte 0 mesa
® especificados por el
fabricante o suministrados
junto con

el equipo. Al transportar el
equipo, tenga cuidado
para evitar dafios y caidas al tropezar con

algun obstaculo.

B nomativas aplicables en su pais.

En lugar de ello deberd llevarlo al

punto limpio mds cercano para el reciclaje de sus
elementos eléctricos / electrénicos (EEE). Al hacer esto
estard ayudando a prevenir las posibles consecuencias
negativas para el medio ambiente y la salud que podrian
ser provocadas por una gestion inadecuada de este tipo
de aparatos. Ademés, el reciclaje de materiales ayudard a
conservar los recursos naturales. Para més informacién
acerca del reciclaje de este aparato, pdngase en contacto
con el Ayuntamiento de su ciudad o con el punto limpio
local.

AT
~

11. (6mo debe deshacerse de
este aparato: Este simbolo indica
que este aparato no debe ser
tratado como hasura orgdnica,
segun lo indicado en la Directiva
WEEE (2012/19/EU) y a las

12. Noinstale esta unidad en un espacio muy reducido,
tal como encastrada en una libreria o similar.

13. No coloque objetos con llama, como una vela
encendida, sobre este aparato.

Consignes de sécurité

Lisez ces consignes.

Conservez ces consignes.

Respectez tous les avertissements.
Respectez toutes les consignes d'utilisation.

o P W=

N'utilisez jamais I'appareil a proximité
d un liquide.

6. Nettoyez I'appareil avec un chiffon sec.

7. Veillez a ne pas empécher la bonne ventilation
de 'appareil via ses ouies de ventilation. Respectez les
consignes du fabricant concernant l'installation

de I'appareil.

8. Ne placez pas 'appareil a proximité d'une source
de chaleur telle qu'un chauffage, une cuisiniére ou tout
appareil dégageant de la chaleur (y compris un ampli de
puissance).

9. Utilisez exclusivement des accessoires et des
appareils supplémentaires recommandés par
le fabricant.

10. Utilisez
exclusivement des
chariots, des diables, des
® présentoirs, des pieds et
des surfaces de travail
recommandés par le
fabricant ou livrés avecle
produit. Déplacez
précautionneusement tout chariot ou diable chargé pour
éviter d'éventuelles blessures en cas de chute.

avec les déchets ménagers. Ce

produit doit étre déposé dans un

point de collecte agréé pour le recyclage des déchets
d‘équipements électriques et électroniques (EEE). Une
mauvaise manipulation de ce type de déchets pourrait
avoir un impact négatif sur l'environnement et la santé a
cause des substances potentiellement dangereuses
généralement associées a ces équipements.

En méme temps, votre coopération dans la mise au rebut
de ce produit contribuera a I'utilisation efficace des
ressources naturelles. Pour plus d'informations sur
I'endroit ol vous pouvez déposer vos déchets
d‘équipements pour le recyclage, veuillez contacter votre
mairie ou votre centre local de collecte

des déchets.

VAT
~=

11. Mise au rebut appropriée de
ce produit: Ce symbole indique
quen accord avec la directive DEEE
(2012/19/EV) et les lois

en vigueur dans votre pays,

ce produit ne doit pas étre jeté

12. Ninstallez pas appareil dans un espace confiné tel
qu'une bibliothéque ou meuble similaire.

13. Ne placez jamais d'objets enflammés, tels que des
bougies allumées, sur I'appareil.

Wichtige Sicherhteitshinweise

. Lesen Sie diese Hinweise.
Bewahren Sie diese Hinweise auf.

. Beachten Sie alle Warnhinweise.

A W N =

. Befolgen Sie alle Bedienungshinweise.

u

. Betreiben Sie das Gerét nicht in der Nahe
von Wasser.

6. Reinigen Sie das Gerat mit einem trockenen Tuch.

7. Blockieren Sie nicht die Beliiftungsschlitze. Beachten
Sie beim Einbau des Gerdtes
die Herstellerhinweise.

8. Stellen Sie das Gerdt nicht in der Nahe von
Warmequellen auf. Solche Warmequellen sind z.

B. Heizkorper, Herde oder andere Warme erzeugende
Geradte (auch Verstarker).

9. Verwenden Sie nur Zusatzgerdte/Zubehdrteile, die
laut Hersteller geeignet sind.

10. Verwenden

Sie nurWagen,
Standvorrichtungen,

) Stative, Halter oder Tische,
die vom Hersteller benannt
oder im Lieferumfang des
Gerdts enthalten sind. Falls
Sie einen Wagen benutzen,
seien Sie vorsichtig beim Bewegen der
Wagen-Gerdtkombination, um Verletzungen durch

Stolpern zu vermeiden.
zusammen mit lhren

Haushaltsabféllen zu entsorgen.

Dieses Produkt sollte bei einer autorisierten Sammelstelle
fiir Recycling elektrischer und elektronischer Geréte (EEE)
abgegeben werden. Wegen bedenklicher Substanzen, die
generell mit elektrischen und elektronischen Gerdten in
Verbindung stehen, konnte eine unsachgemdBe
Behandlung dieser Abfallart eine negative Auswirkung
auf Umwelt und Gesundheit haben. Gleichzeitig
gewahrleistet Ihr Beitrag zur richtigen Entsorgung dieses
Produkts die effektive Nutzung natiirlicher Ressourcen.
Fiir weitere Informationen zur Entsorgung Ihrer Geréte bei
einer Recycling-Stelle nehmen Sie bitte Kontakt zum
zustandigen stddtischen Biiro, Entsorgungsamt oder zu
Ihrem Haushaltsabfallentsorger auf.

AT
~=

11. Korrekte Entsorgung dieses
Produkts: Dieses Symbol weist
darauf hin, das Produkt
entsprechend der WEEE Direktive
(2012/19/EU) und der jeweiligen
nationalen Gesetze nicht

12. Installieren Sie das Gerdt nicht in einer beengten
Umgebung, zum Beispiel Biicherregal oder &hnliches.

13. Stellen Sie keine Gegenstdnde mit offenen
Flammen, etwa brennende Kerzen, auf das Gerat.

Instrugdes de Segurang
Importantes

Leia estas instrugdes.

Guarde estas instrugdes.

Preste atengdo a todos 0s avisos.

Siga todas as instrucdes.

Néo utilize este dispositivo perto de dgua.
Limpe apenas com um pano seco.

NowaswnN

Néo obstrua as entradas de ventilagdo. Instale de
acordo com as instrugdes do fabricante.

8. Naoinstale perto de quaisquer fontes de calor tais
como radiadores, bocas de ar quente, fogdes de sala

ou outros aparelhos (incluindo amplificadores) que
produzam calor.

9. Utilize apenas ligagdes/acessrios especificados pelo
fabricante.

10. Utilize apenas com o
carrinho, estrutura, tripé,
suporte, ou mesa
especificados pelo
fabricante ou vendidos
com o dispositivo.
~— Quando utilizar um
carrinho, tenha cuidado ao mover o conjunto carrinho/
dispositivo para evitar danos provocados pela terpidacdo.
I acional. Este produto deverd ser
levado para um centro de recolha
licenciado para a reciclagem de residuos de equipamentos
eléctricos e electronicos (EEE). O tratamento incorrecto
deste tipo de residuos pode ter um eventual impacto
negativo no ambiente e na satide humana devido a
substancias potencialmente perigosas que estdo
geralmente associadas aos EEE. Ao mesmo tempo, a sua
colaboragdo para a eliminagao correcta deste produto ird
contribuir para a utilizacao eficiente dos recursos naturais.
Para mais informacdo acerca dos locais onde podera
deixar o seu equipamento usado para reciclagem, é favor
contactar os servicos municipais locais, a entidade de

gestao de residuos ou os servicos de recolha de
residuos domésticos.

11. Correcta eliminagdo deste
produto: este simbolo indica que o
produto ndo deve ser eliminado
juntamente com os residuos
domésticos, sequndo a Directiva
REEE (2012/19/EU) e a legislacdo

12. Néo instale em lugares confinados, tais como
estantes ou unidades similares.

13. Néo cologue fontes de chama, tais como velas
acesas, sobre o aparelho.

Quick Start Guide 3

Istruzioni di sicurezza importanti

1. Leggere queste istruzioni.

2. (onservare queste istruzioni.

3. Prestare attenzione a tutti gli avvisi.

4, Applicare tutte le istruzioni.

5. Non utilizzare questo dispositivo vicino I'acqua.
6. Pulire esclusivamente con un panno asciutto.

7. Nonbloccare le aperture di ventilazione. Installare in
conformita con le istruzioni del produttore.

8. Noninstallare vicino a fonti di

calore come radiatori, termoregolatori,

stufe o altri apparecchi (inclusi amplificatori) che
producono calore.

9. Utilizzare esclusivamente dispositivi/accessori
specificati dal produttore.

10. Utilizzare solo carrelli,
supporti, treppiedi, staffe
o tavoli indicati dal
produttore o venduti con
I'apparecchio. Utilizzando
un carrello, prestare
attenzione quando si
sposta la combinazione carrello/apparecchio per evitare
lesioni dovute al ribaltamento.

vostra legislazione nazionale.

Questo prodotto deve essere

portato in un centro di raccolta autorizzato per il
riciclaggio di rifiuti di apparecchiature elettriche ed
elettroniche (RAEE). La cattiva gestione di questo tipo di
rifiuti potrebbe avere un possibile impatto negativo
sull'ambiente e sulla salute umana a causa di sostanze
potenzialmente pericolose che sono generalmente
associate alle apparecchiature elettriche ed elettroniche.
Nello stesso tempo la vostra collaborazione al corretto
smaltimento di questo prodotto contribuira all'utilizzo
efficiente delle risorse naturali. Per ulteriori informazioni
su dove & possibile trasportare le apparecchiature per il
riciclaggio vi invitiamo a contattare |'ufficio comunale
locale oil servizio di raccolta dei

rifiuti domestici.

~——

11. Smaltimento corretto di
questo prodotto: questo simbolo
indica che questo dispositivo non
deve essere smaltito insieme ai
rifiuti domestici, secondo la
Direttiva RAEE (2012/19/ UE) e la

12. Noninstallare in uno spazio ristretto, come in una
libreria 0 in una struttura simile.

13. Non collocare sul dispositivo fonti di fiamme libere,
come candele accese.

£

N

@

F

3

D

9

PT

E (3



N

g 8 B

J

s

CN

g

4 VQ Series

(WD) Belangrijke
veiligheidsvoorschriften

Lees deze voorschriften.

Bewaar deze voorschriften.

Neem alle waarschuwingen in acht.

Volg alle voorschriften op.

Gebruik dit apparaat niet in de buurt van water.

ok wnN=

Reinig het uitsluitend met een droge doek.

N

Let erop geen van de ventilatie-openingen
te bedekken. Plaats en installeer het volgens de
voor-schriften van de fabrikant.

8. Hetapparaat mag niet worden geplaatst in de buurt
van radiatoren, warmte-uitlaten, kachels of andere zaken
(ook versterkers) die warmte afgeven.

9. Gebruik uitsluitend door de producent
gespeci-ficeerd toebehoren c.q. onderdelen.

10. Gebruik het apparaat
uitsluitend in combinatie
met de wagen, het statief,
de driepoot, de beugel of
tafel die door de producent
is aangegeven, of die in
combinatie met het
apparaat wordt verkocht. Bij gebruik van een wagen dient
men voorzichtig te zijn bij het verrijden van de combinatie
wagen/apparaat en letsel door vallen te voorkomen.

11. Correcte afvoer van dit

product: dit symbool geeft aan dat

u dit product op grond van de

AEEA-richtlijn (2012/19/EU) en de

nationale wetgeving van uw land
I

A
*‘

niet met het gewone

huishoudelijke afval mag

weggooien. Dit product moet na
afloop van de nuttige levensduur naar een officiéle
inzamelpost voor afgedankte elektrische en elektronische
apparatuur (AEEA) worden gebracht, zodat het kan
worden gerecycleerd. Vanwege de potentieel gevaarlijke
stoffen die in elektrische en elektronische apparatuur
kunnen voorkomen, kan een onjuiste afvoer van afval van
het onderhavige type een negatieve invioed op het milieu
en de menselijke gezondheid hebben. Een juiste afvoer
van dit product is echter niet alleen beter voor het milieu
en de gezondheid, maar draagt tevens bij aan een
doelmatiger gebruik van de natuurlijke hulpbronnen.
Voor meer informatie over de plaatsen waar u uw
afgedankte apparatuur kunt inleveren, kunt u contact
opnemen met uw gemeente of de plaatselijke
reinigingsdienst.

12. Installeer niet in een kleine ruimte, zoals een
boekenkast of iets dergelijks.

13. Plaats geen open viammen, zoals brandende
kaarsen, op het apparaat.

(B Viktiga sakerhetsanvisningar

Lds dessa anvisningar.

Spara dessa anvisningar.

Beakta alla varningar.

Folj alla anvisningar.

Anvdnd inte apparaten i ndrheten av vatten.

oun s wWwN-R

Rengidr endast med torr trasa.

7. Blockera inte ventilationsdppningarna.
Installera enligt tillverkarens anvisningar.

8. |Installera aldrig intill véirmekallor som
varme-element, varmluftsintag, spisar eller annan
utrustning som avger varme (inklusive forstérkare).

9. Anvénd endast tillkopplingar och tillbehdr som
angetts av tillverkaren.

10. Anvdnd endast med
vagn, stativ, trefot, hallare
eller bord som angetts av
tillverkaren, eller som salts
till-sammans med
apparaten. Om du
"k‘ anvénder en vagn, var
forsiktig, nar du forflyttar kombinationen vagn-apparat,
for att forhindra olycksfall
genom snubbling.

11. Kassera produkten pa ratt

satt: den hdr symbolen indikerar

att produkten inte ska kastas i

hushallssoporna, enligt WEEE

direktivet (2012/19/EU) och
I

gdllande, nationell lagstiftning.

Produkten ska ldmnas till ett

auktoriserat atervinningsstalle for
elektronisk och elektrisk utrustning (EEE). Om den har
sortens avfall hanteras pa fel satt kan miljon, och
manniskors halsa, paverkas negativt pa grund av
potentiella risksubstanser som ofta associeras med EEE.
Avfallshanteras produkten daremot pa rétt sétt bidrar
detta till att naturens resurser anvands pa ett bra satt.
Kontakta kommun, ansvarig forvaltning eller
avfallshanteringsforetag for mer information om
atervinningscentral dar produkten kan [dmnas.

12. Installerainte i ett trangt utrymme,
t.ex.ien bokhylsa eller liknande enhet.

13. Placerainte kdllor med dppen eld,
t.ex. tanda ljus, pa apparaten.

Wazne informacje o
bezpieczenstwie

1. Prosze przeczytac ponizsze wskazowki.
2. Prosze przechowywac niniejsza instrukgje.

3. Nalezy przestrzegac wszystkich wskazéwek
ostrzegawczych.

4, Nalezy postepowac zgodnie z instrukcja obstugi.
5. Urzadzenia nie wolno uzywa¢ w poblizu wody.
6. Urzadzenie mozna czysci¢ wytacznie

suchg szmatka.

7. Nie zastaniac otworow wentylacyjnych. W czasie
podfaczania urzadzenia nalezy przestrzegac

zalecen producenta.

8. Nie stawiac urzadzenia w poblizu Zrédet ciepta
takich, jak grzejniki, piece lub urzadzenia produkujace
cepto (np. wzmacniacze).

9. Uzywac wylacznie sprzetu dodatkowego i
akcesoriéw zgodnie z zaleceniami producenta.

10. Uzywac jedynie zalecanych przez producenta lub
znajdujacych sie w
zestawie wozkow,
stojakow, statywow,

o uchwytéw i stotéw.

W przypadku
postugiwania sie wézkiem
nalezy zachowac
szczegdlng ostroznos¢ w
trakcie przewozenia zestawu, aby uniknac
niebezpieczenistwa potkniecia sie i zranienia.

11. Prawidtowa utylizagja

produktu: Ten symbol wskazuje, ze

tego produktu nie nalezy

wyrzucac razem ze zwyktymi

odpadami domowymi, tylko
I

Y AT
~=

zgodnie z dyrektywa w sprawie

zuzytego sprzetu elektrycznego i

elektronicznego (WEEE) (2012/19/
EU) oraz przepisami krajowymi. Niniejszy produkt nalezy
przekaza¢ do autoryzowanego punktu zbidrki zuzytego
sprzetu elektrycznego i elektronicznego. Niewtasciwe
postepowanie z tego typu odpadami moze wywotac
szkodliwe dziatanie na srodowisko naturalnej i zdrowie
cztowieka z powodu potengjalnych substanji
niebezpiecznych zaliczanych jako zuzyty sprzet
elektryczny i elektroniczny. Jednoczesnie, Twdj wkiad w
prawidtowa utylizacje niniejszego produktu przyczynia sie
do oszczednego wykorzystywania zasob6w naturalnych.
Szczeg6towych informacji o miejscach, w ktérych mozna
oddawac zuzyty sprzet do recyklingu, udzielaja urzedy
miejskie, przedsigbiorstwa utylizacji odpadéw lub
najblizszy zakfad utylizacji odpaddw.
12. Nieinstaluj w ograniczonej przestrzeni, takiej jak
pdtka na ksigzki lub podobny zestaw.

13. Nie stawiaj na urzadzeniu Zrddet otwartego ognia,
takich jak zapalone Swiece.

®
i
tt?
meE
gl

INEDI/RZERFTZHLIEZ N,
INSDIERZEF>TLESI W,
ITRNTOESITEELTLEE L,
3‘/\‘(@? RICRESTLIESE WY,
EBEZKDESTHERALZVWTL

YA W N

él,\

6. EZW\ARTOHNWTLIZE L,

7. BEO%ZXZIHBNTLLESW, 8
TEDIBRICES>TAVAR=)LLTL S
b\o

8. ZYI—4— kb—KhLIRHY— Xk
—\ FeEBERETDIZDMDERE (
ToTHEED) IEDBRDIELITREL
BRWTLEE W,

9, BLETTHIBELIETIYFAYN/TY
THVDOHAZERLTEE W,

10. BLETTHMIEE
Ufc. ElcldEB S
—HEICERFTES vz
e H—k. ZZVR,
=Bl 757 vk
EIESaawlado)
MAMERLTLESE
Wo A—hZEFERT
55 A— M EBEOHAEDLEZE
BB EEC, EBAICKZERZHCELS
[GEELTLIESW,

11. COEFBDIELLVEE

2 ZOEE(E. WEEE S

201219/ EU) B L O'E

PIRICREST. 2ORSR

HERESHE—FEICESE
I

YA TS
~=

LTS BWT EzR
LTWET, CORGE.
BEREFHRR (EEE) D)
YA EHFREINNEEYY—ICFS
RAORENGHDET, CDEDEEYIDEL
DI/WEFED &, —RRIC EEE ICREET 25&
EMICEREYENRET BiEE AN
DRERICEFEXSZDAREMENHD E
T, [ARFIC. CORFBDIELWEEZEIC
AWK 2T RARERDMERZF
CERUEY, BEYEY VIS S
SRROSEMICDOWTIF. BEFDOHETE
e lERECHNEY —ERICBBWED
BLEE W,
12. KPR EDFWNGFTITIEERE LAV
TLIEEW,
13. KDEEHS1cBSFLBEDBENE%E
EBDEICENMRWTLLIEEL,

@ LA

TE PRI L35 B,
BRERTFXLHA,
BEEANE TR,

EETET AR,

B AEEIR KB T AR = o
BRTHEEAR ™R

7. EMEEBXIL, ZERDBEIFE

BB REIRAE, XL AN EE S 1 R 4.
RAENETEYSmm I EERX,

8. BB AFRREERIENIE, IES
F, PFREEFERENEE (BIFEIN
=)o FmEARENEREN NG, =

JRE S J

9. ERER KI5 ERIM Ei% & 4,

10. ERERTX
IEERERE K E
° HFHESE, 2&F,
=%, TRMNE
T BERAFHE
AT kR &, i5F
——— EREMBIRE,
PLiBE S FHEEFNZ Z BT =5,
1. WRBETENREIENEER, 1%
ZEWMMNEZE, IR E N EEESIESH
BINE, IE S ZIRERITHIER, RS
HWIAME SIS N R ITHEE,

9‘!“:‘“9"!".“

Quick Start Guide

N

B

P

5

CN

2



6 VQ Series

Introduction
The VQ full range products utilize a unique driver technology to radiate a coherent single point source for superior dispersion control when coupled to our single horn.
This advanced design aligns the acoustical centres of the transducers providing a single coherent wavefront emanating from the throat.

The driver uses two concentric annular ring diaphragms. The larger of the two has a 3.5” voice coil and reproduces frequencies from 400 Hz to 7 kHz. Another major
advantage here is that there is no crossover anywhere near the vocal region ensuring the most natural and phase coherent reproduction at this critical area. The 2” HF
diaphragm takes over at 7 kHz to 22 kHz by way of a passive or an active crossover. The external casting features extensive heatsinking ensuring good heat transfer for
high power handling and very low power compression.

Connectors/Cabling

Input Connector Panels

Note : The VQ 60 and VQ 100 are configured as standard for Bi-Amp operation.

Tri-Amp operation is possible using the Barrier strip input terminals.

The VQ DF is configured as standard for single amp operation. Bi-Amp operation is possible using the Barrier strip input terminals.

The VQ MB is configured for single amp operation.

VQ 60/ 100 VQ DF

1] 1]

INK WIRES VQ 60 INK WIRES || VQ 64DF

TAMOY REQUIRED - TAMOY REQUIRED -

FOR PASSIVE FOR PASSIVE
)PERATION )PERATION

=171 =111

VQ MB

Quick Start Guide 7

The VQ 60, VQ 100 and VQ DF are fitted with 4-pole Neutrik Speakon” connectors and barrier strip for fixed installations.
Speakon Connections -
Speakon has the following advantages over EP and XLR type connectors:

All terminations are solderless; this makes life easier at the time of installation or when field servicing is required. Contacts will accept 6 sq. mm wire with an outside
diameter of up to 15 mm and a current rating of 30 Amps. The pins of the 2 Speakon sockets identified input/output on the rear of the input panel are paralleled within
the enclosure to facilitate the connection to additional VQ loudspeakers (except the VQ MB). Tannoy has adopted the standard professional audio wiring convention for
the VQ product.

i VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

k3 A
LF Negative (-ve) N ti ; LF Negative (-ve)
LF Positive (+ve) O connections on pins g !
1+and 1- LF Positive (+ve)
m:z;n:z E(;Slgzllje('i('_\:lee)) MF/HF Positive (+ve) No connections on pins
9 MF/HF Negative (-ve) 2+and 2-
Barrier Strip Connections

The barrier strip accommodates bare wire, tinned leads or spade connectors. The barrier strips are specifically designed for utilization in fixed/permanent
installations. The VQ 60 and VQ 100 are configured for Bi-amp operation; by removing the 4 link wires between the two barrier strips on the termination panel tri-amp
operation is possible. The VQ DF is configured for single amp operation; by removing the 4 link wires between the two barrier strips on the termination panel bi-amp
operation is possible.

VQ 60/100 Bi-amp —  Connect LF amplifier to LF +/- on top row of barrier strip.
Connect MF/HF amplifier to MF/HF +/- on bottom row of barrier strip.

VQ 60/100 Tri-amp —  Connect LF amplifier to LF +/- on top row of barrier strip.
Connect MF amplifier to MF +/- on top row of barrier strip.
Connect HF amplifier to HF +/- on top row of barrier strip.

VQ DF Single Amp—  Connect MF/HF amplifier to MF/HF +/- on bottom row of barrier strip.

VQ DF Bi-amp — Connect MF amplifier to MF +/- on top row of barrier strip.
Connect HF amplifier to HF +/- on top row of barrier strip.
VQMB - Connect amplifier to LF +/- terminals.

Note that looping out to additional loudspeakers will have the effect of reducing the load on the amplifier. Avoid loading amplifiers too low. If the amplifier is rated for
4 ohms minimum, don't give it a 2 ohm load. Even when the amplifier is rated down to 2 ohms remember that in order to keep up with the power the circuit will have
much higher current than before and the wiring will have to handle it. Not only will the wiring losses grow but the damping factor of the system will be degraded. It
might be better to run separate cables from the amp to the speakers or divide the load across two amplifier channels.

(able choice consists mainly of selecting the correct cross sectional area in relation to the cable length and the load impedance. A small cross sectional area would
increase the cables series resistance, inducing power loss, and response variations (damping factor).

Connectors should be wired with a minimum of 2.5 sq. mm (12 gauge) cable. This will be perfectly satisfactory under normal conditions. In the case of very long cable
runs the wire size should exceed this. The following table shows the change in resistance, sensitivity loss and damping factor due to the effects of cable diameter and
length for two nominal impedance loads (4 ohms & 8 ohms). Use this table to determine a suitable cable diameter for the length of run you require. For resultant
damping factor, values greater than 20 are generally considered adequate for high quality sound reinforcement systems.

(EN



8 VQ Series

Damping Factor*

Diameter of Cable .
cable Run w"e Loss (dB) _
40hm 8ohm 40hm 8ohm
Load Load Load Load
5 16 0.2 0.1 40 ve 80

1.5mm 15 0.10 ) v

2.5mm 10 0.04 0.1 0 108 4 216 v

4mm 6 0.01 0 0 255 v 510 v

6mm 3 0.01 0 0 494 v 988 v

10 33 1.5mm 15 0.20 0.4 0.2 19 X 4 v
2.5mm 10 0.07 0.2 0.1 55 v m v

4mm 6 0.03 0.1 0 136 v 272 v

6mm 3 0.01 0 0 282 v 563 v

25 82 1.5mm 15 0.49 1 0.5 8 X 16 v
2.5mm 10 0.18 0.4 0.2 23 v 45 v

4mm 6 0.07 0.1 0.1 57 4 114 v

6mm 3 0.03 0.1 0 123 v 246 v

50 164 1.5mm 15 0.98 19 1 4 X 8 X
2.5mm 10 0.35 0.7 0.4 n X 23 v

4mm 6 0.14 0.3 0.1 29 v 58 v

6mm 3 0.06 0.1 0.1 64 4 127 v

100 328 1.5mm 15 1.95 35 19 2 X 4 X
2.5mm 10 0.70 14 0.7 6 X n X

4mm 6 0.27 0.6 0.3 15 X 29 v

6mm 3 0.12 0.3 0.1 32 4 65 4

*The resulting damping factor figures are derived using a good quality professional amplifier

Polarity Checking

Itis most important to check the polarity of the wiring before the speaker system is flown. A simple method of doing this without a pulse based polarity checker for
LF units is as follows: Connect two wires to the +ve and -ve terminals of a PP3 battery. Apply the wire which is connected to the -+ve terminal of the battery to the
speaker cable leg which you believe to be connected to pin 1+ of the speaker connector and likewise the -ve leg of the battery to pin 1-.

If you have wired it correctly the LF drive unit will move forward, indicating the wiring is correct. All that remains now is to connect the -+ve speaker lead to the +ve
terminal on the amplifier and the -ve lead to the -ve terminal on the amplifier. If however the LF driver moves backwards, the input connections need to be inverted.

There are also commercially available polarity checkers that can be used (IviePAL™, NTI™). If you are commissioning a system using a spectrum analyzer such as
SMAART™, SYSTUNE™, CLIO™, MLSSA™ by checking the impulse response for the first positive swing. Be sure that EQ and crossover filtering has been removed
before checking.

If problems are encountered, inspect the cable wiring in the first instance. If you are using amplifiers from more than one manufacturer, check the polarity at the
amplifiers as well as the loudspeakers.

Amplification & Power Handling

As with all professional loudspeaker systems, the power handling is a function of voice coil thermal capacity. Care should be taken to avoid running the amplifier into
clip (clipping is the end result of overdriving any amplifier). Damage to the loudspeaker will be sustained if the amplifier is driven into clip for any extended period

of time. Headroom of at least 3dB should be allowed. When evaluating an amplifier, it is important to take into account its behavior under low impedance load
conditions. A loudspeaker system is highly reactive and with transient signals it can require more current than the nominal impedance would indicate.

Generally a higher power amplifier running free of distortion will do less damage to the loudspeaker than a lower power amplifier continually clipping. Itis also worth
remembering that a high powered amplifier running at less than 90% of output power generally sounds a lot better than a lower power amplifier running at 100%.
An amplifier with insufficient drive capability will not allow the full performance or the loudspeaker to be realized.

Itis important when using different manufacturers amplifiers in a single installation that the have very closely matched gains, the variation should be less
than +/- 0.5 dB. This precaution is important to the overall system balance when only a single active crossover is being used with multiple cabinets; it is therefore
recommended that the same amplifiers be used throughout.

On the specifications pages you will find the VQ loudspeakers power handling capacity quoted in three categories:-
Average (RMS), Programme, & Peak

We recommend using the programme power listed in the loudspeaker specifications to choose the correct amplifier. To realize the VQ loudspeakers full potential, the
amplifiers rated continuous power should be equal to the loudspeakers programme power at its nominal impedance.

Quick Start Guide 9

VQ Series Recommended Amplifier Power

VQ60/100 Power Requirement
Low Frequency 2000 W into 4 ohms
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 Winto 8 ohms
High Frequency 200 Winto 8 ohms

VQDF
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 W into 8 ohms
High Frequency 200 Winto 8 ohms
VQMB 2000 Winto 4 ohms

Loudspeaker Management Systems

Tannoy VQ series loudspeakers are designed to be used with an electronic signal processor which provides crossover, equalization, delay and dynamic functions.

We strongly recommend Lab Gruppen PLM+ or D Series with factory presets from LAKE load library. LAKE LM26/44 DSP using the same factory presets from LAKE load
library coupled with Lab Gruppen C series or FP+ series using models with appropriate output power for the VQ cabinets selected is also recommended. Lab Gruppen
CAFE software provides a comprehensive solution for selecting the best possible combination of PLM+ or D series products to all Tannoy loudspeaker products,
allowing users to have precise technical data of power delivery, power draw, thermal output, cable infrastructure requirements and BOM calculator. For more
information about LAKE and Lab Gruppen products, please go to www.lakeprocessing.com or www.labgruppen.com.

Rigging & Suspension

The VQ hardware covered in this guide has been designed to offer quick, simple, and secure solutions for mounting specific VQ loudspeakers. This hardware has been
designed and manufactured with a high safety load factor for its specific role. To ensure the safest possible use of the hardware covered in this guide, it must be
assembled in strict accordance with the instructions specified. The information in these manuals relating to the assembly and the safe use of these accessories must be
understood and followed.

The installation of VQ loudspeakers using the dedicated hardware should only ever be carried out by fully qualified installers, in accordance with all the required safety
codes and standards that are applied at the place of installation.

WARNING: As the legal requirements for flying change from country to country, please consult your local safety standards office before installing any product. We also
recommend that you thoroughly check any laws and bylaws prior to commencing work.

VQ hardware has been designed for use with VQ series loudspeakers only, and is not designed or intended for use with any other Tannoy Commercial products, or any
other devices from other manufacturers. Using Tannoy Professional hardware for any purpose other than that indicated in this quide is considered to be improper use.
Such use can be very dangerous as overloading, modifying; assembling in anyway other than that clearly stated in the manual, or damaging the VQ hardware will
compromise safety. The component parts of any VQ hardware device must only be assembled using the accessory kits supplied and in strict compliance with the user
manual. The use of other accessories or non-approved methods of assembly may result in an unsafe hardware system by reducing the load safety factor. Welding, or
any other method of permanently fixing hardware components together or to the integral fixing points in the cabinet should never be used.

Whenever a VQ loudspeaker is fixed to a surface using a VQ hardware device, the installer must ensure that the surface is capable of safely and securely supporting the
load. The hardware employed must be safely, securely, and in accordance with the manual, attached both to the loudspeaker and also to the surface in question, using
only the fixing holes provided as standard and covered in the manual. Secure fixings to the building structure are vital. Seek help from architects, structural engineers
or other specialists if in any doubt.

Allloudspeakers flown must, be provided with an independent, correctly rated and securely attached secondary safety — in addition to the principle hardware device.
This secondary safety must prevent the loudspeaker from dropping more than 150 mm (6") should the principle hardware device fail.

WARNING: Do not under any circumstances use a loudspeaker's handles to support the weight of the loudspeaker except for their intended use: hand carrying.
The handles are not rated to support the load of the loudspeaker for temporary or permanent installation.

The VQ range of loudspeakers is intended to be suspended or ground-stacked. This section details how to physically configure VQ flyware and arrays. The following are
the recommended methods for most situations. Specific situations may require other methods. It is the user's responsibility to determine the viability and safety for
alternate methods and implement them accordingly.

(EN



10 VQ Series

Flying A Single VQ Cabinet Using Eyebolts

The simplest method of flying a single VQ cabinet is with a pair of M10 shoulder eyebolts on the top, using a third eyebolt on the rear of the cabinet to tilt the cabinet. For safe, flexible and simple flying, the VQ Flying bracket is designed to suspend the VQ cabinet from a single pivot point. This allows precise adjustment of aiming

VQ Flying Bracket (Single Point Hang Flying Bracket)

Quick Start Guide

1

angles with the cabinet in situ. The flown VQ loudspeaker must be provided with an independent, correctly rated and securely attached secondary safety — in addition
to the principle hardware device. This secondary safety must prevent the loudspeaker from dropping more than 150mm (6”) should the principle hardware device fail.

eyebolts. Then replace these counter sunk M10 screws with the VEB M10 eyebolts. The M10 insert on the rear of the cabinet also
accepts a VEB M10 eyebolt and should be used for tilting the loudspeaker to the desired angle.

IMPORTANT: It is imperative for safety reasons that a minimum of two eyebolts linked to two independently fixed straps are used

VEB FORGED EYEBOLT Note: All fixings should be thread-locked and torqued to 25 Nm.
VQ loudspeakers can be flown with high quality VEB M10 eyebolts with collar to BS4278:1984. The loudspeakers are equipped

with internal steel braces, which also double as the flying points, and accept VEB M10 eyebolts.

Toinstall the VEB M10 eyebolts remove the original M10 counter sunk screws from the locations you wish to install the VEB M10

A per cabinet. Never suspend one enclosure from the other using eyebolts.

Never attempt to use formed eyebolts i.e. formed from a steel rod and bent into an eye.

Flying a single VQ cabinet in a landscape orientation using EBS forged Eyebolts

12 mm threaded rod. (Threaded rod supplied by user).

Item No.

Cimte oy iy

1 M10 Plain Washer 3
M10 Spring Washer 3
Screw M10 x 50mm 3

S lw N

Bracket Flying - VQ

Description

Rod End —VQ _" UNCor 12mm

1

Quantity
3

Screw M12x45 Cap Head

3

M12 Nyloc Nut

3

The rod end is used in conjunction with the VQ flying bracket. Two types of rod end are available. One is designed to accept ¥2" UNC threaded rod, and the other accepts

(EN



12 VQ Series

Remove the front two countersunk M10 screws located on the top of the cabinet and the top M10 countersunk screw on the top rear of the cabinet. Assemble the
flying bracket as shown. (See fig. 1)

IMPORTANT: Only the screws, fasteners, shake proof and plain washers supplied should be used to assemble the VQ flying bracket. Note: All fixings should be
thread-locked and torqued to 25 Nm.

When fixed in position the rod end can be moved along any of the five serrated edges within each slot to fine tune the loudspeakers tilt angle. (See fig. 2) Threaded
rod used should be no more than 300 mm (12") in length. The user is responsible for supplying the correct threaded rod. The minimum specifications for the
threaded rod are:-

USA - Grade B7 (1438 Ibs, 650 kgs for %2" rod based on a safety factor of 10:1)
Metric - Grade 10.9 (1459 Ibs, 660 kgs for 12 mm rod based on a safety factor 10:1)

Use the appropriate nuts to lock the rod end to the threaded rod (supplied by user). Use a Nyloc nut at the top of the threaded rod to secure the pole clamp
(supplied by user).

The threaded rod can be attached to a suitably rated Uni-Strut accessory.
Always use Nyloc nuts to secure the threaded rod to the pole clamp or Uni-Strut.

The rigging of a flown sound system may be dangerous unless undertaken by qualified personnel with the required experience and certification to perform the
necessary tasks.

Fixing of hanging points in a roof should always be carried out by a professional rigger and in accordance with the local rules of the venue.

A maximum of VQ 60 + VQ MB + VQ DF (350 Ibs, 160 kg) can be flown from a single threaded rod. This combination carries a safety factor of 8:1. (See fig. 3)

(fig. 1)

Quick Start Guide

VQ Link Plate

The VQ link plate is used to join a VQ DF or VQ MB to a VQ 60 or VQ 100 cabinet. Three link plates are used to connect each cabinet. The Link plates are supplied as
standard with each VQ DF and VQ MB.

Remove the M10 countersunk screws as shown in the diagram opposite. Use the same screws to fix the link plate in place. The link plate will sit flush in the cabinet
indentations. Two longer M10 bolts are supplied with the link plates. These bolts should be used to fix the rear link plate in position.

Note: All fixings should be thread-locked and torqued to 25 Nm

LINK PLATE

Using The VQ MB For Additional Pattern Control

The VQ link plate is used to join a VQ DF or VQ MB to a VQ 60 or VQ 100 cabinet. Three link plates are used to connect each cabinet. The Link plates are supplied as
standard with each VQ DF and VQ MB.

Remove the M10 countersunk screws as shown in the diagram opposite. Use the same screws to fix the link plate in place. The link plate will sit flush in the cabinet
indentations. Two longer M10 bolts are supplied with the link plates. These bolts should be used to fix the rear link plate in position.

13

(EN



14 VQ Series

Arraying VQ 60

Assingle VQ 100 can produce more power and clarity over its 100 degree beamwidth area than many arrayed solutions using multiple cabinets, a great advantage when

considering your building aesthetics. A VQ 100 is not designed to be arrayed.

Two VQ 60s can be arrayed to produce a well defined horizontal coverage angle of 120 degrees.

The VQ array plate is designed to optimally array two VQ 60 cabinets. To fit the plate, set the boxes on the ground with the rear edge of the cabinets touching. Remove
the two M10 countersunk bolts and replace with either the M10 screw or the supplied eyebolts. Locate the four M10 eyebolts from the fixings kit supplied and insert
these through the array plate into the rigging points in the cabinet. These will be used to pick up the array.Repeat the same procedure at the bottom of the cabinets,

use the M10 screw. If flying in a landscape orientation the M10 screw can be used on both array plates.

Note: All fixings should be thread-locked and torqued to 25 Nm

Two independent pick-up points are recommended for suspending the array. The main pickup points are the two rear eyebolts. The two front eyebolts may be

used as safety points.

Item No. ‘ Description ‘ Quantity
1 M10 Plain Washer 8
2 M10 Spring Washer 8
3 Screw M10x 50 mm 8
4 Eyebolt M10 4
5 Array Bracket 2

Introduccion

Los productos de gama completa VQ utilizan una tecnologia de controlador tnica para irradiar una fuente de un solo punto coherente para un control de dispersién
superior cuando se acopla a nuestra bocina dnica. Este disefio avanzado alinea los centros actsticos de los transductores proporcionando un tnico frente de onda

coherente que emana de la garganta.

El conductor utiliza dos diafragmas de anillo anular concéntricos. El mds grande de los dos tiene una bobina mévil de 3,5” y reproduce frecuencias de 400 Hz a 7 kHz.

Quick Start Guide

15

Otra ventaja importante aqui es que no hay ninguin cruce cerca de la regién vocal, lo que garantiza la reproduccién més natural y coherente de fase en esta drea critica.

El diafragma HF de 2” toma el control de 7 kHz a 22 kHz mediante un crossover pasivo o activo. La fundicién externa cuenta con un amplio disipador de calor que

garantiza una buena transferencia de calor para un manejo de alta potencia y una compresién de muy baja potencia.

Conectores/cableado

Paneles de conectores de entrada

Nota: VQ 60 y VQ 100 estan configurados como estdndar para operacién Bi-Amp.

La operacion Tri-Amp es posible usando los terminales de entrada de la regleta de barrera.

EI'VQ DF estd configurado como estandar para operacion de un solo amplificador. La operacién Bi-Amp es posible usando los terminales de entrada de la tira de barrera.

EI'VQ MB estd configurado para funcionar con un solo amplificador.

VQ 60/ 100

14

INK WIRES

TANNOY| cocore,

)PERATION

=171

VQ MB

VQ DF

1]

INK WIRES
REQUIRED
TANNOY FOR PASSIVE

)PERATION

=171

VQ 64DF

(EN
(Es



16 VQ Series

Los VQ 60, VQ 100y VQ DF estén equipados con conectores Neutrik Speakon” de 4 polos y regleta de barrera para instalaciones fijas.
Conexiones Speakon -
Speakon tiene las siguientes ventajas sobre los conectores de tipo EP y XLR:

Todas las terminaciones no tienen soldadura; esto hace la vida més facil en el momento de la instalacién o cuando se requiere servicio de campo. Los contactos
aceptardn cables de 6 mm cuadrados con un didmetro exterior de hasta 15> mmy una corriente nominal de 30 amperios. Los pines de los 2 enchufes Speakon
identificados como entrada/salida en la parte posterior del panel de entrada estén en paralelo dentro del gabinete para facilitar la conexién a altavoces VQ adicionales
(excepto el VQ MB). Tannoy ha adoptado la convencidn de cableado de audio profesional estandar para el producto VQ.

* v VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)
MF/HF Negative (-ve)

MF/HF Positive (+ve) No connections on pins
MF/HF Negative (-ve) 2+and 2-

Conexiones de bandas de barrera

La tira de barrera admite cables desnudos, cables estafiados o conectores de pala. Las tiras de barrera estan disefiadas especificamente para su uso en instalaciones
fijas/permanentes. EI VQ 60 y VQ 100 estan configurados para operacion Bi-amp; Al quitar los 4 cables de enlace entre las dos tiras de barrera en el panel de
terminacion, es posible la operacion de tres amperios. EI VQ DF estd configurado para funcionar con un solo amplificador; Al quitar los 4 cables de enlace entre las dos
tiras de barrera en el panel de terminacién, es posible la operacion de biamplificacién.

VQ60/100 Bi-amp — Conecte el amplificador LF a LF +/- en la fila superior de la tira de barrera.

Conecte el amplificador MF/HF a MF/HF +/- en la fila inferior de la tira de barrera.

VQ 60/100 Tri-amp — Conecte el amplificador LF a LF +/- en la fila superior de la tira de barrera.
Conecte el amplificador MF a MF +/- en la fila superior de la tira de barrera.

Conecte el amplificador de HF a HF +/- en la fila superior de la tira de barrera.
Amplificador tinico VQ DF — Conecte el amplificador MF/HF a MF/HF +/- en la fila inferior de la tira de barrera.

VQ DF Biamplificador — Conecte el amplificador MF a MF +/- en la fila superior de la tira de barrera.

Conecte el amplificador de HF a HF +/- en la fila superior de la tira de barrera.
VQMB - Conecte el amplificador a los terminales LF +/-.

Tenga en cuenta que la conexion en bucle a altavoces adicionales tendrd el efecto de reducir la carga en el amplificador. Evite cargar amplificadores demasiado
bajos. Si el amplificador esta clasificado para un minimo de 4 ohmios, no le dé una carga de 2 ohmios. Incluso cuando el amplificador tiene una potencia nominal de
2 ohmios, recuerde que para mantenerse al dia con la potencia, el circuito tendrd una corriente mucho mds alta que antes y el cableado tendrd que soportarlo. No
solo aumentaran las pérdidas de cableado, sino que también se degradard el factor de amortiguacién del sistema. Puede que sea mejor instalar cables separados del
amplificador a los altavoces o dividir la carga en dos canales del amplificador.

La eleccidn del cable consiste principalmente en seleccionar el drea de seccién transversal correcta en relacion con la longitud del cable y laimpedancia de carga.
Un drea de seccion transversal pequefia aumentaria la resistencia en serie de los cables, induciendo pérdida de potencia y variaciones de respuesta (factor de
amortiguacion).

Los conectores deben cablearse con un cable minimo de 2,5 mm2 (calibre 12). Esto sera perfectamente satisfactorio en condiciones normales. En el caso de tramos de
cable muy largos, el tamaio del cable debe exceder este. La siguiente tabla muestra el cambio en la resistencia, la pérdida de sensibilidad y el factor de amortiguacion
debido a los efectos del didmetro y la longitud del cable para dos cargas de impedancia nominal (4 ohmios y 8 ohmios). Utilice esta tabla para determinar un didmetro
de cable adecuado para la longitud del tramo que necesita. Para el factor de amortiguacion resultante, los valores superiores a 20 generalmente se consideran
adecuados para sistemas de refuerzo de sonido de alta calidad.

Quick Start Guide 17

Factor de amortiguamiento*

Ejecucion de cable MG S wbe Pérdida de cable (dB)
conductor Resistencia
4 ohmios 8 ohmios 4 ohmios 8 ohmios
(€1(T] (€1(T] Carga Carga
5 0,2 0,1 40 v 80

dieciséis | 1,5mm 15 0,10 , v
2,5mm 10 0,04 0,1 0 108 v 216 v
4mm 6 0,01 0 0 255 v 510 v
6 mm 3 0,01 0 0 494 v 988 v
10 33 1,5mm 15 0,20 0.4 0,2 19 X 4 v
2,5mm 10 0,07 0,2 0,1 55 v m v
4mm 6 0,03 0,1 0 136 v 272 v
6 mm 3 0,01 0 0 282 v 563 v
25 82 1,5mm 15 0,49 1 0,5 8 X dieciséis v
2,5mm 10 0,18 0.4 0,2 23 v 45 v
4mm 6 0,07 0,1 0,1 57 v 114 v
6 mm 3 0,03 0,1 0 123 v 246 v
50 164 1,5mm 15 0,98 19 1 4 X 8 X
2,5mm 10 0,35 0,7 04 1 X 23 v
4mm 6 0,14 03 0,1 29 v 58 v
6mm 3 0,06 0,1 0,1 64 v 127 v
100 328 1,5mm 15 1,95 3,5 19 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X " X
4mm 6 0,27 0,6 03 15 X 29 v
6mm 3 0,12 0,3 0,1 32 v sesentay v
cinco

* Las cifras del factor de amortiguacion resultantes se obtienen utilizando un amplificador profesional de buena calidad

Comprobacion de polaridad

Es muy importante comprobar la polaridad del cableado antes de que el sistema de altavoces se vuele. Un método simple para hacer esto sin un verificador de
polaridad basado en pulsos para unidades LF es el siguiente: Conecte dos cables a los terminales + ve y -ve de una bateria PP3. Aplique el cable que esté conectado al
terminal + ve de la bateria a la pata del cable del altavoz que cree que estd conectado al pin 1+ del conector del altavoz y también la pata -ve de la bateria al pin 1-.

Silo ha cableado correctamente, la unidad de transmision LF avanzard, lo que indica que el cableado es correcto. Todo lo que queda ahora es conectar el cable del
altavoz + ve al terminal + ve del amplificador y el cable -ve al terminal -ve del amplificador. Sin embargo, si el controlador LF se mueve hacia atrds, las conexiones de
entrada deben invertirse.

También hay comprobadores de polaridad disponibles comercialmente que se pueden utilizar (IviePAL™, NTI™). Si esta poniendo en servicio un sistema utilizando
un analizador de espectro como SMAART™, SYSTUNE™, CLIO™, MLSSA™, verifique la respuesta de impulso para el primer cambio positivo. Asegdrese de que se haya
eliminado el EQ y el filtro de cruce antes de realizar la comprobacién.

Si se encuentran problemas, inspeccione el cableado del cable en primera instancia. Si esta utilizando amplificadores de mds de un fabricante, compruebe la polaridad
en los amplificadores y en los altavoces.

Amplificacion y manejo de potencia

Como ocurre con todos los sistemas de altavoces profesionales, el manejo de potencia es una funcién de la capacidad térmica de la bobina mévil. Se debe tener cuidado
para evitar ejecutar el amplificador en un clip (el recorte es el resultado final de saturar cualquier amplificador). El dafio al altavoz se mantendra si el amplificador se
coloca en el clip durante un periodo prolongado de tiempo. Se debe permitir un espacio para la cabeza de al menos 3dB. Al evaluar un amplificador, es importante
tener en cuenta su comportamiento en condiciones de carga de baja impedancia. Un sistema de altavoces es altamente reactivo y con sefiales transitorias puede
requerir mds corriente de la que indicaria la impedancia nominal.

Por lo general, un amplificador de potencia superior que funcione sin distorsion dafiard menos el altavoz que un amplificador de potencia inferior que se recorta
continuamente. También vale la pena recordar que un amplificador de alta potencia que funciona a menos del 90% de la potencia de salida generalmente suena
mucho mejor que un amplificador de menor potencia que funciona al 100%. Un amplificador con capacidad de excitacion insuficiente no permitira que se obtenga el
rendimiento completo o el altavoz.

Cuando se utilizan amplificadores de diferentes fabricantes en una sola instalacion, es importante que tengan ganancias muy parecidas; la variacién debe ser inferior
a+/-0,5 dB. Esta precaucion es importante para el equilibrio general del sistema cuando solo se utiliza un tnico crossover activo con varios gabinetes; por lo tanto, se
recomienda utilizar los mismos amplificadores en todas partes.

En las paginas de especificaciones, encontrard la capacidad de manejo de potencia de los altavoces VQ en tres categorias:
Promedio (RMS), programa y pico

Recomendamos utilizar la potencia del programa que se indica en las especificaciones de los altavoces para elegir el amplificador correcto. Para realizar el potencial
completo de los altavoces VQ, la potencia nominal continua de los amplificadores debe ser igual a la potencia del programa de los altavoces en su impedancia nominal.

(Es



18 VQ Series
Potencia de amplificador recomendada de la serie VQ
VQ60/100 Requisitos de energia
Baja frecuencia 2000 W en 4 ohmios
MF/HF pasivo 400 W en 8 ohmios
Frecuencia media 400 W en 8 ohmios
Alta frecuencia 200 W en 8 ohmios
VQDF

MF/HF pasivo 400 W en 8 ohmios
Frecuencia media 400 W en 8 ohmios
Alta frecuencia 200 W en 8 ohmios
VQMB 2000 W en 4 ohmios

Sistemas de gestion de altavoces

Los altavoces de la serie Tannoy VQ estan disefiados para ser utilizados con un procesador de sefial electrdnico que proporciona funciones de cruce, ecualizacion,
retardo y dindmicas. Recomendamos encarecidamente Lab Gruppen PLM + o D Series con ajustes preestablecidos de fébrica de la biblioteca de carga LAKE. También
se recomienda el DSP LAKE LM26/44 utilizando los mismos ajustes preestablecidos de fabrica de la biblioteca de carga LAKE junto con la serie Lab Gruppen Co la serie
FP + utilizando modelos con la potencia de salida adecuada para los gabinetes VQ seleccionados. El software Lab Gruppen CAFE proporciona una solucin integral
para seleccionar la mejor combinacion posible de productos de la serie PLM + o D para todos los productos de altavoces Tannoy, lo que permite a los usuarios tener
datos técnicos precisos de suministro de energia, consumo de energia, salida térmica, requisitos de infraestructura de cables y calculadora de lista de materiales. Para
obtener mds informacion sobre los productos LAKE y Lab Gruppen, visite www.

Aparejo y suspension

El hardware VQ cubierto en esta guia ha sido disefiado para ofrecer soluciones rapidas, simples y seguras para el montaje de altavoces VQ especificos. Este hardware ha
sido disefiado y fabricado con un factor de carga de sequridad alto para su funcion especifica. Para garantizar el uso mas sequro posible del hardware cubierto en esta
guia, debe ensamblarse estrictamente de acuerdo con las instrucciones especificadas. La informacion contenida en estos manuales relacionada con el montaje y el uso
seguro de estos accesorios debe entenderse y sequirse.

Lainstalacion de los altavoces VQ utilizando el hardware dedicado solo debe ser realizada por instaladores totalmente calificados, de acuerdo con todos los cddigos y
normas de sequridad requeridos que se aplican en el lugar de instalacion.

ADVERTENCIA: Dado que los requisitos legales para volar cambian de un pais a otro, consulte con la oficina de normas de sequridad local antes de instalar cualquier
producto. También le recomendamos que compruebe minuciosamente las leyes y los estatutos antes de comenzar a trabajar.

El hardware VQ ha sido disefiado para su uso tinicamente con altavoces de la serie VQ, y no esté disefiado ni previsto para su uso con ning(n otro producto comercial
de Tannoy ni con ningdn otro dispositivo de otros fabricantes. El uso de hardware Tannoy Professional para cualquier propdsito distinto al indicado en esta guia se
considera un uso inadecuado. Tal uso puede ser muy peligroso como sobrecargar, modificar; El montaje de cualquier otra forma que no sea la claramente establecida
en el manual o el dafio del hardware VQ comprometerd la sequridad. Los componentes de cualquier dispositivo de hardware VQ solo deben ensamblarse utilizando los
kits de accesorios suministrados y en estricto cumplimiento del manual del usuario. El uso de otros accesorios o métodos de montaje no aprobados puede resultar en
un sistema de hardware inseguro al reducir el factor de sequridad de la carga. Soldadura,

Siempre que un altavoz VQ se fije a una superficie utilizando un dispositivo de hardware VQ, el instalador debe asegurarse de que la superficie sea capaz de soportar
a carga de forma sequra. Los herrajes empleados deben estar sujetos de forma sequra, sequra y de acuerdo con el manual, tanto al altavoz como a la superficie en
cuestion, utilizando inicamente los orificios de fijacion proporcionados de serie y cubiertos en el manual. Las fijaciones seguras a la estructura del edificio son vitales.
Busque la ayuda de arquitectos, ingenieros estructurales u otros especialistas si tiene alguna duda.

Todos los altavoces volados deben estar provistos de un dispositivo de sequridad secundario independiente, clasificado correctamente y conectado de forma
sequra, ademas del dispositivo de hardware principal. Esta sequridad secundaria debe evitar que el altavoz caiga mds de 150 mm (6 “) si falla el dispositivo de
hardware principal.

ADVERTENCIA: No utilice bajo ninguna circunstancia las asas de un altavoz para soportar el peso del altavoz, excepto para su uso previsto: transporte manual. Las asas
no estan clasificadas para soportar la carga del altavoz para una instalacién temporal o permanente.

La gama de altavoces VQ estd disefiada para ser suspendida o apilada en el suelo. Esta seccién detalla como configurar fisicamente los arreglos y el flyware de VQ. Los
siguientes son los métodos recomendados para la mayoria de situaciones. Las situaciones especificas pueden requerir otros métodos. Es responsabilidad del usuario
determinar la viabilidad y sequridad de métodos alternativos e implementarlos en consecuencia.

Quick Start Guide 19

Volar un solo gabinete VQ con cancamos

El método mds simple de volar un solo gabinete VQ es con un par de cdncamos de hombro M10 en la parte superior, usando un tercer cdncamo en la parte posterior del
gabinete para inclinar el gabinete.

N TORNILLO FORJADO VEB @
Los altavoces VQ se pueden colgar con cdncamos VEB M10 de alta calidad con collar segtin BS4278: 1984. Los altavoces estan
equipados con tirantes de acero internos, que también funcionan como puntos de vuelo, y aceptan cdncamos VEB M10.
17
% % Para instalar los cdncamos VEB M10, retire los tornillos avellanados M10 originales de las ubicaciones donde desea instalar los
T N—

cancamos VEB M10. Luego reemplace estos tornillos M10 avellanados con los cancamos VEB M10. El inserto M10 en la parte
posterior del gabinete también acepta un cdncamo VEB M10 y debe usarse para inclinar el altavoz al angulo deseado.

IMPORTANTE: Es imperativo por razones de seguridad que se use un minimo de dos cincamos unidos a dos correas fijadas
independientemente por gabinete. Nunca suspenda un gabinete del otro usando pernos de argolla.

Nunca intente utilizar cdncamos formados, es decir, formados a partir de una varilla de acero y doblados en un ojo.

Volar un solo gabinete VQ en orientacién horizontal con cdncamos forjados de EBS




20 VQ Series

Soporte de vuelo VQ (soporte de vuelo colgante de un solo punto)

Para un vuelo seguro, flexible y simple, el soporte de vuelo VQ esté disefiado para suspender el gabinete VQ de un solo punto de pivote. Esto permite un ajuste preciso
de los dngulos de orientacion con el gabinete in situ. El altavoz VQ colgado debe estar provisto de un dispositivo de sequridad secundario independiente, clasificado
correctamente y firmemente conectado, ademds del dispositivo de hardware principal. Esta sequridad secundaria debe evitar que el altavoz caiga mds de 150 mm (6")
sifalla el dispositivo de hardware principal.

Nota: Todas las fijaciones deben bloquearse con rosca y apretarse a un par de 25 Nm.

1 Arandela plana M10 3
2 Arandela de resorte M10 3
3 Tornillo M10 x 50 mm 3
4 Soporte volador - VQ 1

El extremo de la varilla se utiliza junto con el soporte volante VQ. Hay dos tipos de extremos de varilla disponibles. Uno esta disefiado para aceptar varilla roscada UNC
de 2"y el otro acepta varilla roscada de 12 mm. (Varilla roscada suministrada por el usuario).

Articulo No. Descripcion Cantidad
1 Extremo de varilla-VQ _“UNCo 12 mm 3
2 Tornillo M12x45 Cabeza de tapa 3
3 Tuerca Nyloc M12 3

Quick Start Guide 21

Quite los dos tornillos avellanados M10 frontales ubicados en la parte superior del gabinete y el tornillo avellanado M10 superior en la parte superior trasera del
gabinete. Monte el soporte volante como se muestra. (Ver fig.1)

IMPORTANTE: Solo los tornillos, sujetadores, arandelas a prueba de sacudidas y arandelas planas suministrados deben usarse para ensamblar el soporte volante VQ.
Nota: Todas las fijaciones deben bloquearse con rosca y apretarse a un par de 25 Nm.

Cuando se fija en su posicién, el extremo de la varilla se puede mover a lo largo de cualquiera de los cinco bordes dentados dentro de cada ranura para ajustar el angulo
deinclinacién de los altavoces. (Ver fig. 2) La varilla roscada utilizada no debe tener mds de 300 mm (12") de longitud. El usuario es responsable de suministrar la
varilla roscada correcta. Las especificaciones minimas para la varilla roscada son: -

EE. UU. - Grado B7 (1438 Ibs, 650 kgs para varilla de %2 “segtin un factor de sequridad de 10: 1)
Métrico - Grado 10.9 (1459 Ibs, 660 kgs para varilla de 172 mm basado en un factor de sequridad de 10: 1)

Utilice las tuercas adecuadas para bloquear el extremo de la varilla a la varilla roscada (suministrada por el usuario). Use una tuerca Nyloc en la parte superior de la
varilla roscada para asegurar la abrazadera del poste (suministrada por el usuario).

La varilla roscada se puede unir a un accesorio Uni-Strut con la clasificacion adecuada.
Utilice siempre tuercas Nyloc para asequrar la varilla roscada a la abrazadera del poste o Uni-Strut.

El aparejo de un sistema de sonido volado puede ser peligroso a menos que sea realizado por personal calificado con la experiencia y certificacion necesarias para
realizar las tareas necesarias.

La fijacién de puntos de suspensién en un techo siempre debe ser realizada por un aparejador profesional y de acuerdo con las reglas locales del lugar.

Se puede volar un maximo de VQ 60 + VQ MB + VQ DF (350 Ibs, 160 kg) desde una sola varilla roscada. Esta combinacion tiene un factor de sequridad de 8: 1. (Ver fig.3)

(fig. 1)

A
Crd
LA o
e
.l.n‘.‘llln‘.""n‘.‘,'ln‘l‘.“
A TR
AR

(Es



22 VQ Series

Placa de enlace VQ
La placa de enlace VQ se utiliza para unir un VQ DF 0 VQ MB a un gabinete VQ 60 0 VQ 100. Se utilizan tres placas de enlace para conectar cada armario. Las placas Link
se suministran de serie con cada VQ DF y VQ MB.

Quite los tornillos avellanados M10 como se muestra en el diagrama al lado. Utilice los mismos tornillos para fijar la placa de enlace en su lugar. La placa de enlace se
asentard al ras en las muescas del gabinete. Se suministran dos pernos M10 mds largos con las placas de unidn. Estos pernos deben usarse para fijar la placa del brazo
trasero en su posicion.

Nota: Todas las fijaciones deben estar bloqueadas con rosca y apretadas a 25 Nm.

LINK PLATE

Uso del VQ MB para un control de patrones adicional

La placa de enlace VQ se utiliza para unir un VQ DF 0 VQ MB a un gabinete VQ 60 0 VQ 100. Se utilizan tres placas de enlace para conectar cada armario. Las placas Link
se suministran de serie con cada VQ DF y VQ MB.

Quite los tornillos avellanados M10 como se muestra en el diagrama al lado. Utilice los mismos tornillos para fijar la placa de enlace en su lugar. La placa de enlace se
asentard al ras en las muescas del gabinete. Se suministran dos pernos M10 mds largos con las placas de unidn. Estos pernos deben usarse para fijar la placa del brazo
trasero en su posicion.

Quick Start Guide 23

Arreglo de VQ 60

Un solo VQ 100 puede producir ms potencia y claridad en su drea de ancho de haz de 100 grados que muchas soluciones en matriz que utilizan multiples gabinetes,
una gran ventaja al considerar la estética de su edificio. Un VQ 100 no estd disefiado para arreglos.

Se pueden colocar dos VQ 60 para producir un angulo de cobertura horizontal bien definido de 120 grados.

La placa de matriz VQ esté disefiada para organizar de manera dptima dos gabinetes VQ 60. Para colocar la placa, coloque las cajas en el suelo con el borde trasero de
los armarios tocando. Retire los dos pernos avellanados M10 y reempldcelos con el tornillo M10 o los pernos de argolla suministrados. Localice los cuatro cdncamos
M10 del kit de fijaciones suministrado e insértelos a través de la placa de matriz en los puntos de sujecion del gabinete. Estos se usaran para recoger la matriz.

Repita el mismo procedimiento en la parte inferior de los gabinetes, use el tornillo M10. Si vuela en orientacion horizontal, el tornillo M10 se puede utilizar en ambas
placas de matriz.

Nota: Todas las fijaciones deben estar bloqueadas con rosca y apretadas a 25 Nm.

Se recomiendan dos puntos de recogida independientes para suspender la matriz. Los principales puntos de recogida son los dos cdncamos traseros. Los dos cdncamos
delanteros se pueden utilizar como puntos de sequridad.

Articulo No. Descripcion Cantidad
1 Arandela plana M10 8
2 Arandela de resorte M10 8
3 Tornillo M10 x 50 mm 8
4 (Cdncamo M10 4
5 Soporte de matriz 2

(Es



24 VQ Series

Introduction

Les produits de la gamme compléte VQ utilisent une technologie de haut-parleur unique pour rayonner une source de point unique cohérente pour un controle
supérieur de la dispersion lorsqu'ils sont couplés a notre cornet unique. Cette conception avancée aligne les centres acoustiques des transducteurs en fournissant un
seul front d’onde cohérent émanant de la gorge.

Le conducteur utilise deux diaphragmes annulaires concentriques. Le plus grand des deux a une bobine acoustique de 3,5 pouces et reproduit les fréquences de 400 Hz
a7 kHz. Un autre avantage majeur ici est qu'il n'y a pas de croisement a proximité de la région vocale assurant la reproduction la plus naturelle et la plus cohérente

en phase dans cette zone critique. Le diaphragme HF 2 “prend le relais de 7 kHz a 22 kHz via un filtre passif ou actif. Le moulage externe présente une dissipation
thermique étendue assurant un bon transfert de chaleur pour une gestion de puissance élevée et une compression de puissance trés faible.

Connecteurs/Cablage

Panneaux de connecteurs d’entrée
Remarque: Les VQ 60 et VQ 100 sont configurés en standard pour un fonctionnement bi-amplificateur.
Le fonctionnement Tri-Amp est possible en utilisant les bornes d'entrée de la barrette barriére.

Le VQ DF est configuré en standard pour un fonctionnement a un seul ampli. Le fonctionnement bi-amp est possible a I'aide des bornes d’entrée de la
barrette de protection.

Le VQ MB est configuré pour un fonctionnement a un seul ampli.

VQ60/100 VQ DF

1]

INK WIRES VQ 60

TANNOY - .ccne | S

)PERATION

=171

VQ MB

1]

INK WIRES | VQ 64DF
RequiReD | (D
JANNOY - o oassive

)PERATION

=171

Quick Start Guide 25

Les VQ 60, VQ 100 et VQ DF sont équipés de connecteurs Neutrik Speakon a 4 pdles et d'une bande de barriére pour les installations fixes.
Connexions Speakon -
Speakon présente les avantages suivants par rapport aux connecteurs de type EP et XLR:

Toutes les terminaisons sont sans soudure; cela facilite la vie au moment de I'installation ou lorsqu’un entretien sur site est nécessaire. Les contacts acceptent un fil de
6 mm2 avec un diamétre extérieur jusqu’a 15 mm et un courant nominal de 30 ampéres. Les broches des 2 prises Speakon identifiées en entrée/sortie a I'arriére du
panneau d’entrée sont mises en paralléle dans le boitier pour faciliter la connexion a des haut-parleurs VQ supplémentaires (a 'exception du VQ MB). Tannoy a adopté
la convention de cablage audio professionnelle standard pour le produit VQ.

i VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)
MF/HF Negative (-ve)

MF/HF Positive (+ve) No connections on pins
MF/HF Negative (-ve) 2+and 2-

Connexions de la bande de barriére

La bande de barriére accueille des fils nus, des fils étamés ou des connecteurs a fourche. Les bandes de barriére sont spécifiquement congues pour une utilisation dans
des installations fixes/permanentes. Les VQ 60 et VQ 100 sont configurés pour un fonctionnement bi-ampli; en retirant les 4 fils de liaison entre les deux bandes de
barriére sur le panneau de terminaison, un fonctionnement tri-ampéres est possible. Le VQ DF est configuré pour un fonctionnement a un seul ampli; en retirant les 4
fils de liaison entre les deux bandes de barriére sur le panneau de terminaison, un fonctionnement bi-ampére est possible.

VQ 60/100 Bi-ampli - Connectez I'amplificateur LF a LF +/- sur la rangée supérieure de la bande de barriére.

Connectez I'amplificateur MF/HF a MF/HF +/- sur la rangée inférieure de la bande de barriére.

VQ60/100 Tri-amp - Connectez I'amplificateur LF a LF +/- sur la rangée supérieure de la bande de barriere.
Connectez I'amplificateur MF & MF +/- sur la rangée supérieure de la bande de barriére.

Connectez I'amplificateur HF a HF +/- sur la rangée supérieure de la bande de barriére.
Amplificateur unique VQDF - Connectez I'amplificateur MF/HF a MF/HF +/- sur la rangée inférieure de la bande de barriére.

VQ DF Bi-ampli - Connectez I'amplificateur MF & MF +/- sur la rangée supérieure de la bande de barriére.

Connectez I'amplificateur HF a HF +/- sur la rangée supérieure de la bande de barriére.
VQMB - Connectez I'amplificateur aux bornes LF +/-.

Notez que le bouclage vers des haut-parleurs supplémentaires aura pour effet de réduire la charge sur I'amplificateur. Evitez de charger les amplificateurs trop bas.

Si I'amplificateur est évalué pour 4 ohms minimum, ne lui donnez pas une charge de 2 ohms. Méme lorsque 'amplificateur est évalué a 2 ohms, rappelez-vous que
pour rester a la hauteur de la puissance, le circuit aura un courant beaucoup plus élevé qu'auparavant et le cdblage devra le gérer. Non seulement les pertes de cablage
augmenteront, mais le facteur d'amortissement du systéme sera dégradé. Il peut étre préférable de faire passer des cables séparés de I'ampli aux haut-parleurs ou de
diviser la charge sur deux canaux d'amplification.

Le choix du cable consiste principalement a sélectionner la bonne section transversale en fonction de la longueur du cable et de I'impédance de charge. Une petite
section transversale augmenterait la résistance série des cables, induisant une perte de puissance et des variations de réponse (facteur d'amortissement).

Les connecteurs doivent étre cablés avec un cable d’au moins 2,5 mm2 (calibre 12). Cela sera parfaitement satisfaisant dans des conditions normales. Dans le

cas de trés longs cables, la taille du fil doit dépasser cette valeur. Le tableau suivant montre I'évolution de la résistance, de la perte de sensibilité et du facteur
d’amortissement en raison des effets du diamétre et de la longueur du cable pour deux charges d'impédance nominale (4 ohms et 8 ohms). Utilisez ce tableau pour
déterminer un diamétre de cable adapté a la longueur de cable dont vous avez besoin. Pour le facteur d'amortissement résultant, des valeurs supérieures a 20 sont
généralement considérées comme adéquates pour les systemes de sonorisation de haute qualité.

(FR



26 VQ Series

Damping Factor*

Diameter of Cable .
cable Run w"e Loss (dB) _
40hm 8ohm 40hm 8ohm
Load Load Load Load
5 16 0.2 0.1 40 ve 80

1.5mm 15 0.10 ) v

2.5mm 10 0.04 0.1 0 108 4 216 v

4mm 6 0.01 0 0 255 v 510 v

6mm 3 0.01 0 0 494 v 988 v

10 33 1.5mm 15 0.20 0.4 0.2 19 X 4 v
2.5mm 10 0.07 0.2 0.1 55 v m v

4mm 6 0.03 0.1 0 136 v 272 v

6mm 3 0.01 0 0 282 v 563 v

25 82 1.5mm 15 0.49 1 0.5 8 X 16 v
2.5mm 10 0.18 0.4 0.2 23 v 45 v

4mm 6 0.07 0.1 0.1 57 4 114 v

6mm 3 0.03 0.1 0 123 v 246 v

50 164 1.5mm 15 0.98 19 1 4 X 8 X
2.5mm 10 0.35 0.7 0.4 n X 23 v

4mm 6 0.14 0.3 0.1 29 v 58 v

6mm 3 0.06 0.1 0.1 64 4 127 v

100 328 1.5mm 15 1.95 35 19 2 X 4 X
2.5mm 10 0.70 14 0.7 6 X n X

4mm 6 0.27 0.6 0.3 15 X 29 v

6mm 3 0.12 0.3 0.1 32 4 65 4

* Les chiffres du facteur d'amortissement résultants sont dérivés a I'aide d’un amplificateur professionnel de bonne qualité

Vérification de la polarité

Il est trés important de vérifier la polarité du cablage avant de piloter le systéme d’enceintes. Une méthode simple pour ce faire sans un vérificateur de polarité basé
sur les impulsions pour les unités LF est la suivante: Connectez deux fils aux bornes + ve et -ve d’une batterie PP3. Appliquez le fil qui est connecté a la borne + ve
de la batterie a la jambe du cable du haut-parleur que vous pensez étre connectée a la broche 1+ du connecteur du haut-parleur et de méme la jambe -ve de la
batterie a la broche 1-.

Sivous I'avez cablé correctement, I'unité d’entrainement LF avancera, indiquant que le cdblage est correct. Il ne reste plus qu'a connecter le fil du haut-parleur + ve a
la borne + ve de I'amplificateur et le fil -ve a la borne -ve de I'amplificateur. Si toutefois le pilote LF recule, les connexions d’entrée doivent étre inversées.

Il existe également des contrdleurs de polarité disponibles dans le commerce qui peuvent étre utilisés (lviePAL™, NTI™). Si vous mettez en service un systeme utilisant
un analyseur de spectre tel que SMAART™, SYSTUNE™, CLIO™, MLSSA™ en vérifiant la réponse impulsionnelle pour le premier swing positif. Assurez-vous que I'égaliseur
et le filtrage croisé ont été supprimés avant de procéder a la vérification.

En cas de probléme, inspectez le cdblage du cable en premier lieu. Si vous utilisez des amplificateurs de plus d'un fabricant, vérifiez la polarité au niveau des
amplificateurs ainsi que des haut-parleurs.

Amplification et gestion de la puissance

Comme pour tous les systemes de haut-parleurs professionnels, la gestion de la puissance est fonction de la capacité thermique de la bobine mobile. Des précautions
doivent étre prises pour éviter d'exécuter I'amplificateur dans le clip (I'écrétage est le résultat final de la saturation de tout amplificateur). Le haut-parleur sera
endommagé si I'amplificateur est enfoncé dans le clip pendant une période prolongée. Une marge d’au moins 3 dB doit &tre autorisée. Lors de |'évaluation d'un
amplificateur, il estimportant de prendre en compte son comportement dans des conditions de charge a faible impédance. Un systéme de haut-parleurs est trés
réactif et avec des signaux transitoires, il peut nécessiter plus de courant que Iimpédance nominale ne I'indiquerait.

En régle générale, un amplificateur de puissance plus élevée fonctionnant sans distorsion causera moins de dommages au haut-parleur qu'un amplificateur de
puissance plus faible continuellement écrété. Il convient également de rappeler qu'un amplificateur haute puissance fonctionnant a moins de 90% de la puissance de
sortie sonne généralement beaucoup mieux qu'un amplificateur de puissance inférieure fonctionnant a 100%. Un amplificateur dont la capacité d’entrainement est
insuffisante ne permettra pas de réaliser les performances complétes ou le haut-parleur.

Lors de I'utilisation d'amplificateurs de fabricants différents dans une méme installation, il est important que les gains soient trés proches, la variation doit étre
inférieure a +/- 0,5 dB. Cette précaution est importante pour Iéquilibre global du systéme lorsqu’un seul filtre actif est utilisé avec plusieurs armoires; il est donc
recommandé d'utiliser les mémes amplificateurs partout.

Sur les pages de spécifications, vous trouverez la capacité de gestion de la puissance des enceintes VQ citée en trois catégories: -
Moyenne (RMS), programme et pic

Nous vous recommandons d'utiliser la puissance de programme indiquée dans les spécifications de I'enceinte pour choisir le bon amplificateur. Pour réaliser le plein
potentiel des enceintes VQ, la puissance nominale continue des amplificateurs doit étre égale a la puissance du programme des enceintes a son impédance nominale.

Quick Start Guide 27

VQ Series Recommended Amplifier Power
VQ60/100 Power Requirement

Low Frequency 2000 W into 4 ohms
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 Winto 8 ohms
High Frequency 200 Winto 8 ohms

VQDF
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 W into 8 ohms
High Frequency 200 Winto 8 ohms

VQMB 2000 Winto 4 ohms

Systemes de gestion des haut-parleurs

Les enceintes de la série Tannoy VQ sont congues pour étre utilisées avec un processeur de signal électronique qui fournit des fonctions de croisement, d'égalisation,
de retard et de dynamique. Nous recommandons vivement Lab Gruppen PLM + ou D Series avec des préréglages d’usine de la bibliothéque de chargement LAKE. Le
LAKE LM26/44 DSP utilisant les mémes préréglages d’usine de la bibliothéque de chargement LAKE couplé a la série Lab Gruppen Cou FP + utilisant des modeéles avec
une puissance de sortie appropriée pour les enceintes VQ sélectionnées est également recommandé. Le logiciel Lab Gruppen CAFE fournit une solution compléte pour
sélectionner la meilleure combinaison possible de produits de la série PLM + ou D pour tous les produits d’enceintes Tannoy, permettant aux utilisateurs d’avoir des
données techniques précises sur la fourniture de puissance, la puissance absorbée, la puissance thermique, les exigences d'infrastructure de cable et le calculateur de
nomenclature. Pour plus d'informations sur les produits LAKE et Lab Gruppen, rendez-vous sur www.

Gréement et suspension

Le matériel VQ couvert dans ce guide a été congu pour offrir des solutions rapides, simples et sires pour le montage d’enceintes VQ spécifiques. Ce matériel a été concu
et fabriqué avec un facteur de charge de sécurité élevé pour son réle spécifique. Pour garantir I'utilisation la plus siire possible du matériel couvert dans ce guide, il
doit &tre assemblé en stricte conformité avec les instructions spécifiées. Les informations contenues dans ces manuels concernant le montage et |'utilisation en toute
sécurité de ces accessoires doivent étre comprises et respectées.

Linstallation d'enceintes VQ a I'aide du matériel dédié ne doit jamais étre effectuée que par des installateurs pleinement qualifiés, conformément a tous les codes et
normes de sécurité requis qui sont appliqués sur le lieu d'installation.

AVERTISSEMENT: les exigences Iégales relatives au vol changent d’un pays a l'autre, veuillez consulter votre bureau des normes de sécurité local avant d'installer un
produit. Nous vous recommandons également de vérifier minutieusement toutes les lois et réglements avant de commencer les travaux.

Le matériel VQ a été congu pour étre utilisé uniquement avec les enceintes de la série VQ, et n'est pas congu ni prévu pour étre utilisé avec d’autres produits
commerciaux Tannoy, ou tout autre appareil d'autres fabricants. L'utilisation du matériel Tannoy Professional a des fins autres que celles indiquées dans ce guide est
considérée comme une utilisation inappropriée. Une telle utilisation peut étre trés dangereuse comme surcharger, modifier; le montage d’une autre maniére que
celle clairement indiquée dans le manuel ou 'endommagement du matériel VQ compromettra la sécurité. Les composants de tout appareil matériel VQ doivent étre
assemblés uniquement a l'aide des kits d’accessoires fournis et en stricte conformité avec le manuel d'utilisation. L'utilisation d’autres accessoires ou des méthodes
d’assemblage non approuvées peut entrainer un systéme de matériel dangereux en réduisant le facteur de sécurité de charge. Soudage,

Chaque fois qu'un haut-parleur VQ est fixé a une surface a 'aide d’un périphérique matériel VQ, I'installateur doit s'assurer que la surface est capable de supporter la
charge en toute sécurité. Le matériel utilisé doit étre en toute sécurité, solidement et conformément au manuel, fixé a la fois au haut-parleur et également a la surface
en question, en utilisant uniquement les trous de fixation fournis en standard et couverts dans le manuel. Des fixations sires a la structure du batiment sont vitales. En
cas de doute, demandez l'aide darchitectes, d'ingénieurs en structure ou d’autres spécialistes.

Toutes les enceintes pilotées doivent étre équipées d'une sécurité secondaire indépendante, correctement évaluée et solidement fixée - en plus du dispositif matériel
principal. Cette sécurité secondaire doit empécher le haut-parleur de chuter de plus de 150 mm (6 “) en cas de panne du matériel principal.

AVERTISSEMENT: n'utilisez en aucun cas les poignées d’enceinte pour supporter le poids de I'enceinte, sauf pour I'usage auquel il est destiné: transport a la main. Les
poignées ne sont pas congues pour supporter la charge du haut-parleur pour une installation temporaire ou permanente.

La gamme d’enceintes VQ est destinée a &tre suspendue ou empilée au sol. Cette section détaille comment configurer physiquement le flyware et les baies VQ. Voici les
méthodes recommandées pour la plupart des situations. Des situations spécifiques peuvent nécessiter d’autres méthodes. Il est de la responsabilité de I'utilisateur de
déterminer la viabilité et la sécurité des méthodes alternatives et de les mettre en ceuvre en conséquence.

(FR



28 VQ Series

Pilotage d’'une seule armoire VQ a l'aide de boulons a ceil

La méthode la plus simple pour piloter une seule armoire VQ consiste a utiliser une paire de boulons a ceil d'épaule M10 sur le dessus, en utilisant un troisieme boulon a
ceil a I'arriere de I'armoire pour incliner I'armoire.

BOULON FORGE VEB

Q Les haut-parleurs VQ peuvent étre pilotés avec des boulons a ceil VEB M10 de haute qualité avec collier conforme a BS4278: 1984.
Les haut-parleurs sont équipés d’entretoises internes en acier, qui servent également de points de vol, et acceptent les boulons a
ceil VEB M10.
Pour installer les boulons a ceil VEB M10, retirez les vis a téte creuse M10 d'origine des emplacements ol vous souhaitez installer

les boulons a ceil VEB M10. Remplacez ensuite ces vis M10 contre-noyées par les boulons a ceil VEB M10. L'insert M10 a l'arriére de
I'armoire accepte également un boulon a ceil VEB M10 et doit étre utilisé pour incliner I'enceinte a I'angle souhaité.

IMPORTANT: Pour des raisons de sécurité, il est impératif d'utiliser au moins deux boulons a ceil reliés a deux sangles fixées
indépendamment par armoire. Ne suspendez jamais un boitier a I'autre a I'aide de boulons a ceil.

N'essayez jamais d'utiliser des boulons a ceil formés, c'est-a-dire formés d'une tige d'acier et pliés dans un ceil.

Pilotage d'une seule armoire VQ dans une orientation paysage a l'aide de boulons a ceil forgés EBS

Support de vol VQ (support de suspension a point unique)

Quick Start Guide

Pour un vol s, flexible et simple, le support VQ Flying est congu pour suspendre I'armoire VQ a partir d’un seul point de pivot. Cela permet un réglage précis des
angles de visée avec I'armoire in situ. Lenceinte VQ pilotée doit étre équipée d’une sécurité secondaire indépendante, correctement dimensionnée et solidement fixée

- en plus du dispositif matériel principal. Cette sécurité secondaire doit empécher I'enceinte de chuter de plus de 150 mm (6") en cas de défaillance du périphérique

matériel principal.

Remarque: toutes les fixations doivent étre filetées et serrées a 25 Nm.

L'extrémité de tige est utilisée avec le support volant VQ. Deux types d’extrémité de tige sont disponibles. L'un est congu pour accepter une tige filetée UNC de %" et

I'autre accepte une tige filetée de 12 mm. (Tige filetée fournie par I'utilisateur).

Numéro darticle
1

Numéro d'article ‘ La description ‘ Quantité
1 Rondelle ordinaire M10 3
2 Rondelle a ressort M10 3
3 VisM10 x 50mm 3
4 Support de vol - VQ 1

La description m

Extrémité de tige - VQ _ “UNCou 12 mm 3
2 Vis a téte cylindrique M12x45 3
3 Ecrou Nyloc M12 3

29



30 VQ Series

Retirez les deux vis a téte fraisée M10 avant situées sur le dessus de I'armoire et la vis a téte fraisée M10 supérieure en haut a l'arriére de I'armoire. Assemblez le
support volant comme illustré. (Voir fig.1)

IMPORTANT: Seules les vis, les attaches, les rondelles anti-vibrations et les rondelles plates fournies doivent étre utilisées pour assembler le support volant VQ.
Remarque: toutes les fixations doivent étre filetées et serrées a 25 Nm.

Lorsqu'elle est fixée en position, I'extrémité de la tige peut étre déplacée le long de n'importe lequel des cing bords dentelés a I'intérieur de chaque fente pour affiner
I'angle d'inclinaison des haut-parleurs. (Voir fig. 2) La tige filetée utilisée ne doit pas mesurer plus de 300 mm (12") de longueur. L'utilisateur est responsable de fournir
la tige filetée correcte. Les spécifications minimales pour la tige filetée sont: -

Etats-Unis - Grade B7 (1438 Ib, 650 kg pour une canne de %2 “basé sur un facteur de sécurité de 10: 1)
Métrique - Grade 10,9 (1459 Ib, 660 kg pour une tige de 12 mm sur la base d’un facteur de sécurité 10: 1)

Utilisez les écrous appropriés pour verrouiller I'extrémité de la tige sur la tige filetée (fournie par l'utilisateur). Utilisez un écrou Nyloc en haut de la tige filetée pour
fixer le collier de serrage (fourni par l'utilisateur).

La tige filetée peut étre fixée a un accessoire Uni-Strut convenablement évalué.
Utilisez toujours des écrous Nyloc pour fixer la tige filetée au collier de serrage ou a I'Uni-Strut.

Le gréement d’un systéme sonore piloté peut étre dangereux a moins qu'il ne soit effectué par du personnel qualifié ayant 'expérience et la certification requises pour
effectuer les taches nécessaires.

La fixation des points d'accrochage dans un toit doit toujours étre effectuée par un gréeur professionnel et conformément aux regles locales du site.

Un maximum de VVQ 60 -+ VQ MB + V/Q DF (350 Ib, 160 kg) peut étre piloté a partir d'une seule tige filetée. Cette combinaison comporte un facteur de sécurité
de 8: 1. (Voir fig.3)

(fig. 1)

)
A

LA
) BAGGA
R ASAAAX
R,
A

Quick Start Guide 31

Plaque de liaison VQ

La plaque de liaison VQ est utilisée pour relier un VQ DF ou VQ MB a une armoire VQ 60 ou VQ 100. Trois plaques de liaison sont utilisées pour connecter chaque armoire.

Les plaques Link sont fournies en standard avec chaque VQ DF et VQ MB.

Retirez les vis a téte fraisée M10 comme indiqué sur le schéma ci-contre. Utilisez les mémes vis pour fixer la plaque de liaison en place. La plaque de liaison sera
affleurante dans les indentations de I'armoire. Deux boulons M10 plus longs sont fournis avec les plaques de liaison. Ces boulons doivent étre utilisés pour fixer la
plaque de liaison arriére en position.

Remarque: toutes les fixations doivent étre filetées et serrées a 25 Nm

LINK PLATE

Utilisation du VQ MB pour un contréle de motif supplémentaire

La plaque de liaison VQ est utilisée pour relier un VQ DF ou VQ MB a une armoire VQ 60 ou VQ 100. Trois plaques de liaison sont utilisées pour connecter chaque armoire.

Les plaques Link sont fournies en standard avec chaque VQ DF et VQ MB.

Retirez les vis a téte fraisée M10 comme indiqué sur le schéma ci-contre. Utilisez les mémes vis pour fixer la plaque de liaison en place. La plaque de liaison sera
affleurante dans les indentations de I'armoire. Deux boulons M10 plus longs sont fournis avec les plaques de liaison. Ces boulons doivent étre utilisés pour fixer la
plague de liaison arriére en position.




32 VQ Series

Arraying VQ 60

Un seul VQ 100 peut produire plus de puissance et de clarté sur sa largeur de faisceau de 100 degrés que de nombreuses solutions en réseau utilisant plusieurs
armoires, un grand avantage lorsque I'on considére I'esthétique de votre batiment. Un VQ 100 n'est pas congu pour &tre mis en réseau.

Deux VQ 60 peuvent étre mis en réseau pour produire un angle de couverture horizontal bien défini de 120 degrés.

La plaque de réseau VQ est congue pour mettre en réseau de maniere optimale deux armoires VQ 60. Pour installer la plaque, posez les boites sur le sol avec le bord
arriére des armoires en contact. Retirez les deux boulons a téte fraisée M10 et remplacez-les par la vis M10 ou les boulons a ceil fournis. Localisez les quatre boulons
a ceil M10 du kit de fixations fourni et insérez-les a travers la plaque de réseau dans les points d'accrochage de 'armoire. Ceux-ci seront utilisés pour ramasser la baie.
Répétez la méme procédure au bas des armoires, utilisez la vis M10. En cas de vol en orientation paysage, la vis M10 peut étre utilisée sur les deux plaques de réseau.

Remarque: toutes les fixations doivent étre filetées et serrées a 25 Nm

Deux points de collecte indépendants sont recommandés pour suspendre la baie. Les principaux points de ramassage sont les deux boulons a ceil arriere. Les deux

boulons a ceil avant peuvent étre utilisés comme points de sécurité.

Numéro d'article ‘ La description ‘ Quantité
1 Rondelle ordinaire M10 8
2 Rondelle a ressort M10 8
3 Vis M10 x 50 mm 8
4 Boulon a ceil M10 4
5 Support de matrice 2

Einfiihrung

Die VQ-Vollsortimentprodukte verwenden eine einzigartige Treibertechnologie, um eine koharente Einzelpunktquelle fiir eine iiberlegene Dispersionskontrolle zu
strahlen, wenn sie an unser Einzelhorn gekoppelt sind. Dieses fortschrittliche Design richtet die akustischen Zentren der Wandler aus und liefert eine einzige kohdrente

Wellenfront, die vom Hals ausgeht.

Der Treiber verwendet zwei konzentrische Ringringmembranen. Die gréRere der beiden hat eine 3,5-Zoll-Schwingspule und gibt Frequenzen von 400 Hz bis 7 kHz
wieder. Ein weiterer groBer Vorteil besteht darin, dass es in der Nahe des Stimmbereichs keine Uberkreuzung gibt, die die natiirlichste und phasenkohdrenteste

Quick Start Guide

33

Wiedergabe in diesem kritischen Bereich gewahrleistet. Die 2-Zoll-HF-Membran iibernimmt bei 7 kHz bis 22 kHz {iber eine passive oder eine aktive Frequenzweiche.
Das AuBengussstiick verfiigt iiber einen umfangreichen Kiihlkdrper, der eine gute Warmeiibertragung fiir eine hohe Belastbarkeit und eine sehr geringe

Leistungskompression gewahrleistet.

Anschliisse/Verkabelung

Eingangsanschlussfelder

Hinweis: Der VQ 60 und der VQ 100 sind standardmaRig fiir den Bi-Amp-Betrieb konfiguriert.

Der Tri-Amp-Betrieb ist iiber die Barrier Strip-Eingangsanschliisse maglich.

Der VVQ DF ist standardmaBig fiir den Einzelverstérkerbetrieb konfiguriert. Der Bi-Amp-Betrieb ist iiber die Barrier Strip-Eingangsanschliisse mdglich.

Der VQ MB ist fiir den Einzelverstérkerbetrieb konfiguriert.

VQ60/100

1]

INK WIRES

TANNOY| - 5r - rsive

)PERATION

=171

VQ MB

VQ DF

1

INK WIRES
REQUIRED
TANNOY FOR PASSIVE

)PERATION

=171

VQ 64DF

@
(DE



34 VQ Series

Die VQ 60, VQ 100 und VQ DF sind mit 4-poligen Neutrik Speakon-Steckern und einer Sperrleiste filr feste Installationen ausgestattet.
Speakon-Verbindungen -
Speakon bietet gegeniiber EP- und XLR-Anschliissen die folgenden Vorteile:

Alle Anschliisse sind Iotfrei; Dies erleichtert das Leben zum Zeitpunkt der Installation oder wenn eine Wartung vor Ort erforderlich ist. Kontakte akzeptieren 6 mm?
Draht mit einem AuBendurchmesser von bis zu 15 mm und einer Nennstromstarke von 30 Ampere. Die Stifte der 2 Speakon-Buchsen auf der Riickseite des
Eingangsfelds sind parallel zum Gehéuse angeordnet, um den Anschluss an zusatzliche VQ-Lautsprecher (mit Ausnahme des VQ MB) zu erleichtern. Tannoy hat die
Standardkonvention fiir professionelle Audiokabel fiir das VQ-Produkt iibernommen.

VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)
LF Positive (+ve)

LF Negative (-ve)
LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)
——  \IF/HF Negative (-ve)

MF/HF Positive (+ve) No connections on pins
MF/HF Negative (-ve) 2+and 2-

Barrier Strip-Verbindungen

Der Sperrstreifen nimmt blanke Drahte, verzinnte Leitungen oder Flachstecker auf. Die Sperrstreifen sind speziell fiir den Einsatz in festen/dauerhaften Installationen
konzipiert. Der VQ 60 und der VQ 100 sind fiir den Bi-Amp-Betrieb konfiguriert. Durch Entfernen der 4 Verbindungsdrahte zwischen den beiden Sperrstreifen am
Abschlussfeld ist ein Drei-Ampere-Betrieb mdglich. Der VQ DF ist fiir den Einzelverstérkerbetrieb konfiguriert. Durch Entfernen der 4 Verbindungsdrahte zwischen den
beiden Sperrstreifen am Abschlussfeld ist ein Bi-Amp-Betrieb mdglich.

VQ 60/100 Bi-Amp — SchlieBen Sie den LF-Verstérker an LF +/- in der oberen Reihe des Sperrstreifens an.

SchlieBen Sie den MF/HF-Verstarker an MF/HF +/- in der unteren Reihe des Sperrstreifens an.

VQ 60/100 Tri-Amp — SchlieBen Sie den LF-Verstérker an LF +/- in der oberen Reihe des Sperrstreifens an.
SchlieBen Sie den MF-Verstarker an MF +/- in der oberen Reihe des Sperrstreifens an.

SchlieBen Sie den HF-Verstérker an HF +/- in der oberen Reihe des Sperrstreifens an.

VQ DF Einzelverstarker — SchlieBen Sie den MF/HF-Verstérker an MF/HF +/- in der unteren Reihe des Sperrstreifens an.

VQ DF Bi-Amp - SchlieBen Sie den MF-Verstarker an MF +/- in der oberen Reihe des Sperrstreifens an.
SchlieBen Sie den HF-Verstérker an HF +/- in der oberen Reihe des Sperrstreifens an.

VQMB - SchlieBen Sie den Verstarker an die LF +/- Klemmen an.

Beachten Sie, dass das Durchschleifen zu zusatzlichen Lautsprechern die Belastung des Verstarkers verringert. Vermeiden Sie es, die Verstarker zu niedrig zu laden.
Wenn der Verstarker fiir mindestens 4 Ohm ausgelegt ist, geben Sie ihm keine 2 Ohm Last. Selbst wenn der Verstarker auf 2 0hm ausgelegt ist, denken Sie daran, dass
die Schaltung einen viel hdheren Strom als zuvor hat und die Verkabelung damit umgehen muss, um mit der Leistung Schritt zu halten. Die Verdrahtungsverluste
nehmen nicht nur zu, sondern der Dampfungsfaktor des Systems wird verschlechtert. Es ist mdglicherweise besser, separate Kabel vom Verstérker zu den
Lautsprechern zu verlegen oder die Last auf zwei Verstarkerkandle aufzuteilen.

Die Kabelauswahl besteht hauptsachlich aus der Auswahl der richtigen Querschnittsfléche in Bezug auf die Kabelldnge und die Lastimpedanz. Eine kleine
Querschnittsflache wiirde den Serienwiderstand der Kabel erhdhen, Leistungsverlust und Ansprechschwankungen (Dampfungsfaktor) verursachen.

Die Steckverbinder sollten mit einem Kabel von mindestens 2,5 mm? (12 Gauge) verdrahtet werden. Dies ist unter normalen Bedingungen vollkommen
zufriedenstellend. Bei sehr langen Kabelstrecken sollte die DrahtgrdBe diese iiberschreiten. Die folgende Tabelle zeigt die Anderung des Widerstands, des
Empfindlichkeitsverlusts und des Dampfungsfaktors aufgrund der Auswirkungen des Kabeldurchmessers und der Kabellange fiir zwei Nennimpedanzlasten (4
Ohm und 8 Ohm). Verwenden Sie diese Tabelle, um einen geeigneten Kabeldurchmesser fiir die gewiinschte Lauflange zu bestimmen. Fiir den resultierenden
Dampfungsfaktor werden Werte iiber 20 im Allgemeinen fiir hochwertige Beschallungssysteme als ausreichend angesehen.

Quick Start Guide 35

ampfungsfaktor*

" Durchmesser von Kabel
Kabelfu“rung DrahtverIUSt (dB) _
40hm 80hm 40hm 80hm
Belastung Belastung Belastung Belastung
5 16 0,2 0,1 40 v 80

1,5mm 15 0,10 , v
2,5mm 10 0,04 01 0 108 4 216 v
4mm 6 0,01 0 0 255 v 510 v
6mm 3 0,01 0 0 494 v 988 v
10 33 1,5mm 15 0,20 0,4 0,2 19 X 4H v
2,5mm 10 0,07 0,2 01 55 v m v
4mm 6 0,03 01 0 136 v 272 v
6mm 3 0,01 0 0 282 v 563 v
25 82 1,5mm 15 0,49 1 0,5 8 X 16 v
2,5mm 10 0,18 0,4 0,2 23 v 45 v
4mm 6 0,07 01 01 57 v 114 v
6mm 3 0,03 01 0 123 v 246 v
50 164 1,5mm 15 0,98 19 1 4 X 8 X
2,5mm 10 0,35 0,7 0,4 n X 23 v
4mm 6 0,14 03 01 29 v 58 v
6mm 3 0,06 01 01 64 v 127 v
100 328 1,5mm 15 1,95 35 1.9 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X n X
4mm 6 0,27 0,6 03 15 X 29 v
6mm 3 0,12 03 01 32 v 65 v

*Die resultierenden Dampfungsfaktorwerte werden mit einem professionellen Verstérker von guter Qualitét abgeleitet

Polaritatspriifung

Esist sehr wichtig, die Polaritdt der Verkabelung zu iiberpriifen, bevor das Lautsprechersystem geflogen wird. Eine einfache Methode, dies ohne einen pulshasierten
Polaritatspriifer fiir LF-Einheiten zu tun, ist wie folgt: SchlieBen Sie zwei Drahte an die Klemmen -+ ve und -ve einer PP3-Batterie an. Bringen Sie das Kabel, das an den
+ ve-Anschluss der Batterie angeschlossen ist, an das Lautsprecherkabelbein an, von dem Sie glauben, dass es an Pin 1+ des Lautsprecheranschlusses angeschlossen
ist, und ebenso an das -ve-Bein der Batterie an Pin 1-.

Wenn Sie es richtig verkabelt haben, bewegt sich die LF-Antriebseinheit vorwarts, was anzeigt, dass die Verkabelung korrekt ist. Jetzt miissen Sie nur noch das +
ve-Lautsprecherkabel an den + ve-Anschluss des Verstarkers und das -ve-Kabel an den -ve-Anschluss des Verstarkers anschlieBen. Wenn sich der LF-Treiber jedoch
riickwdrts bewegt, miissen die Eingangsverbindungen invertiert werden.

Es gibt auch im Handel erhéltliche Polaritétspriifer, die verwendet werden konnen (IviePAL™, NTI™). Wenn Sie ein System mit einem Spektrumanalysator wie
SMAART™, SYSTUNE™, CLIO™, MLSSA™ in Betrieb nehmen, iiberpriifen Sie die Impulsantwort fiir den ersten positiven Schwung. Stellen Sie sicher, dass die EQ- und
Crossover-Filterung entfernt wurde, bevor Sie sie iberpriifen.

Wenn Probleme auftreten, iiberpriifen Sie zundchst die Kabelverkabelung. Wenn Sie Verstarker von mehr als einem Hersteller verwenden, iiberpriifen Sie die Polaritdt
sowohl an den Verstarkern als auch an den Lautsprechern.

Verstarkung & Power Handling

Wie bei allen professionellen Lautsprechersystemen hangt die Belastbarkeit von der Warmekapazitét der Schwingspule ab. Es sollte darauf geachtet werden, dass
der Verstérker nicht in den Clip gerét (Clipping ist das Endergebnis einer Ubersteuerung eines Verstarkers). Der Lautsprecher wird beschadigt, wenn der Verstirker
ldngere Zeit in den Clip eingetrieben wird. Headroom von mindestens 3dB sollte erlaubt sein. Bei der Bewertung eines Verstarkers ist es wichtig, sein Verhalten unter
Lastbedingungen mit niedriger Impedanz zu beriicksichtigen. Ein Lautsprechersystem ist hochreaktiv und kann bei transienten Signalen mehr Strom benétigen, als
die Nennimpedanz anzeigen wiirde.

Im Allgemeinen verursacht ein verzerrungsfreier Verstérker mit hoherer Leistung weniger Schaden am Lautsprecher als ein Verstarker mit niedrigerer Leistung, der
kontinuierlich abschneidet. Es ist auch zu beachten, dass ein Hochleistungsverstarker, der mit weniger als 90% der Ausgangsleistung betrieben wird, im Allgemeinen
viel besser klingt als ein Verstarker mit niedrigerer Leistung, der mit 100% betrieben wird. Ein Verstarker mit unzureichender Ansteuerungsfahigkeit ermdglicht nicht
die Realisierung der vollen Leistung oder des Lautsprechers.

Bei Verwendung von Verstarkern verschiedener Hersteller in einer einzigen Installation ist es wichtig, dass die Verstarkungen sehr genau iibereinstimmen. Die
Abweichung sollte weniger als +/- 0,5 dB betragen. Diese VorsichtsmaBBnahme ist wichtig fiir die Gesamtsystembalance, wenn nur eine aktive Frequenzweiche mit
mehreren Schranken verwendet wird. Es wird daher empfohlen, durchgehend dieselben Verstérker zu verwenden.

Auf den technischen Daten finden Sie die Belastbarkeit der VQ-Lautsprecher in drei Kategorien: -
Durchschnitt (RMS), Programm & Peak

Wir empfehlen, die in den Lautsprecherspezifikationen angegebene Programmleistung zu verwenden, um den richtigen Verstarker auszuwahlen. Um das volle
Potenzial der VQ-Lautsprecher auszuschdpfen, sollte die Dauerleistung der Verstarker gleich der Programmleistung der Lautsprecher bei ihrer Nennimpedanz sein.



36 \VQ Series
Empfohlene Verstarkerleistung der VQ-Serie
VQ60/100 Leistungshedarf
Niederfrequenz 2000 Win 4 0hm
Passive MF/HF 400 Win 8 Ohm
Mittlere Frequenz 400 W in 8 Ohm
Hochfrequenz 200 W in 8 Ohm
VQDF
Passive MF/HF 400 Win 8 Ohm
Mittlere Frequenz 400 Win 8 Ohm
Hochfrequenz 200 Win 8 0hm
VQMB 2000 Win 4 Ohm

Lautsprecher-Management-Systeme

Die Lautsprecher der Tannoy VQ-Serie sind fiir die Verwendung mit einem elektronischen Signalprozessor ausgelegt, der Funktionen fiir Frequenzweiche, Entzerrung,
Verzdgerung und Dynamik bietet. Wir empfehlen dringend die Lab Gruppen PLM + oder D-Serie mit Werksvoreinstellungen aus der LAKE-Ladebibliothek. LAKE
LM26/44 DSP mit denselben werkseitigen Voreinstellungen aus der LAKE-Ladebibliothek in Verbindung mit der Lab Gruppen C-Serie oder der FP + -Serie mit Modellen
mit geeigneter Ausgangsleistung fiir die ausgewahlten VQ-Schrénke wird ebenfalls empfohlen. Die CAFE-Software von Lab Gruppen bietet eine umfassende Losung
fiir die Auswahl der bestmdglichen Kombination von Produkten der PLM + - oder D-Serie fiir alle Tannoy-Lautsprecherprodukte, sodass Benutzer genaue technische
Daten zu Stromversorgung, Stromverbrauch, Warmeleistung, Kabelinfrastrukturanforderungen und Stiicklistenrechner erhalten. Weitere Informationen zu Produkten
von LAKE und Lab Gruppen finden Sie unter www.

Takelage & Federung

Die in diesem Handbuch behandelte VQ-Hardware bietet schnelle, einfache und sichere Lsungen fiir die Montage bestimmter VQ-Lautsprecher. Diese Hardware
wurde mit einem hohen Sicherheitslastfaktor fiir ihre spezifische Rolle entwickelt und hergestellt. Um eine mdglichst sichere Verwendung der in diesem Handbuch
beschriebenen Hardware zu gewdhrleisten, muss diese unter strikter Einhaltung der angegebenen Anweisungen zusammengebaut werden. Die Informationen in
diesen Handbiichern zur Montage und zur sicheren Verwendung dieses Zubehdrs miissen verstanden und befolgt werden.

Die Installation von VQ-Lautsprechern mit der dafiir vorgesehenen Hardware sollte immer nur von voll qualifizierten Installateuren gemag allen erforderlichen
Sicherheitscodes und -standards durchgefiihrt werden, die am Installationsort gelten.

WARNUNG: Da sich die gesetzlichen Anforderungen fiir das Fliegen von Land zu Land @ndern, wenden Sie sich bitte an Ihr drtliches Biiro fiir Sicherheitsstandards,
bevor Sie ein Produkt installieren. Wir empfehlen lhnen auBerdem, alle Gesetze und Statuten vor Beginn der Arbeiten griindlich zu iiberpriifen.

Die VQ-Hardware wurde nur fiir die Verwendung mit Lautsprechern der VQ-Serie entwickelt und ist nicht fiir die Verwendung mit anderen Tannoy Commercial-
Produkten oder anderen Geréten anderer Hersteller konzipiert oder vorgesehen. Die Verwendung von Tannoy Professional-Hardware fiir einen anderen als den

in diesem Handbuch angegebenen Zweck gilt als unsachgemaBe Verwendung. Eine solche Verwendung kann sehr gefahrlich sein, z. B. Uberladen, Andern; Wenn

Sie eine andere als die im Handbuch angegebene Montage durchfiihren oder die VQ-Hardware beschadigen, wird die Sicherheit beeintrachtigt. Die Komponenten
eines VQ-Hardwaregerts diirfen nur mit den mitgelieferten Zubehdrsatzen und unter strikter Einhaltung des Benutzerhandbuchs zusammengebaut werden. Die
Verwendung von anderem Zubehdr oder nicht zugelassenen Montagemethoden kann zu einem unsicheren Hardwaresystem fiihren, indem der Lastsicherheitsfaktor
verringert wird. Schwei3en,

Wenn ein VQ-Lautsprecher mit einem VQ-Hardwaregerdt an einer Oberfléche befestigt wird, muss der Installateur sicherstellen, dass die Oberflache die Last sicher
tragen kann. Die verwendete Hardware muss sicher und gemaf dem Handbuch sowohl am Lautsprecher als auch an der betreffenden Oberflache angebracht

sein, wobei nur die standardmaBig mitgelieferten und im Handbuch beschriebenen Befestigungslocher verwendet werden miissen. Sichere Befestigungen an der
Gebdudestruktur sind unerldsslich. Lassen Sie sich im Zweifelsfall von Architekten, Bauingenieuren oder anderen Spezialisten helfen.

Alle geflogenen Lautsprecher miissen zusdtzlich zum Haupthardware-Gerdt mit einer unabhangigen, korrekt bewerteten und sicher angebrachten Sekundarsicherung
ausgestattet sein. Diese sekunddre Sicherheit muss verhindern, dass der Lautsprecher mehr als 150 mm (6 “) herunterféllt, wenn das Haupthardwaregerat ausfallt.

WARNUNG: Verwenden Sie unter keinen Umstanden die Griffe eines Lautsprechers, um das Gewicht des Lautsprechers zu tragen, auBer fiir den vorgesehenen
Verwendungszweck: Handtragen. Die Griffe sind nicht dafiir ausgelegt, die Last des Lautsprechers fiir eine voriibergehende oder dauerhafte Installation zu tragen.

Die Lautsprecher der VQ-Reihe sollen aufgehangt oder auf dem Boden gestapelt werden. In diesem Abschnitt wird beschrieben, wie Sie VQ-Flyware und -Arrays
physisch konfigurieren. Im Folgenden sind die empfohlenen Methoden fiir die meisten Situationen aufgefiihrt. Bestimmte Situationen kdnnen andere Methoden
erfordern. Es liegt in der Verantwortung des Benutzers, die Lebensfahigkeit und Sicherheit alternativer Methoden zu bestimmen und diese entsprechend umzusetzen.

Quick Start Guide 37

Fliegen eines einzelnen VQ-Schranks mit Augenschrauben

Die einfachste Methode, einen einzelnen VQ-Schrank zu fliegen, besteht darin, oben ein Paar M10-Schulterdsen zu verwenden, wobei der Schrank mit einem dritten
Augenbolzen auf der Riickseite des Schranks gekippt wird.

() VEB GESCHMIEDETES AUGENBOLZEN

VQ-Lautsprecher kdnnen mit hochwertigen VEB M10-Augenschrauben mit Kragen nach BS4278: 1984 geflogen
werden. Die Lautsprecher sind mit internen Stahlstreben ausgestattet, die auch als Flugpunkte dienen und VEB
M10-Augenschrauben aufnehmen.

Entfernen Sie zum Installieren der VEB M10-Augenschrauben die originalen M10-Senkschrauben an den Stellen, an denen

Sie die VEB M10-Augenschrauben installieren mdchten. Ersetzen Sie dann diese versenkten M10-Schrauben durch die VEB
M10-Augenschrauben. Der M10-Einsatz auf der Riickseite des Gehduses nimmt auch eine VEB M10-Augenschraube auf und sollte
zum Kippen des Lautsprechers auf den gewiinschten Winkel verwendet werden.

WICHTIG: Aus Sicherheitsgriinden miissen mindestens zwei Augenschrauben pro Schrank verwendet werden, die mit
zwei unabhangig voneinander befestigten Gurten verbunden sind. Hangen Sie niemals ein Gehduse mit Augenschrauben
am anderen auf.

Versuchen Sie niemals, geformte Augenschrauben zu verwenden, dh aus einem Stahlstab geformt und in ein Auge gebogen.

Fliegen eines einzelnen VQ-Schranks im Querformat mit geschmiedeten EBS-Augenschrauben




38 VQ Series

VQ Flying Bracket (Single Point Hang Flying Bracket)

Fiir ein sicheres, flexibles und einfaches Fliegen ist die VQ Flying-Halterung so konzipiert, dass der VQ-Schrank an einem einzigen Drehpunkt aufgehangt wird. Dies

ermdglicht eine prazise Einstellung der Zielwinkel mit dem Schrank vor Ort. Der geflogene VQ-Lautsprecher muss zusatzlich zum Haupthardwaregerat mit einer

unabhéngigen, korrekt bewerteten und sicher angebrachten Sekundarsicherung ausgestattet sein. Diese sekundare Sicherheit muss verhindern, dass der Lautsprecher

mehr als 150 mm (6 Zoll) herunterfllt, falls das Haupthardwaregerat ausfallt.

Hinweis: Alle Befestigungen sollten mit einem Gewinde versehen und mit 25 Nm angezogen sein.

Art.-Nr. Beschreibung Menge
1 M10 Unterlegscheibe 3
2 M10 Federscheibe 3
3 Schraube M10 x 50mm 3
4 Bracket Flying - VQ 1

Das Stangenende wird in Verbindung mit der VQ-Flughalterung verwendet. Es stehen zwei Arten von Stangenenden zur Verfiigung. Einer ist fiir die Aufnahme von
5-Zoll-UNCG-Gewindestangen ausgelegt, der andere fiir 12-mm-Gewindestangen. (Gewindestange vom Benutzer geliefert).

1

Stangenende - VQ _“UNCoder 12mm

3

2

Schraube M12x45 Kappenkopf

3

3

M12 Nyloc Mutter

3

Quick Start Guide 39

Entfernen Sie die beiden vorderen Senkschrauben M10 oben am Gehduse und die obere Senkschraube M10 oben hinten am Gehéuse. Montieren Sie die fliegende
Halterung wie gezeigt. (Siehe Abb. 1)

WICHTIG: Fiir die Montage der VQ-Flughalterung diirfen nur die mitgelieferten Schrauben, Befestigungselemente, riittelsicheren und Unterlegscheiben verwendet
werden. Hinweis: Alle Befestigungen sollten mit einem Gewinde versehen und mit 25 Nm angezogen sein.

Wenn das Stangenende fixiert ist, kann es entlang einer der fiinf gezackten Kanten in jedem Schlitz bewegt werden, um den Neigungswinkel des Lautsprechers fein
abzustimmen. (Siehe Abb. 2) Die verwendete Gewindestange sollte nicht [dnger als 300 mm sein. Der Benutzer ist fiir die Lieferung der richtigen Gewindestange
verantwortlich. Die Mindestspezifikationen fiir die Gewindestange sind: -

USA - Klasse B7 (1438 Ibs, 650 kg fiir 2 “Rute basierend auf einem Sicherheitsfaktor von 10: 1)
Metrisch - Klasse 10,9 (660 kg fiir 12-mm-Stangen, basierend auf einem Sicherheitsfaktor von 10: 1)

Verwenden Sie die entsprechenden Muttern, um das Stangenende an der Gewindestange zu befestigen (vom Benutzer geliefert). Verwenden Sie eine Nyloc-Mutter
oben an der Gewindestange, um die Polklemme (vom Benutzer mitgeliefert) zu sichern.

Die Gewindestange kann an einem Uni-Strut-Zubehdr mit geeigneter Nennleistung befestigt werden.
Verwenden Sie immer Nyloc-Muttern, um die Gewindestange an der Polklemme oder der Uni-Strebe zu befestigen.

Das Aufriisten eines geflogenen Soundsystems kann geféhrlich sein, es sei denn, es wird von qualifiziertem Personal mit der erforderlichen Erfahrung und
Zertifizierung durchgefiihrt, um die erforderlichen Aufgaben auszufiihren.

Die Befestigung von Aufhangepunkten in einem Dach sollte immer von einem professionellen Ausleger und in Ubereinstimmung mit den drtlichen Vorschriften des
Veranstaltungsortes durchgefiihrt werden.

Von einer einzelnen Gewindestange konnen maximal VQ 60 + VQ MB + VQ DF (160 kg) geflogen werden. Diese Kombination hat einen Sicherheitsfaktor von 8: 1.
(Siehe Abb. 3)

(fig. 1)




40 VQ Series

VQ-Verbindungsplatte

Die VQ-Verbindungsplatte wird verwendet, um einen VQ DF oder VQ MB mit einem VQ 60- oder VQ 100-Schrank zu verbinden. Drei Verbindungsplatten werden
verwendet, um jeden Schrank zu verbinden. Die Verbindungsplatten werden standardmaBig mit jedem VQ DF und VQ MB geliefert.

Entfernen Sie die M10-Senkschrauben wie in der nebenstehenden Abbildung gezeigt. Verwenden Sie die gleichen Schrauben, um die Verbindungsplatte zu befestigen.

Die Verbindungsplatte sitzt biindig in den Vertiefungen des Gehduses. Mit den Verbindungsplatten werden zwei ldngere M10-Schrauben geliefert. Diese Schrauben
sollten verwendet werden, um die hintere Verbindungsplatte in Position zu bringen.

Hinweis: Alle Befestigungen sollten mit einem Gewinde versehen und mit 25 Nm angezogen sein

LINK PLATE

Verwenden des VQ MB fiir zusatzliche Mustersteuerung

Die VQ-Verbindungsplatte wird verwendet, um einen VQ DF oder VQ MB mit einem VQ 60- oder VQ 100-Schrank zu verbinden. Drei Verbindungsplatten werden
verwendet, um jeden Schrank zu verbinden. Die Verbindungsplatten werden standardmaBig mit jedem VQ DF und VQ MB geliefert.

Entfernen Sie die M10-Senkschrauben wie in der nebenstehenden Abbildung gezeigt. Verwenden Sie die gleichen Schrauben, um die Verbindungsplatte zu befestigen.

Die Verbindungsplatte sitzt biindig in den Vertiefungen des Gehduses. Mit den Verbindungsplatten werden zwei langere M10-Schrauben geliefert. Diese Schrauben
sollten verwendet werden, um die hintere Verbindungsplatte in Position zu bringen.

Quick Start Guide 41

Arraying VQ 60

Ein einzelner VQ 100 kann iber seinen 100-Grad-Strahlbreitenbereich mehr Leistung und Klarheit erzeugen als viele Array-Losungen mit mehreren Schrénken. Dies ist
ein groBer Vorteil, wenn Sie Ihre Gebdudedsthetik beriicksichtigen. Ein VQ 100 ist nicht fiir die Anordnung ausgelegt.

Zwei VQ 60 konnen angeordnet werden, um einen genau definierten horizontalen Abdeckungswinkel von 120 Grad zu erzeugen.

Die VQ-Array-Platte ist so konzipiert, dass zwei VQ 60-Schranke optimal angeordnet werden kinnen. Stellen Sie die Kisten zum Anbringen der Platte so auf den Boden,
dass sich die Hinterkante der Schranke beriihrt. Entfernen Sie die beiden versenkten M10-Schrauben und ersetzen Sie sie entweder durch die M10-Schraube oder die
mitgelieferten Ringschrauben. Suchen Sie die vier M10-Augenschrauben aus dem mitgelieferten Befestigungssatz und fiihren Sie diese durch die Array-Platte in die
Montagepunkte im Schrank ein. Diese werden zum Aufnehmen des Arrays verwendet. Wiederholen Sie den Vorgang unten an den Schrénken mit der M10-Schraube.
Wenn Sie im Querformat fliegen, kann die M10-Schraube auf beiden Array-Platten verwendet werden.

Hinwetis: Alle Befestigungen sollten mit einem Gewinde versehen und mit 25 Nm angezogen sein

Zum Anhalten des Arrays werden zwei unabhdngige Aufnahmepunkte empfohlen. Die Hauptaufnahmepunkte sind die beiden hinteren Augenschrauben. Die beiden
vorderen Augenschrauben kdnnen als Sicherheitspunkte verwendet werden.

Art.-Nr. ‘ Beschreibung ‘ Menge
1 M10 Unterlegscheibe 8
2 M10 Federscheibe 8
3 Schraube M10 x 50 mm 8
4 Augenschraube M10 4
5 Array-Halterung 2

(DE



42 VQ Series

Introducao

Alinha completa de produtos VQ utiliza uma tecnologia de driver exclusiva para irradiar uma fonte de ponto tinico coerente para controle de dispersdo superior
quando acoplado a nossa buzina tnica. Este projeto avancado alinha os centros actsticos dos transdutores, fornecendo uma tnica frente de onda coerente que
emana da garganta.

0 driver usa dois diafragmas de anel anular concéntrico. 0 maior dos dois possui uma bobina de 3,5 “e reproduz frequéncias de 400 Hz a 7 kHz. Outra grande vantagem
aqui é que ndo ha cruzamento em qualquer lugar proximo a regido vocal, garantindo a reproducéo mais natural e com coeréncia de fase nesta drea critica. 0 diafragma
de 2 "HF assume em 7 kHz a 22 kHz por meio de um crossover passivo ou ativo. A fundicao externa possui extenso dissipador de calor garantindo boa transferéncia de
calor para manipulacdo de alta poténcia e compressao de poténcia muito baixa.

Conectores/Cabeamento

Painéis de conector de entrada

Nota: 0 VQ 60 e 0 VQ 100 sdo configurados como padréo para operagdo Bi-Amp.

A operacao Tri-Amp é possivel usando os terminais de entrada da faixa de barreira.

0VQ DF é configurado como padrdo para operacdo de amplificador tinico. A operagdo Bi-Amp € possivel usando os terminais de entrada da faixa de barreira.

0VQ MB é configurado para operagao com um tinico amplificador.

VQ60/100 VQ DF

1] 1]

INK WIRES VQ 60 INK WIRES || VQ 64DF

TANNOY/ . =cume0 | TANNOY | o acerve | D

)PERATION )PERATION

=171 =171

VQ MB

Quick Start Guide 43

0VQ 60, VQ 100 e VQ DF sao equipados com conectores Neutrik Speakon de 4 pélos e faixa de barreira para instalacdes fixas.
Speakon Connections -
Speakon tem as sequintes vantagens sobre conectores do tipo EP e XLR:

Todas as terminagdes sao sem solda; isso torna a vida mais facil no momento da instalagdo ou quando é necessdria manutencao em campo. Os contatos aceitam fios de
6 mm? com um didmetro externo de até 15 mm e uma corrente nominal de 30 Amperes. Os pinos das entradas/saidas identificadas de 2 soquetes Speakon na parte
traseira do painel de entrada sdo paralelos dentro do gabinete para facilitar a conexdo com alto-falantes VQ adicionais (exceto o MB VQ). A Tannoy adotou a convencéo
de fiacdo de dudio profissional padrao para o produto VQ.

i VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) No connections on pins

1+and 1-

LF Negative (-ve)
LF Positive (+ve)

MF/HF Positive (+ve)
MF/HF Negative (-ve)

MF/HF Positive (+ve) No connections on pins
MF/HF Negative (-ve) 2+and 2-

Conexdes de faixa de barreira

A faixa de barreira acomoda fio desencapado, condutores estanhados ou conectores tipo espada. As faixas de barreira sao projetadas especificamente para utilizagdo
em instalacdes fixas/permanentes. 0 VQ 60 e 0 VQ 100 sao configurados para operagao Bi-amp; removendo os 4 fios de ligacdo entre as duas faixas de barreira no
painel de terminais, a operacao tri-amp é possivel. 0 VQ DF é configurado para operacao de amplificador tinico; removendo os 4 fios de ligacao entre as duas faixas de
barreira no painel de terminais, a operacao de bi-amplificador é possivel.

VQ60/100 Bi-amp — Conecte o amplificador LF a LF +/- na linha superior da faixa de barreira.

Conecte o amplificador MF/HF a MF/HF +/- na linha inferior da faixa de barreira.

VQ60/100 Tri-amp — Conecte o amplificador LF a LF +/- na linha superior da faixa de barreira.
Conecte o amplificador MF a MF +/- na linha superior da faixa de barreira.

Conecte o amplificador HF a HF +/- na linha superior da faixa de barreira.

VQ DF Single Amp — Conecte o amplificador MF/HF a MF/HF +/- na linha inferior da faixa de barreira.
VQ DF Bi-amp — Conecte o amplificador MF a MF +/- na linha superior da faixa de barreira.

Conecte o amplificador HF a HF +/- na linha superior da faixa de barreira.
VQMB - Conecte o amplificador aos terminais LF +/-.

Observe que o loop out para alto-falantes adicionais terd o efeito de reduzir a carga no amplificador. Evite carregar amplificadores muito baixos. Se o amplificador for
classificado para 4 ohms no minimo, ndo aplique uma carga de 2 ohms. Mesmo quando o amplificador é avaliado abaixo de 2 ohms, lembre-se de que, para manter

a poténcia, o circuito terd uma corrente muito mais alta do que antes e a fiacdo tera que lidar com isso. Nao apenas as perdas de fiacdo aumentardo, mas o fator de
amortecimento do sistema serd degradado. Pode ser melhor instalar cabos separados do amplificador para os alto-falantes ou dividir a carga entre dois canais do
amplificador.

A escolha do cabo consiste principalmente em selecionar a drea da se¢ao transversal correta em relagdo ao comprimento do cabo e aimpedancia de carga. Uma
pequena drea de secdo transversal aumentaria a resisténcia em série dos cabos, induzindo perda de poténcia e variacdes de resposta (fator de amortecimento).

0s conectores devem ser ligados com um cabo minimo de 2,5 mm? (bitola 12). Isso serd perfeitamente satisfatério em condicdes normais. No caso de cabos muito
longos, o tamanho do fio deve exceder esse valor. A tabela a seguir mostra a mudanca na resisténcia, perda de sensibilidade e fator de amortecimento devido aos
efeitos do diametro e comprimento do cabo para duas cargas de impedéncia nominal (4 ohms e 8 ohms). Use esta tabela para determinar um didmetro de cabo
adequado para o comprimento necessario. Para o fator de amortecimento resultante, valores maiores que 20 sdo geralmente considerados adequados para sistemas
de reforco de som de alta qualidade.

(PT_



44 \VQ Series

Fator de Amortecimento *

< Diametro de Cabo
Execu;ao de cabo Perda de ﬁo (dB) _
4 ohm 8 ohm 4o0hm 8ohm
(€1(T] Carga Carga (€1(T]
5 16 0,2 0,1 40 v 80

1,5mm 15 0,10 , v
2,5mm 10 0,04 01 0 108 4 216 v
4mm 6 0,01 0 0 255 v 510 v
6mm 3 0,01 0 0 494 v 988 v
10 33 1,5mm 15 0,20 0,4 0,2 19 X 4 v
2,5mm 10 0,07 0,2 01 55 v m v
4mm 6 0,03 01 0 136 v 272 v
6mm 3 0,01 0 0 282 v 563 v
25 82 1,5mm 15 0,49 1 0,5 8 X 16 v
2,5mm 10 0,18 0,4 0,2 23 v 45 v
4mm 6 0,07 01 01 57 v 114 v
6mm 3 0,03 01 0 123 4 246 v
50 164 1,5mm 15 0,98 19 1 4 X 8 X
2,5mm 10 0,35 0,7 0,4 n X 23 v
4mm 6 0,14 03 01 29 v 58 v
6mm 3 0,06 01 01 64 v 127 v
100 328 15mm 15 1,95 35 19 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X n X
4mm 6 0,27 0,6 03 15 X 29 v
6mm 3 0,12 03 01 32 v 65 v

*0s ntimeros do fator de amortecimento resultantes sao derivados usando um amplificador profissional de boa qualidade

Verificacao de polaridade

E muito importante verificar a polaridade da fiacdo antes de o sistema de alto-falantes voar. Um método simples de fazer isso sem um verificador de polaridade
baseado em pulso para unidades LF ¢ o sequinte: Conecte dois fios aos terminais + ve e -ve de uma bateria PP3. Aplique o fio que esta conectado ao terminal + ve da
bateria a perna do cabo do alto-falante que vocé acredita estar conectado ao pino 1+ do conector do alto-falante e da mesma forma a perna -ve da bateria ao pino 1-.

Se vocé tiver feito a fiacdo corretamente, a unidade de acionamento LF se moverd para frente, indicando que a fiagdo estd correta. Tudo o que resta agora é conectar
o fio do alto-falante + ve ao terminal + ve no amplificador e o fio -ve ao terminal -ve do amplificador. Se, no entanto, o driver LF se mover para trs, as conexdes de
entrada precisam ser invertidas.

Também existem verificadores de polaridade disponiveis no mercado que podem ser usados (IviePAL™, NTI™). Se vocé estiver comissionando um sistema usando um
analisador de espectro, como SMAART™, SYSTUNE™, CLIO™, MLSSA™, verificando a resposta ao impulso para a primeira oscilagdo positiva. Certifique-se de que 0 EQ e a
filtragem de crossover foram removidos antes de verificar.

Se forem encontrados problemas, inspecione a fiagdo do cabo em primeiro lugar. Se vocé estiver usando amplificadores de mais de um fabricante, verifique a
polaridade nos amplificadores e também nos alto-falantes.

Amplificacao e manuseio de energia

Tal como acontece com todos os sistemas de altifalantes profissionais, a poténcia é uma funcdo da capacidade térmica da bobina de voz. Deve-se tomar cuidado para
evitar a execucdo do amplificador em clipe (o corte € o resultado final da sobrecarga de qualquer amplificador). Danos ao alto-falante serao mantidos se o amplificador
ficar preso por um longo periodo de tempo. Deve ser permitido um espaco livre de pelo menos 3 dB. Ao avaliar um amplificador, é importante levar em consideracdo
seu comportamento sob condi¢oes de carga de baixa impedancia. Um sistema de alto-falantes € altamente reativo e, com sinais transitérios, pode exigir mais corrente
do que a impedancia nominal indicaria.

Geralmente, um amplificador de alta poténcia funcionando sem distor¢do causard menos danos ao alto-falante do que um amplificador de baixa poténcia
continuamente reduzindo. Também vale a pena lembrar que um amplificador de alta poténcia rodando com menos de 90% da poténcia de saida geralmente soa muito
melhor do que um amplificador de baixa poténcia rodando a 100%. Um amplificador com capacidade de drive insuficiente nao permitira que o desempenho total ou o
alto-falante sejam realizados.

Eimportante ao usar amplificadores de diferentes fabricantes em uma tnica instalacio que tenham ganhos muito préximos, a variacao deve ser inferior a +/- 0,5
dB. Essa precaucdo é importante para o equilibrio geral do sistema quando apenas um dnico crossover ativo esta sendo usado com vdrios gabinetes; portanto, é
recomendado que os mesmos amplificadores sejam usados o tempo todo.

Nas pdginas de especificagdes, vocé encontrard a capacidade de poténcia dos alto-falantes VQ cotada em trés categorias: -
Média (RMS), Programa e Pico

Recomendamos usar a poténcia do programa listada nas especificacdes do alto-falante para escolher o amplificador correto. Para realizar o potencial total dos alto-
falantes VQ, a poténcia nominal dos amplificadores continua deve ser igual a poténcia do programa dos alto-falantes em sua impedancia nominal.

Quick Start Guide 45

Poténcia de amplificador recomendada da série VQ
VQ60/100 Requisito de energia
Baixa frequéncia 2.000 W em 4 ohms
MF/HF passivo 400 W em 8 ohms
Freqiiéncia Média 400 W em 8 ohms
Alta frequéncia 200 W em 8 ohms
VQDF
MF/HF passivo 400 W em 8 ohms
Freqiiéncia Média 400 W em 8 ohms
Alta frequéncia 200 W em 8 ohms
VQMB 2.000 Wem 4 ohms

Sistemas de gerenciamento de alto-falantes

Os alto-falantes da série Tannoy VQ sdo projetados para serem usados com um processador de sinal eletronico que fornece fungdes de crossover, equalizacdo, atraso e
dindmicas. Recomendamos fortemente Lab Gruppen PLM + ou D Series com predefini¢des de fébrica da biblioteca de carregamento LAKE. LAKE LM26/44 DSP usando
0s mesmos presets de fabrica da biblioteca de carga LAKE juntamente com Lab Gruppen série C ou série FP + usando modelos com poténcia de saida apropriada

para os gabinetes VQ selecionados também é recomendado. O software Lab Gruppen CAFE oferece uma solugéo abrangente para selecionar a melhor combinacao
possivel de produtos da série PLM + ou D para todos os produtos de alto-falantes Tannoy, permitindo que os usudrios tenham dados técnicos precisos de fornecimento
de energia, consumo de energia, saida térmica, requisitos de infraestrutura de cabos e calculadora BOM. Para obter mais informagdes sobre os produtos LAKE e

Lab Gruppen, acesse www.

Montagem e suspensao

0 hardware VQ abordado neste guia foi projetado para oferecer solugdes rapidas, simples e sequras para a montagem de alto-falantes VQ especificos. Este hardware
foi projetado e fabricado com um alto fator de carga de sequranca para sua fun¢ao especifica. Para garantir o uso mais sequro possivel do hardware abordado neste
guia, ele deve ser montado estritamente de acordo com as instrugdes especificadas. As informaces nestes manuais relacionadas a montagem e ao uso seguro desses
acessorios devem ser compreendidas e sequidas.

Alinstalacdo de alto-falantes VQ usando o hardware dedicado deve ser realizada apenas por instaladores totalmente qualificados, de acordo com todos os cédigos de
seguranca exigidos e padrdes que sdo aplicados no local de instalacao.

AVISO: Como os requisitos legais para voos variam de um pais para outro, consulte o escritorio de normas de sequranca local antes de instalar qualquer produto.
Também recomendamos que vocé verifique todas as leis e regulamentos antes de iniciar o trabalho.

0 hardware VQ foi projetado para uso apenas com os alto-falantes da série VQ e nao foi projetado ou pretendido para uso com quaisquer outros produtos comerciais da
Tannoy ou quaisquer outros dispositivos de outros fabricantes. 0 uso de hardware Tannoy Professional para qualquer propésito diferente daquele indicado neste guia
é considerado uso impréprio. Tal uso pode ser muito perigoso como sobrecarregar, modificar; a montagem de qualquer outra forma que ndo seja claramente declarada
no manual ou danificar o hardware do VQ comprometerd a sequranca. As partes componentes de qualquer dispositivo de hardware VQ devem ser montadas apenas
com os kits de acessdrios fornecidos e em estrita conformidade com o manual do usudrio. O uso de outros acessdrios ou métodos de montagem néo aprovados pode
resultar em um sistema de hardware inseguro, reduzindo o fator de sequranca da carga. Soldagem,

Sempre que um alto-falante VQ € fixado a uma superficie usando um dispositivo de hardware VQ, o instalador deve garantir que a superficie seja capaz de suportar

a carga com seqguranca. As ferragens utilizadas devem estar seguras, protegidas e de acordo com 0 manual, fixadas tanto no alto-falante quanto na superficie em
questdo, utilizando apenas os orificios de fixacdo fornecidos de fabrica e descritos no manual. As fixa¢des sequras a estrutura do edificio sdo vitais. Procure a ajuda de
arquitetos, engenheiros estruturais ou outros especialistas em caso de divida.

Todos os alto-falantes utilizados devem ser fornecidos com uma seguranca secundéria independente, com classificacdo correta e fixada com seguranca - além do
dispositivo de hardware principal. Esta sequranca secundadria deve evitar que o alto-falante caia mais de 150 mm (6 “) caso o dispositivo de hardware principal falhe.

AVISO: Em nenhuma circunsténcia use as alcas de um alto-falante para suportar o peso do mesmo, exceto para 0 uso a que se destina: transporte nas maos. As al¢as
nao foram projetadas para suportar a carga do alto-falante para instalagdo tempordria ou permanente.

Alinha de alto-falantes VQ foi projetada para ser suspensa ou empilhada no solo. Esta secdo detalha como configurar fisicamente flyware e arrays VQ. A sequir estdo
0s métodos recomendados para a maioria das situacdes. Situacdes especificas podem exigir outros métodos. E responsabilidade do usudrio determinar a viabilidade e
seguranca dos métodos alternativos e implementé-los de acordo.

(PT_



46 \VQ Series

Voando em um unico gabinete VQ usando olhais

0 método mais simples de voar um dnico gabinete VQ é com um par de olhais de ombro M10 na parte superior, usando um terceiro olhal na parte traseira do gabinete
parainclinar o gabinete.

VEB FORGED EYEBOLT

Q 0s alto-falantes VQ podem ser usados com olhais VEB M10 de alta qualidade com colar de acordo com BS4278: 1984. Os alto-
falantes sao equipados com suportes internos de aco, que também funcionam como pontos de voo, e aceitam olhais VEB M10.

Para instalar os olhais VEB M10, remova os parafusos concavos M10 originais dos locais onde deseja instalar os olhais VEB M10.
Em sequida, substitua esses parafusos M10 rebatidos pelos olhais VEB M10. 0 encarte M10 na parte traseira do gabinete tamhém
aceita um parafuso com olhal VEB M10 e deve ser usado para inclinar o alto-falante no angulo desejado.

IMPORTANTE: E obrigatério por razdes de sequranca que um minimo de dois olhais ligados a duas tiras fixas independentes sejam
usados por gabinete. Nunca suspenda um gabinete do outro usando parafusos de olhal.

Nunca tente usar olhais moldados, ou seja, formados a partir de uma haste de aco e dobrados em um olhal.

Voar em um Unico gabinete VQ em uma orientacao de paisagem usando olhais forjados EBS

VQ Flying Bracket (Single Point Hang Flying Bracket)

Quick Start Guide

47

Para um vdo sequro, flexivel e simples, o suporte VQ Flying foi projetado para suspender o gabinete VQ de um tnico ponto de articulacdo. Isso permite o ajuste preciso

dos angulos de mira com o gabinete no local. 0 alto-falante VQ voado deve ser fornecido com um dispositivo de sequranca secundario independente, classificado

corretamente e conectado com seguranca - além do dispositivo de hardware principal. Esta sequranca secundéria deve evitar que o alto-falante caia mais de 150 mm

(6") caso o dispositivo de hardware principal falhe.

Nota: Todas as fixacdes devem ser travadas por rosca e apertadas a 25 Nm.

A extremidade da haste é usada em conjunto com o suporte mével VQ. Dois tipos de extremidades de haste estdo disponiveis. Um € projetado para aceitar haste

Comnines s s |
1 Arruela Simples M10 3
2 Arruela de pressao M10 3
3 Parafuso M10 x 50mm 3
4 Bracket Flying - VQ 1

roscada UNC de 2" e 0 outro aceita haste roscada de 12 mm. (Haste roscada fornecida pelo usuario).

Item nimero. Descri¢ao Quantidade
1 Extremidade da haste - VQ _ “UNCou 12 mm 3
2 Parafuso M12x45 Cap Head 3
3 M12 Nyloc Nut 3

(PT_



48 \/Q Series Quick Start Guide 49

Remova os dois parafusos escareados M10 frontais localizados na parte superior do gabinete e o parafuso escareado M10 superior na parte superior traseira do : 2

gabinete. Monte o suporte flutuante conforme mostrado. (Ver fig. 1) Placadel Igacao VQ

IMPORTANTE: Apenas os parafusos, fixadores, a prova de vibracao e arruelas lisas fornecidos devem ser usados para montar o suporte mével VQ. Nota: Todas as fixacdes A placa de link VQ € usada para unir um VQ DF ou VQ MB a um gabinete VQ 60 ou VQ 100. Trés placas de ligagao sao usadas para conectar cada gabinete. As placas Link
devem ser travadas por rosca e apertadas a 25 Nm. sao fornecidas como padrao com cada VQ DF e VQ MB.

Quando fixada na posicdo, a extremidade da haste pode ser movida ao longo de qualquer uma das cinco bordas serrilhadas dentro de cada slot para ajustar o angulo Remova os parafusos escareados M10 conforme mostrado no diagrama ao lado. Use os mesmos parafusos para fixar a placa de ligagao no lugar. A placa de ligagao

de inclinacdo dos alto-falantes. (Ver fig. 2) A haste roscada utilizada nao deve ter mais de 300 mm (12") de comprimento. O usudrio é responsével por fornecer a haste ficard alinhada nas reentrancias do gabinete. Dois parafusos M10 mais longos séo fornecidos com as placas de ligacdo. Esses parafusos devem ser usados para fixar a
roscada correta. As especificacdes minimas para a haste roscada séo: - placa do brago traseiro na posicao.

EUA - Grau B7 (1438 Ibs, 650 kgs para haste de % “com base em um fator de sequranca de 10: 1) Nota: Todas as fixacdes devem ser travadas por rosca e apertadas a 25 Nm

Métrico - Grau 10.9 (1459 Ibs, 660 kgs para haste de 12 mm com base em um fator de sequrangca 10: 1)

Use as porcas apropriadas para travar a extremidade da haste na haste roscada (fornecida pelo usudrio). Use uma porca Nyloc na parte superior da haste roscada para
prender a bracadeira da haste (fornecida pelo usudrio).

A haste roscada pode ser conectada a um acessério Uni-Strut com classificacdo adequada.

Sempre use porcas Nyloc para prender a haste roscada ao grampo do poste ou Uni-Strut.

0 aparelhamento de um sistema de som voado pode ser perigoso, a menos que realizado por pessoal qualificado com a experiéncia e certificacdo exigidas para
executar as tarefas necessdrias.

Afixacdo de pontos de suspensdo em um telhado deve ser sempre realizada por um montador profissional e de acordo com as regras locais do local.

Um mdximo de VQ 60 + VQ MB -+ VQ DF (350 Ibs, 160 kg) pode ser voado de uma tinica haste roscada. Essa combinagao carrega um fator de sequranca
de 8: 1. (Verfig. 3)

LINK PLATE

(fig. 1)

Usando o MB VQ para controle de padrao adicional

A placa de link VQ é usada para unir um VQ DF ou VQ MB a um gabinete VQ 60 ou VQ 100. Trés placas de ligacao sdo usadas para conectar cada gabinete. As placas Link
sao fornecidas como padrao com cada VQ DF e VQ MB.

Remova os parafusos escareados M10 conforme mostrado no diagrama ao lado. Use os mesmos parafusos para fixar a placa de ligagao no lugar. A placa de ligacao
ficard alinhada nas reentrancias do gabinete. Dois parafusos M10 mais longos sao fornecidos com as placas de ligacdo. Esses parafusos devem ser usados para fixar a
placa do brago traseiro na posicdo.




50 VQ Series Quick Start Guide 51

Arraying VQ 60 Introduzione

Um dnico VQ 100 pode produzir mais poténcia e clareza em sua drea de largura de feixe de 100 graus do que muitas solucdes em array usando vérios gabinetes, uma | prodotti della gamma completa VQ utilizzano un’esclusiva tecnologia driver per irradiare una sorgente coerente a punto singolo per un controllo della dispersione
grande vantagem ao considerar a estética de seu edificio. Um VQ 100 néo foi projetado para ser arranjado. superiore quando accoppiati alla nostra tromba singola. Questo design avanzato allinea i centri acustici dei trasduttori fornendo un unico fronte d'onda coerente

Dois VQ 60s podem ser dispostos para produzir um angulo de cobertura horizontal bem definido de 120 graus. proveniente dalla gola.

I driver utilizza due diaframmi anulari concentrici. Il pit grande dei due ha una bobina da 3,5 “e riproduce frequenze da 400 Hz a 7 kHz. Un altro grande vantaggio
qui & che non vi & alcun crossover vicino alla regione vocale che garantisce la riproduzione pili naturale e coerente di fase in quest'area critica. Il diaframma HF da
2“subentra a 7 kHz a 22 kHz tramite un crossover passivo o attivo. La fusione esterna & caratterizzata da un ampio dissipatore di calore che garantisce un buon
trasferimento di calore per unelevata tenuta in potenza e una compressione molto bassa.

A placa de matriz VQ é projetada para organizar de maneira ideal dois gabinetes VQ 60. Para encaixar a placa, coloque as caixas no chdo com a borda traseira dos
armadrios se tocando. Remova os dois parafusos escareados M10 e substitua pelo parafuso M10 ou pelos olhais fornecidos. Localize os quatro parafusos com olhal
M10 do kit de fixacao fornecido e insira-os através da placa de arranjo nos pontos de amarragao no gabinete. Eles serdo usados para coletar o array. Repita 0 mesmo
procedimento na parte inferior dos gabinetes, use o parafuso M10. Se voar na orientacdo paisagem, o parafuso M10 pode ser usado em ambas as placas de matriz.

Nota: Todas as fixacdes devem ser travadas por rosca e apertadas a 25 Nm

Dois pontos de captacao independentes sao recomendados para suspender o array. Os principais pontos de captacao so os dois olhais traseiros. Os dois olhais frontais Connettori/ca blaggio
podem ser usados como pontos de seguranca.
Pannelli connettori di ingresso

Nota: VQ 60 e VQ 100 sono configurati come standard per il funzionamento Bi-Amp.

item numero. ‘ Descrigao ‘ fleanticace Il funzionamento Tri-Amp & possibile utilizzando i terminali di ingresso della striscia barriera.

1 Arruela Simples M10 8 R . . . . . . R R . o
11VQ DF & configurato come standard per il funzionamento a singolo amplificatore. Il funzionamento Bi-Amp & possibile utilizzando i terminali di ingresso della

2 Arruela de pressao M10 8 . ;
striscia barriera.

Parafuso M1 N . . . .

3 arafuso M10x 50 mm 8 I1VQ MB & configurato per il funzionamento a singolo amplificatore.

4 Eyebolt M10 4

5 Array Bracket 2 VQ60/100 VQDF < PT

1] 1

INK WIRES VQ 60 INK WIRES || VQ 64DF

TANNOY | 2covren | TANNOY | ccoven |

)PERATION )PERATION

=171 =171

VQ MB




52 VQ Series

I modelli VQ 60, VQ 100 e VQ DF sono dotati di connettori Neutrik Speakon a 4 poli e striscia di barriera per installazioni fisse.
Connessioni Speakon -
Speakon presenta i sequenti vantaggi rispetto ai connettori di tipo EP e XLR:

Tutte le terminazioni sono senza saldatura; questo semplifica la vita al momento dellinstallazione o quando & richiesta I'assistenza sul campo. | contatti accettano cavi
da 6 mm quadrati con un diametro esterno fino a 15 mm e una corrente nominale di 30 Amp. | pin delle 2 prese Speakon identificate ingresso/uscita sul retro del
pannello di ingresso sono parallele all'interno della custodia per facilitare la connessione ad altoparlanti VQ aggiuntivi (eccetto VQ MB). Tannoy ha adottato la
convenzione di cablaggio audio professionale standard per il prodotto VQ.

* v VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)

MF/HF Positive (+ve) . .
MF/HF Negative (-ve) No connections on pins

MF/HF Negative (-ve) 2+and 2-

Collegamenti della striscia di barriera

La striscia barriera puo ospitare fili scoperti, conduttori in scatola o connettori a forcella. Le strisce barriera sono specificamente progettate per |'utilizzo in installazioni
fisse/permanenti. Il VQ 60 e il VQ 100 sono configurati per il funzionamento a doppia amplificazione; rimuovendo i 4 fili di collegamento tra le due strisce barriera sul
pannello di terminazione & possibile il funzionamento tri-amp. Il VQ DF & configurato per il funzionamento a singolo amplificatore; rimuovendo i 4 fili di collegamento
tra le due strisce barriera sul pannello di terminazione & possibile il funzionamento in biamplificazione.

Biamplificatore VQ 60/100 — Collegare I'amplificatore LF a LF +/- sulla fila superiore della striscia barriera.

Collegare I'amplificatore MF/HF a MF/HF +/- sulla riga inferiore della striscia barriera.

VQ 60/100 Tri-amp — Collegare I'amplificatore LF a LF +/- sulla fila superiore della striscia barriera.
Collegare I'amplificatore MF a MF +/- sulla fila superiore della striscia barriera.

Collegare I'amplificatore HF a HF +/- sulla fila superiore della striscia barriera.
VQ DF Amplificatore singolo—  Collegare 'amplificatore MF/HF a MF/HF +/- sulla riga inferiore della striscia barriera.

VQ DF Bi-amp — Collegare I'amplificatore MF a MF +/- sulla fila superiore della striscia barriera.

Collegare I'amplificatore HF a HF +/- sulla fila superiore della striscia barriera.
VQMB - Collegare I'amplificatore ai terminali LF +/-.

Si noti che il collegamento in loop ad altoparlanti aggiuntivi avra I'effetto di ridurre il carico sull'amplificatore. Evitare di caricare amplificatori troppo bassi. Se
I'amplificatore & valutato per un minimo di 4 ohm, non dargli un carico di 2 ohm. Anche quando I'amplificatore & valutato fino a 2 ohm, ricorda che per stare al passo
con la potenza il circuito avra una corrente molto piti alta di prima e il cablaggio dovra gestirla. Non solo aumenteranno le perdite di cablaggio, ma verra degradato
anche il fattore di smorzamento del sistema. Potrebbe essere meglio far passare cavi separati dall'amplificatore agli altoparlanti o dividere il carico su due canali
dell'amplificatore.

La scelta del cavo consiste principalmente nella selezione della corretta area della sezione trasversale in relazione alla lunghezza del cavo e all'impedenza di carico.
Una piccola area della sezione trasversale aumenterebbe la resistenza in serie dei cavi, inducendo perdite di potenza e variazioni di risposta (fattore di smorzamento).

| connettori devono essere cablati con un cavo di almeno 2,5 mm quadrati (calibro 12). Cio sara perfettamente soddisfacente in condizioni normali. In caso di cavi
molto lunghi, la dimensione del cavo dovrebbe essere superiore a questa. La tabella sequente mostra la variazione di resistenza, perdita di sensibilita e fattore di
smorzamento a causa degli effetti del diametro e della lunghezza del cavo per due carichi di impedenza nominale (4 ohm e 8 ohm). Utilizzare questa tabella per
determinare un diametro del cavo adatto per la lunghezza del percorso richiesta. Per il fattore di smorzamento risultante, valori maggiori di 20 sono generalmente
considerati adeguati per sistemi di amplificazione del suono di alta qualita.

Quick Start Guide 53

Fattore di smorzamento *

Diametro di (€17} T
(able Run Perdlta dl ﬁlo (dB) _
40hm 8ohm 40hm 8ohm
Caricare Caricare Caricare Caricare
5 16 0.2 0.1 40 v 80

1,5mm 15 0.10 ) v

2,5mm 10 0,04 0.1 0 108 4 216 v

4mm 6 0,01 0 0 255 v 510 v

6mm 3 0,01 0 0 494 v 988 v

10 33 1,5mm 15 0.20 0.4 0.2 19 X 4H v
2,5mm 10 0,07 0.2 0.1 55 v m v

4mm 6 0,03 0.1 0 136 v 272 v

6mm 3 0,01 0 0 282 v 563 v

25 82 1,5mm 15 0.49 1 0,5 8 X 16 v
2,5mm 10 0.18 0.4 0.2 23 v 45 v

4mm 6 0,07 0.1 0.1 57 v 114 v

6mm 3 0,03 0.1 0 123 v 246 v

50 164 1,5mm 15 0.98 19 1 4 X 8 X
2,5mm 10 0.35 0.7 0.4 n X 23 v

4mm 6 0.14 0.3 0.1 29 v 58 v

6mm 3 0,06 0.1 0.1 64 v 127 v

100 328 1,5mm 15 1.95 35 1.9 2 X 4 X
2,5mm 10 0.70 14 0.7 6 X n X

4mm 6 0.27 0.6 0.3 15 X 29 v

6mm 3 0.12 0.3 0.1 32 v 65 v

*|valori del fattore di smorzamento risultante sono derivati utilizzando un amplificatore professionale di buona qualita

Controllo della polarita

E molto importante controllare la polarita del cablaggio prima di far funzionare il sistema di altoparlanti. Un metodo semplice per esequire questa operazione senza

un controllore di polarita basato suimpulsi per le unita LF & il sequente: collegare due fili ai terminali + ve e -ve di una batteria PP3. Applicare il filo che & collegato al
terminale + ve della batteria alla gamba del cavo dell'altoparlante che si ritiene sia collegata al pin 1+ del connettore dell'altoparlante e allo stesso modo la gamba -ve
della batteria al pin 1-.

Se & stato cablato correttamente, I'unita di trasmissione LF si muovera in avanti, indicando che il cablaggio & corretto. Non resta che collegare il cavo dell‘altoparlante
+ ve al terminale + ve dell'amplificatore e il cavo -ve al terminale -ve dell'amplificatore. Se invece il driver LF si sposta all'indietro, & necessario invertire le
connessioni di ingresso.

Esistono anche verificatori di polarita disponibili in commercio che possono essere utilizzati (IviePAL™, NTI™). Se si mette in servizio un sistema che utilizza un
analizzatore di spettro come SMAART™, SYSTUNE™, CLIO™, MLSSA™ controllando la risposta all'impulso per il primo swing positivo. Assicurati che I'EQ e il filtro
crossover siano stati rimossi prima di controllare.

In caso di problemi, ispezionare prima il cablaggio del cavo. Se stai usando amplificatori di piti di un produttore, controlla la polarita sia sugli amplificatori che
sugli altoparlanti.

Amplificazione e gestione della potenza

Come per tuttii sistemi di altoparlanti professionali, la gestione della potenza & una funzione della capacita termica della bobina mobile. Bisogna fare attenzione per
evitare di far girare I'amplificatore in clip (il clipping & il risultato finale dell'overdrive di qualsiasi amplificatore). Se I'amplificatore viene inserito in clip per un periodo
di tempo prolungato, si subiranno danni all'altoparlante. Dovrebbe essere consentito un margine di almeno 3dB. Quando si valuta un amplificatore, & importante tener
conto del suo comportamento in condizioni di carico a bassa impedenza. Un sistema di altoparlanti & altamente reattivo e con segnali transitori pud richiedere piu
corrente di quanto indicherebbe I'impedenza nominale.

Generalmente un amplificatore di potenza pi alto che funziona senza distorsioni fara meno danni all’altoparlante rispetto a un amplificatore di potenza inferiore che
si interrompe continuamente. Vale anche la pena ricordare che un amplificatore ad alta potenza che funziona a meno del 90% della potenza di uscita generalmente
suona molto meglio di un amplificatore di potenza inferiore che funziona al 100%. Un amplificatore con capacita di pilotaggio insufficiente non consentira di realizzare
e prestazioni complete o I'altoparlante.

Eimportante quando si utilizzano amplificatori di produttori diversi in una singola installazione che abbiano gquadagni molto vicini, la variazione deve essere inferiore
a+/-0,5 dB. Questa precauzione & importante per il bilanciamento del sistema complessivo quando viene utilizzato un solo crossover attivo con pil cabinet; si
raccomanda quindi di utilizzare sempre gli stessi amplificatori.

Nelle pagine delle specifiche troverai la capacita di tenuta in potenza degli altoparlanti VQ citata in tre categorie: -
Media (RMS), programma e picco

Si consiglia di utilizzare la potenza del programma elencata nelle specifiche degli altoparlanti per scegliere I'amplificatore corretto. Per realizzare il pieno potenziale degli
altoparlanti VQ, la potenza continua nominale degli amplificatori deve essere uguale alla potenza del programma degli altoparlanti alla sua impedenza nominale.



54 VQ Series

Potenza dell'amplificatore consigliata per la serie VQ

VQ60/100 Requisiti di potenza
Bassa frequenza 2000 W su 4 ohm
MF/HF passivo 400 W su 8 ohm
Frequenza media 400 W su 8 ohm
Alta frequenza 200 W su 8 ohm
VQDF
MF/HF passivo 400 W su 8 ohm
Frequenza media 400 W su 8 ohm
Alta frequenza 200 W su 8 ohm
VQMB 2000 W su 4 ohm

Sistemi di gestione degli altoparlanti

Gli altoparlanti della serie Tannoy VQ sono progettati per essere utilizzati con un processore di segnale elettronico che fornisce funzioni di crossover, equalizzazione,
ritardo e dinamiche. Consigliamo vivamente Lab Gruppen PLM + o serie D con preset di fabbrica dalla libreria di caricamento LAKE. Si consiglia inoltre di utilizzare
LAKE LM26/44 DSP utilizzando le stesse preimpostazioni di fabbrica dalla libreria di caricamento LAKE accoppiato con la serie Lab Gruppen Co la serie FP + utilizzando
modelli con potenza di uscita appropriata per gli armadi VQ selezionati. Il software Lab Gruppen CAFE fornisce una soluzione completa per selezionare la migliore
combinazione possibile di prodotti della serie PLM + o D per tutti i prodotti di altoparlanti Tannoy, consentendo agli utenti di avere dati tecnici precisi di erogazione di
potenza, assorbimento di potenza, uscita termica, requisiti dell'infrastruttura del cavo e calcolatore della distinta base. Per ulteriori informazioni sui prodotti LAKE e
Lab Gruppen, visitare il sito www.

Sartiame e sospensioni

L'hardware VQ trattato in questa guida @ stato progettato per offrire soluzioni rapide, semplici e sicure per il montaggio di altoparlanti VQ specifici. Questo hardware

@ stato progettato e prodotto con un elevato fattore di carico di sicurezza per il suo ruolo specifico. Per garantire I'uso piti sicuro possibile dell’hardware trattato in
questa guida, deve essere assemblato in stretta conformita con le istruzioni specificate. Le informazioni contenute in questi manuali relative all'assemblaggio e all'uso
sicuro di questi accessori devono essere comprese e sequite.

Linstallazione degli altoparlanti VQ utilizzando I'hardware dedicato deve essere esequita solo da installatori qualificati, in conformita con tutti i codici e gli standard di
sicurezza richiesti e applicati nel luogo di installazione.

AVVERTENZA: poiché i requisiti legali per il volo cambiano da un paese all‘altro, consultare I'ufficio per gli standard di sicurezza locale prima di installare qualsiasi
prodotto. Ti consigliamo inoltre di controllare attentamente eventuali leggi e statuti prima di iniziare il lavoro.

L'hardware VQ & stato progettato per essere utilizzato solo con altoparlanti della serie VQ e non & progettato o inteso per I'uso con altri prodotti Tannoy Commercial
0 altri dispositivi di altri produttori. L'utilizzo dell’hardware Tannoy Professional per qualsiasi scopo diverso da quello indicato in questa guida & considerato un uso
improprio. Tale uso puo essere molto pericoloso in quanto sovraccarico, modificante; il montaggio in un modo diverso da quello chiaramente indicato nel manuale
o il danneggiamento dell’'hardware VQ compromettera la sicurezza. | componenti di qualsiasi dispositivo hardware VQ devono essere assemblati esclusivamente
utilizzando i kit accessori forniti e in stretta osservanza del manuale utente. L'uso di altri accessori o metodi di assemblaggio non approvati puo causare un sistema
hardware non sicuro riducendo il fattore di sicurezza del carico. Saldatura,

Ogni volta che un altoparlante VQ viene fissato a una superficie utilizzando un dispositivo hardware VQ, I'installatore deve assicurarsi che la superficie sia in grado di
supportare in modo sicuro e protetto il carico. La ferramenta utilizzata deve essere fissata in modo sicuro, sicuro e conforme al manuale, fissata sia all‘altoparlante che
alla superficie in questione, utilizzando esclusivamente i fori di fissaggio forniti di serie e trattati nel manuale. Un fissaggio sicuro alla struttura dell'edificio é vitale. In
caso di dubbi, chiedere aiuto ad architetti, ingegneri strutturali o altri specialisti.

Tutti gli altoparlanti in volo devono essere dotati di una sicurezza secondaria indipendente, correttamente valutata e fissata in modo sicuro, oltre al dispositivo
hardware principale. Questa sicurezza secondaria deve impedire che I'altoparlante cada di oltre 150 mm (6 ) in caso di guasto del dispositivo hardware principale.

ATTENZIONE: non utilizzare in nessun caso le maniglie di un altoparlante per sostenere il peso dell'altoparlante se non per I'uso previsto: trasporto a mano. Le maniglie
non sono classificate per supportare il carico dell'altoparlante per installazioni temporanee o permanenti.

La gamma di altoparlanti VQ & pensata per essere sospesa o impilata a terra. Questa sezione descrive in dettaglio come configurare fisicamente flyware e array VQ. |
sequenti sono i metodi consigliati per la maggior parte delle situazioni. Situazioni specifiche possono richiedere altri metodi. E responsabilita dell'utente determinare
la fattibilita e la sicurezza di metodi alternativi e implementarli di conseguenza.

Quick Start Guide 55

Volare un singolo armadio VQ utilizzando golfari

I metodo piti semplice per far volare un singolo cabinet VQ & con un paio di golfari M10 sulla parte superiore, utilizzando un terzo golfare sul retro del cabinet per
inclinare il cabinet.

OCCHIELLO FORGIATO VEB

Gli altoparlanti VQ possono essere pilotati con golfari VEB M10 di alta qualita con collare secondo BS4278: 1984. Gli altoparlanti
sono dotati di bretelle interne in acciaio, che fungono anche da punti volanti, e accettano golfari VEB M10.

Per installare i golfari VEB M10, rimuovere le viti a testa svasata M10 originali dalle posizioni in cui si desidera installare i golfari
VEB M10. Quindi sostituire queste viti M10 svasate con i golfari VEB M10. L'inserto M10 sul retro dell'armadio accetta anche un
golfare VEB M10 e deve essere utilizzato per inclinare I'altoparlante all'angolazione desiderata.

T U

IMPORTANTE: per motivi di sicurezza & imperativo utilizzare almeno due golfari collegati a due cinghie fissate
indipendentemente per armadio. Non sospendere mai una custodia dall‘altra utilizzando golfari.

Non tentare mai di utilizzare golfari sagomati, ovvero formati da un‘asta d'acciaio e piegati in un occhio.

Volare un singolo cabinet VQ con orientamento orizzontale utilizzando golfari forgiati EBS




56 VQ Series

VQ Flying Bracket (Single Point Hang Flying Bracket)

Per un volo sicuro, flessibile e semplice, la staffa VQ Flying & progettata per sospendere Iarmadio VQ da un unico punto di rotazione. Cio consente una regolazione
precisa degli angoli di mira con I'armadio in situ. L'altoparlante VQ in volo deve essere dotato di una sicurezza secondaria indipendente, valutata correttamente e
fissata saldamente, oltre al dispositivo hardware principale. Questa sicurezza secondaria deve impedire che I'altoparlante cada per piti di 150 mm (6") in caso di guasto
del dispositivo hardware principale.

Nota: tuttii fissaggi devono essere serrati a vite e serratia 25 Nm.

CE T
1

Rondella piana M10 3
2 Rondella elastica M10 3
3 Vite M10 x 50 mm 3
4 Staffa volante - VQ 1

L'estremita dello stelo viene utilizzata insieme alla staffa volante VQ. Sono disponibili due tipi di estremita stelo. Uno & progettato per accettare barre filettate UNC da
4" e l'altro accetta barre filettate da 12 mm. (Barra filettata fornita dall'utente).

0Oggetto numero. Descrizione Quantita
1 Estremita stelo-VQ _“"UNCo 12 mm 3
2 Vite M12x45 Cap Testa 3
3 Dado Nyloc M12 3

Quick Start Guide 57

Rimuovere le due viti M10 a testa svasata anteriori situate sulla parte superiore dell'armadio e la vite a testa svasata M10 superiore sulla parte posteriore superiore
dell'armadio. Montare la staffa volante come mostrato. (Vedifig.1)

IMPORTANTE: per assemblare la staffa volante VQ devono essere utilizzate solo le viti, i dispositivi di fissaggio, le rondelle a prova di vibrazioni e le rondelle piane
fornite. Nota: tutti i fissaggi devono essere serrati a vite e serratia 25 Nm.

Quando & fissata in posizione, I'estremita dell'asta pud essere spostata lungo uno qualsiasi dei cinque bordi seghettati allinterno di ciascuna fessura per regolare con
precisione I'angolo di inclinazione degli altoparlanti. (Vedi fig. 2) La barra filettata utilizzata non deve essere piti lunga di 300 mm (12"). Lutente & responsabile della
fornitura della barra filettata corretta. Le specifiche minime per |'asta filettata sono: -

USA - Grado B7 (1438 Ibs, 650 kg per canna da ¥ “basato su un fattore di sicurezza di 10: 1)
Metrico - Grado 10.9 (1459 libbre, 660 kg per asta da 12 mm basato su un fattore di sicurezza 10: 1)

Utilizzare i dadi appropriati per bloccare I'estremita dell'asta all‘asta filettata (fornita dall'utente). Utilizzare un dado Nyloc nella parte superiore dell'asta filettata per
fissare il morsetto del palo (fornito dall'utente).

L'asta filettata puo essere fissata a un accessorio Uni-Strut adequatamente valutato.
Utilizzare sempre i dadi Nyloc per fissare la barra filettata al morsetto per palo o Uni-Strut.

L'armamento di un sistema audio in volo puo essere pericoloso a meno che non venga intrapreso da personale qualificato con I'esperienza e la certificazione richieste
per esequire le attivita necessarie.

I fissaggio dei punti di sospensione in un tetto deve essere sempre effettuato da un montatore professionista e in conformita con le regole locali del luogo.

Un massimo di VQ 60 + VQ MB + VQ DF (350 Ibs, 160 kg) puo essere pilotato da una singola barra filettata. Questa combinazione ha un fattore di sicurezza di 8: 1.
(Vedifig.3)

(fig. 1)

) \ .
-I.'c‘n.“_i.nl-:
O L S
SR "l';‘l“n'n‘:
O AV,
L) 1) A Ly ) ) Ly
LR G

O
A
O




58 VQ Series

Piastra VQ Link

La piastra di collegamento VQ viene utilizzata per unire un VQ DF 0 VQ MB a un cabinet VQ 60 0 VQ 100. Tre piastre di collegamento vengono utilizzate per collegare
ciascun armadio. Le piastre Link sono fornite di serie con ogni VQ DF e VQ MB.

Rimuovere le viti M10 a testa svasata come mostrato nello schema a lato. Utilizzare le stesse viti per fissare la piastra di collegamento in posizione. La piastra di
collegamento si trovera a filo nelle rientranze del cabinet. Due bulloni M10 pili lunghi sono forniti con le piastre di collegamento. Questi bulloni devono essere utilizzati
per fissare la piastra del collegamento posteriore in posizione.

Nota: tuttii fissaggi devono essere serrati a vite e serratia 25 Nm

LINK PLATE

Utilizzo di VQ MB per un ulteriore controllo del pattern

La piastra di collegamento VQ viene utilizzata per unire un VQ DF 0 VQ MB a un cabinet VQ 60 0 VQ 100. Tre piastre di collegamento vengono utilizzate per collegare
ciascun armadio. Le piastre Link sono fornite di serie con ogniVQ DF e VQ MB.

Rimuovere le viti M10 a testa svasata come mostrato nello schema a lato. Utilizzare le stesse viti per fissare la piastra di collegamento in posizione. La piastra di
collegamento si trovera a filo nelle rientranze del cabinet. Due bulloni M10 pit lunghi sono forniti con le piastre di collegamento. Questi bulloni devono essere utilizzati
per fissare la piastra del collegamento posteriore in posizione.

Quick Start Guide 59

Arraying VQ 60

Un singolo VQ 100 pud produrre pill potenza e chiarezza sulla sua area di larghezza di fascio di 100 gradi rispetto a molte soluzioni in serie che utilizzano pitl armadi, un
grande vantaggio se si considera |'estetica dell’edificio. Un VQ 100 non & progettato per essere messo in serie.

E possibile disporre in serie due VQ 60 per produrre un angolo di copertura orizzontale ben definito di 120 gradi.

La piastra array VQ & progettata per disporre in modo ottimale due cabinet VQ 60. Per montare la piastra, posizionare le scatole a terra con il bordo posteriore

degli armadi a contatto. Rimuovere i due bulloni a testa svasata M10 e sostituirli con la vite M10 o con i golfari in dotazione. Individuare i quattro golfari M10 dal

kit di fissaggio in dotazione e inserirli attraverso la piastra dell’array nei punti di fissaggio dell'armadio. Questi verranno utilizzati per prelevare I'array.Ripetere la
stessa procedura nella parte inferiore degli armadietti, utilizzare la vite M10. Se si vola in orientamento orizzontale, la vite M10 pud essere utilizzata su entrambe le
piastre dellarray.

Nota: tuttii fissaggi devono essere serrati a vite e serratia 25 Nm

Si consigliano due punti di presa indipendenti per sospendere I'array. | punti di prelievo principali sono i due golfari posteriori. | due golfari anteriori possono essere
utilizzati come punti di sicurezza.

0ggetto numero. ‘ Descrizione ‘ Quantita
1 Rondella piana M10 8
2 Rondella elastica M10 8
3 Vite M10 x 50 mm 8
4 Golfare M10 4
5 Staffa per array 2




60 VQ Series

Invoering

De producten van het VQ-assortiment maken gebruik van een unieke drivertechnologie om een coherente enkelpuntsbron uit te stralen voor superieure
dispersiecontrole wanneer ze worden gekoppeld aan onze enkele hoorn. Dit geavanceerde ontwerp lijnt de akoestische centra van de transducers uit en zorgt voor een
enkel coherent golffront dat uit de keel komt.

De aandrijving maakt gebruik van twee concentrische ringvormige diafragma’s. De grootste van de twee heeft een 3,5 "spreekspoel en reproduceert frequenties
van 400 Hz tot 7 kHz. Een ander groot voordeel hier is dat er nergens in de buurt van het vocale gebied een crossover is die de meest natuurlijke en fasecoherente
reproductie op dit kritieke gebied garandeert. Het 2 "HF-diafragma neemt het over van 7 kHz tot 22 kHz via een passieve of actieve crossover. Het externe gietstuk is
voorzien van uitgebreide heatsinking, wat zorgt voor een goede warmteoverdracht voor een hoge belastbaarheid en een zeer lage vermogenscompressie.

Connectoren/bekabeling

Ingangsconnectorpanelen

Opmerking: De VQ 60 en VQ 100 zijn standaard geconfigureerd voor Bi-Amp-werking.

Tri-Amp-werking is mogelijk met behulp van de ingangsaansluitingen van de barriérestrip.

De VQ DF is standaard geconfigureerd voor gebruik met één versterker. Bi-Amp-werking is mogelijk met behulp van de ingangsaansluitingen van de barriérestrip.

De VQ MB is geconfigureerd voor gebruik met één versterker.

VQ60/100 VQ DF

1] 1]

INK WIRES VQ 60 INK WIRES || VQ 64DF

TANNOY ] REQUIRED - TANNOY ] REQUIRED -

DR PASSIVE DR PASSIVE
)PERATION )PERATION

=171 =171

VQ MB

Quick Start Guide 61

De VQ 60, VQ 100 en VQ DF zijn voorzien van 4-polige Neutrik Speakon” connectoren en barriérestrip voor vaste installaties.
Speakon-verbindingen -
Speakon heeft de volgende voordelen ten opzichte van EP- en XLR-type connectoren:

Alle aansluitingen zijn soldeerloos; dit maakt het leven gemakkelijker op het moment van installatie of wanneer onderhoud op locatie vereist is. De contacten zijn
geschikt voor draad van 6 vierkante mm met een buitendiameter van maximaal 15 mm en een stroomsterkte van 30 Ampére. De pinnen van de 2 Speakon-
aansluitingen die zijn geidentificeerd als ingang/uitgang aan de achterkant van het ingangspaneel, zijn parallel in de behuizing geplaatst om de aansluiting op extra
VQ-luidsprekers (behalve de VQ MB) te vergemakkelijken. Tannoy heeft de standaard professionele audiokabelconventie overgenomen voor het VQ-product

i VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

No connections on pins

1+and 1- LF Positive (+ve)
mzni EZST:I;:(‘_\::) MF/HF Positive (+ve) No connections on pins
9 MF/HF Negative (-ve) 2+and 2-

Aansluitingen barriérestrip

De barriérestrip is geschikt voor blanke draad, vertinde kabels of platte connectoren. De barriérestrippen zijn specifiek ontworpen voor gebruik in vaste/permanente
installaties. De VQ 60 en VQ 100 zijn geconfigureerd voor bi-amp-werking; door het verwijderen van de 4 verbindingsdraden tussen de twee barriérestrips op het
aansluitpaneel is een tri-amp-werking mogelijk. De VQ DF is geconfigureerd voor gebruik met één versterker; door het verwijderen van de 4 verbindingsdraden tussen
de twee barriérestrippen op het aansluitpaneel is bi-amp-werking mogelijk.

VQ60/100 Bi-amp — Sluit de LF-versterker aan op LF +/- op de bovenste rij van de barrierestrip.

Sluit de MF/HF-versterker aan op de MF/HF +/- op de onderste rij van de barriérestrip.

VQ60/100 Tri-amp — Sluit de LF-versterker aan op LF 4/- op de bovenste rij van de barriérestrip.
Sluit de MF-versterker aan op de MF +/- op de bovenste rij barriérestrip.

Sluit de HF-versterker aan op HF +/- op de bovenste rij barriérestrip.

VQ DF enkele versterker — Sluit de MF/HF-versterker aan op de MF/HF +/- op de onderste rij van de barriérestrip.

VQ DF Bi-amp — Sluit de MF-versterker aan op de MF +/- op de bovenste rij barriérestrip.
Sluit de HF-versterker aan op HF +/- op de bovenste rij barriérestrip.
VQMB - Verbind de versterker met de LF +/- aansluitingen.

Merk op dat het doorlussen naar extra luidsprekers de belasting van de versterker vermindert. Voorkom dat versterkers te laag worden geladen. Als de versterker
geschikt is voor minimaal 4 ohm, geef hem dan geen belasting van 2 ohm. Zelfs als de versterker een vermogen heeft van minder dan 2 ohm, onthoud dan dat
om het vermogen bij te houden het circuit een veel hogere stroom zal hebben dan voorheen en dat de bedrading dit zal moeten verwerken. Niet alleen zullen de
bedradingsverliezen toenemen, maar de dempingsfactor van het systeem zal ook afnemen. Het is misschien beter om aparte kabels van de versterker naar de
luidsprekers te leiden of de belasting over twee versterkerkanalen te verdelen.

Kabelkeuze bestaat voornamelijk uit het selecteren van de juiste doorsnede in relatie tot de kabellengte en de belastingsimpedantie. Een kleine dwarsdoorsnede zou
de serieweerstand van de kabels vergroten, waardoor vermogensverlies en responsvariaties (dempingsfactor) ontstaan.

Connectoren moeten worden bedraad met een kabel van minimaal 2,5 mm (12 gauge). Dit zal onder normale omstandigheden perfect bevredigend zijn. In het geval
van zeer lange kabellengtes, moet de draaddikte groter zijn. De volgende tabel toont de verandering in weerstand, gevoeligheidsverlies en dempingsfactor als gevolg
van de effecten van kabeldiameter en lengte voor twee nominale impedantiebelastingen (4 ohm en 8 ohm). Gebruik deze tabel om een geschikte kabeldiameter te
bepalen voor de lengte die u nodig heeft. Voor de resulterende dempingsfactor worden waarden groter dan 20 over het algemeen als voldoende beschouwd voor
hoogwaardige geluidsversterkingssystemen.



62 VQ Series

Kabelbaan Diameter van Kabel
geleider Weerstand

Draadverlies (dB)

40hm 8ohm 40hm 8ohm
Laden Laden Laden Laden

1,5mm 0,10 v

2,5mm 10 0,04 0.1 0 108 / 216 v

4mm 6 0,01 0 0 255 v 510 v

6mm 3 0,01 0 0 494 ve 988 v

10 33 1,5mm 15 0,20 0,4 0.2 19 X 4 v
2,5mm 10 0,07 0.2 0.1 55 v m v

4mm 6 0,03 0.1 0 136 Ve 272 v

6mm 3 0,01 0 0 282 ve 563 v

25 82 1,5mm 15 0,49 1 0,5 8 X 16 v
2,5mm 10 0,18 0,4 0.2 23 v 45 v

4mm 6 0,07 0.1 0.1 57 ve 114 Ve

6mm 3 0,03 0.1 0 123 v/ 246 v

50 164 1,5mm 15 0.98 1.9 1 4 X 8 X
2,5mm 10 0,35 0,7 0,4 n X 23 v

4mm 6 0,14 0,3 0.1 29 v/ 58 v

6mm 3 0,06 0.1 0.1 64 v 127 v

100 328 1,5mm 15 1,95 3.5 1.9 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X n X

4mm 6 0.27 0,6 0,3 15 X 29 v

6mm 3 0.12 0,3 0.1 32 v 65 v

*De resulterende waarden voor de dempingsfactor zijn afgeleid met een professionele versterker van goede kwaliteit

Polariteit controleren

Het is zeer belangrijk om de polariteit van de bedrading te controleren voordat het luidsprekersysteem wordt gevlogen. Een eenvoudige methode om dit te doen
zonder een pulsgebaseerde polariteitscontrole voor LF-units is als volgt: Sluit twee draden aan op de + ve en -ve aansluitingen van een PP3-batterij. Breng de draad
die is aangesloten op de + ve-pool van de batterij aan op de luidsprekerkabelpoot die u denkt te zijn aangesloten op pin 1+ van de luidsprekerconnector en ook de
-ve-poot van de batterij op pin 1-.

Als u deze correct hebt aangesloten, zal de LF-aandrijfeenheid naar voren bewegen, wat aangeeft dat de bedrading correct is. Nu hoeft u alleen nog maar de +
ve luidsprekerkabel aan te sluiten op de + ve aansluiting op de versterker en de -ve kabel op de -ve aansluiting op de versterker. Als de LF-driver echter achteruit
beweegt, moeten de ingangsverbindingen worden omgekeerd.

Er zijn ook in de handel verkrijghare polariteitcontroles die kunnen worden gebruikt (IviePAL™, NTI™). Als u een systeem in bedrijf stelt met een spectrumanalysator
zoals SMAART™, SYSTUNE™, CLIO™, MLSSA™ door de impulsresponsie voor de eerste positieve swing te controleren. Zorg ervoor dat EQ en crossover-filtering zijn
verwijderd voordat u gaat controleren.

Inspecteer bij problemen in eerste instantie de kabelbedrading. Als u versterkers van meer dan één fabrikant gebruikt, controleer dan de polariteit bij zowel de
versterkers als de luidsprekers.

Versterking en vermogensafhandeling

Zoals bij alle professionele luidsprekersystemen, is de belastbaarheid een functie van de thermische capaciteit van de spreekspoel. Er moet voor worden gezorgd dat de
versterker niet in de clip loopt (clippen is het eindresultaat van het oversturen van een versterker). Schade aan de luidspreker zal worden opgelopen als de versterker
gedurende langere tijd in de clip wordt gedreven. Stahoogte van minimaal 3dB moet worden toegestaan. Bij het evalueren van een versterker is het belangrijk om
rekening te houden met zijn gedrag onder lage impedantie belasting. Een luidsprekersysteem is zeer reactief en kan bij transiénte signalen meer stroom nodig hebben
dan de nominale impedantie zou aangeven.

Over het algemeen zal een versterker met een hoger vermogen die vrij van vervorming werkt, minder schade aan de luidspreker aanrichten dan een versterker met een
lager vermogen die voortdurend afknipt. Het is ook de moeite waard eraan te denken dat een krachtige versterker die op minder dan 90% van het uitgangsvermogen
werkt, over het algemeen een stuk beter klinkt dan een versterker met een lager vermogen die op 100% werkt. Een versterker met onvoldoende aandrijfvermogen zal
het niet mogelijk maken de volledige prestatie of de luidspreker te realiseren.

Het is belangrijk bij het gebruik van versterkers van verschillende fabrikanten in een enkele installatie dat ze zeer nauw bij elkaar passende versterkingen hebben, de
variatie moet minder zijn dan +/- 0,5 dB. Deze voorzorgsmaatregel is belangrijk voor de algehele systeembalans wanneer slechts één actieve crossover wordt gebruikt
met meerdere kasten; Het wordt daarom aanbevolen om overal dezelfde versterkers te gebruiken.

Op de specificatiepagina’s vindt u het vermogen van de VQ-luidsprekers vermeld in drie categorieén: -
Gemiddeld (RMS), programma en piek

We raden aan om het programmavermogen te gebruiken dat wordt vermeld in de luidsprekerspecificaties om de juiste versterker te kiezen. Om het volledige potentieel
van de VQ-luidsprekers te realiseren, moet het nominale continue vermogen van de versterkers gelijk zijn aan het programmavermogen van de luidsprekers bij de
nominale impedantie.

Quick Start Guide 63

VQ-serie Aanbevolen versterkervermogen
VQ60/100 Benodigd vermogen
Lage frequentie 2000 W in 4 ohm
Passieve MF/HF 400 Win 8 ohm
Middenfrequentie 400 W in 8 ohm
Hoge frequentie 200 Win 8 ohm
VQDF
Passieve MF/HF 400 Win 8 ohm
Middenfrequentie 400Win8ohm
Hoge frequentie 200 Win 8 ohm
VQMB 2000 Win 4 ohm

Luidsprekerbeheersystemen

Luidsprekers uit de Tannoy VQ-serie zijn ontworpen om te worden gebruikt met een elektronische signaalprocessor die crossover-, egalisatie-, vertragings- en
dynamische functies biedt. We raden Lab Gruppen PLM -+ of D-serie met fabrieksinstellingen uit de LAKE-laadbibliotheek ten zeerste aan. LAKE LM26/44 DSP met
dezelfde fabrieksinstellingen uit de LAKE load-bibliotheek in combinatie met Lab Gruppen C-serie of FP -+ -serie met modellen met het juiste uitgangsvermogen
voor de geselecteerde VQ-kasten wordt ook aanbevolen. Lab Gruppen CAFE-software biedt een uitgebreide oplossing voor het selecteren van de best mogelijke
combinatie van producten uit de PLM + of D-serie voor alle Tannoy-luidsprekerproducten, waardoor gebruikers beschikken over nauwkeurige technische gegevens
over stroomafgifte, stroomverbruik, thermische output, kabelinfrastructuurvereisten en stuklijstcalculator. Voor meer informatie over de producten van LAKE en
Lab Gruppen, ga naar www.

Tuigage en ophanging

De VQ-hardware die in deze handleiding wordt behandeld, is ontworpen om snelle, eenvoudige en veilige oplossingen te bieden voor het monteren van specifieke
VQ-luidsprekers. Deze hardware is ontworpen en vervaardigd met een hoge veiligheidsfactor voor zijn specifieke rol. Om een zo veilig mogelijk gebruik van de
hardware die in deze handleiding wordt behandeld te garanderen, moet deze worden gemonteerd in strikte overeenstemming met de gespecificeerde instructies.
De informatie in deze handleidingen met betrekking tot de montage en het veilige gebruik van deze accessoires moet worden begrepen en opgevolgd.

De installatie van VQ-luidsprekers met behulp van de speciale hardware mag alleen worden uitgevoerd door volledig gekwalificeerde installateurs, in
overeenstemming met alle vereiste veiligheidscodes en normen die worden toegepast op de plaats van installatie.

WAARSCHUWING: Aangezien de wettelijke vereisten voor vliegen van land tot land veranderen, dient u uw plaatselijke bureau voor veiligheidsnormen te raadplegen
voordat u een product installeert. We raden u ook aan om alle wetten en statuten grondig te controleren voordat u met de werkzaamheden begint.

VQ-hardware is alleen ontworpen voor gebruik met luidsprekers uit de VQ-serie en is niet ontworpen of bedoeld voor gebruik met andere Tannoy Commercial-
producten of andere apparaten van andere fabrikanten. Het gebruik van Tannoy Professional-hardware voor een ander doel dan aangegeven in deze gids wordt
beschouwd als oneigenlijk gebruik. Dergelijk gebruik kan zeer gevaarlijk zijn, zoals overbelasting, modificatie; montage op een andere manier dan duidelijk vermeld
in de handleiding, of beschadiging van de VQ-hardware zal de veiligheid in gevaar brengen. De onderdelen van een VQ-hardwareapparaat mogen alleen worden
gemonteerd met behulp van de meegeleverde accessoiresets en in strikte overeenstemming met de gebruikershandleiding. Het gebruik van andere accessoires of
niet-goedgekeurde montagemethoden kan resulteren in een onveilig hardwaresysteem doordat de veiligheidsfactor voor de belasting wordt verminderd. Lassen,

Telkens wanneer een VQ-luidspreker met een VQ-hardwareapparaat aan een oppervlak wordt bevestigd, moet de installateur ervoor zorgen dat het oppervlak
de belasting veilig en zeker kan dragen. De gebruikte hardware moet veilig, stevig en in overeenstemming met de handleiding worden bevestigd aan zowel de
[uidspreker als aan het betreffende oppervlak, met gebruikmaking van alleen de bevestigingsgaten die standaard zijn voorzien en in de handleiding worden
behandeld. Veilige bevestigingen aan de bouwconstructie zijn essentieel. Zoek bij twijfel hulp van architecten, bouwkundig ingenieurs of andere specialisten.

Alle luidsprekers die worden gevlogen, moeten worden voorzien van een onafhankelijke, correct geclassificeerde en veilig bevestigde secundaire veiligheid
- naast het hoofdhardwareapparaat. Deze secundaire beveiliging moet voorkomen dat de luidspreker meer dan 150 mm (6 “) naar beneden valt als het
hoofdhardwareapparaat defect raakt.

WAARSCHUWING: Gebruik in geen geval de handvatten van een luidspreker om het gewicht van de luidspreker te dragen, behalve voor het beoogde gebruik: met de
hand dragen. De handgrepen zijn niet geschikt om de belasting van de luidspreker te dragen voor tijdelijke of permanente installatie.

De VQ-luidsprekerserie is bedoeld om te worden opgehangen of op de grond gestapeld. In dit gedeelte wordt beschreven hoe u VQ flyware en arrays fysiek
configureert. De volgende zijn de aanbevolen methoden voor de meeste situaties. In specifieke situaties kunnen andere methoden nodig zijn. Het is de
verantwoordelijkheid van de gebruiker om de haalbaarheid en veiligheid van alternatieve methoden te bepalen en deze dienovereenkomstig te implementeren.



64 VQ Series

Vliegen met een enkele VQ-kast met behulp van oogbouten

De eenvoudigste methode om met een enkele VQ-kast te vliegen, is met een paar M10-schouderoogbouten aan de bovenkant, en een derde oogbout aan de
achterkant van de kast om de kast te kantelen.

VEB GESMEDE 00GBOUT

Q VQ-luidsprekers kunnen worden gevlogen met VEB M10-0ogbouten van hoge kwaliteit met kraag volgens BS4278: 1984. De
luidsprekers zijn uitgerust met interne stalen beugels, die ook dienst doen als vliegpunten, en accepteren VEB M10-00gbouten.
Om de VEB M10-oogbouten te installeren, verwijdert u de originele M10 verzonken schroeven van de locaties waar u de VEB

M10-oogbouten wilt installeren. Vervang dan deze verzonken M10 schroeven door de VEB M10 oogbouten. Het M10-inzetstuk
aan de achterkant van de kast accepteert ook een VEB M10-00gbout en moet worden gebruikt om de luidspreker in de gewenste
hoek te kantelen.

BELANGRIJK: Om veiligheidsredenen is het absoluut noodzakelijk dat er per kast minimaal twee oogbouten worden gebruikt die
zijn gekoppeld aan twee onafhankelijk bevestigde banden. Hang nooit de ene behuizing aan de andere met oogbouten.

Gebruik nooit voorgevormde oogbouten, dwz gevormd uit een stalen staaf en in een 0og gebogen.

Vliegen met een enkele VQ-kast in een landschapsoriéntatie met behulp van EBS-gesmede oogbouten

Quick Start Guide 65

VQ Flying Bracket (Single Point Hang Flying Bracket)

Voor veilig, flexibel en eenvoudig vliegen is de VQ Flying-beugel ontworpen om de VQ-kast aan één draaipunt op te hangen. Dit maakt een nauwkeurige aanpassing
van de richthoeken mogelijk met de kast in situ. De gevlogen VQ-luidspreker moet worden voorzien van een onafhankelijke, correct geclassificeerde en veilig
bevestigde secundaire beveiliging - naast het hoofdhardwareapparaat. Deze secundaire beveiliging moet voorkomen dat de luidspreker meer dan 150 mm (6") valt als
het hoofdhardwareapparaat defect raakt.

Opmerking: Alle bevestigingen moeten met schroefdraad worden vergrendeld en worden vastgedraaid tot 25 Nm.

rmwe. | omsdirg | panalstuks
1

M10 gewone sluitring 3
2 M10 veerring 3
3 Schroef M10 x 50 mm 3
4 Beugel vliegen - VQ 1

De stangkop wordt gebruikt in combinatie met de VQ vliegende beugel. Er zijn twee soorten stangkoppen beschikbaar. De ene is ontworpen voor 2" UNC-draadstang
en de andere voor 12 mm draadstang. (Draadstang geleverd door gebruiker).

Item nr. Omschrijving Aantal stuks
1 Stangkop - VQ _“UNCof 12 mm 3
2 Schroef M12x45 Kapkop 3
3 M12 Nyloc-moer 3

(NL



66 \Q Series Quick Start Guide 67

Verwijder de voorste twee verzonken M10-schroeven aan de bovenkant van de kast en de bovenste M10-verzonken schroef aan de achterkant van de kast bovenaan. _ : :

Monteer de vliegende beugel zoals afgebeeld. (Zie Afb.1) VQ verbl nd ! ngsplaat

BELANGRIJK: Alleen de meegeleverde schroeven, bevestigingsmiddelen, schokbestendige en gewone sluitringen mogen worden gebruikt om de VQ vliegende beugel De VQ-verbindingsplaat wordt gebruikt om een VQ DF of VQ MB te koppelen aan een V/Q 60- of VQ 100-kast. Er worden drie schakelplaten gebruikt om elke kast met
te monteren. Opmerking: Alle bevestigingen moeten met schroefdraad worden vergrendeld en worden vastgedraaid tot 25 Nm. elkaar te verbinden. De Link platen worden standaard meegeleverd bij elke VQ DF en VQ MB.

Wanneer het op zijn plaats is bevestigd, kan het uiteinde van de stang langs een van de vijf gekartelde randen in elke sleuf worden verplaatst om de kantelhoek van de Verwijder de M10-schroeven met verzonken kop zoals weergegeven in het diagram hiernaast. Gebruik dezelfde schroeven om de verbindingsplaat op zijn plaats te
luidsprekers nauwkeurig af te stemmen. (Zie afb. 2) De gebruikte draadstang mag niet langer zijn dan 300 mm (12"). De gebruiker is verantwoordelijk voor het leveren bevestigen. De verbindingsplaat zit vlak in de inkepingen van de kast. Bij de schakelplaten worden twee langere M10-bouten geleverd. Deze bouten moeten worden
van de juiste draadstang. De minimale specificaties voor de draadstang zijn: - gebruikt om de achterste koppelingsplaat op zijn plaats te bevestigen.

VS - Klasse B7 (1438 Ibs, 650 kg voor %2 “hengel gebaseerd op een veiligheidsfactor van 10: 1) Opmerking: Alle bevestigingen moeten met schroefdraad worden vergrendeld en worden vastgedraaid tot 25 Nm

Metrisch - kwaliteit 10,9 (1459 Ibs, 660 kg voor een staaf van 12 mm op basis van een veiligheidsfactor 10: 1)

Gebruik de juiste moeren om het uiteinde van de stang vast te zetten aan de draadstang (geleverd door de gebruiker). Gebruik een Nyloc-moer aan de bovenkant van
de draadstang om de paalklem vast te zetten (geleverd door de gebruiker).

De draadstang kan worden bevestigd aan een geschikt Uni-Strut-accessoire.
Gebruik altijd Nyloc-moeren om de draadstang aan de paalklem of Uni-Strut te bevestigen.

Het optuigen van een gevlogen geluidssysteem kan gevaarlijk zijn, tenzij het wordt uitgevoerd door gekwalificeerd personeel met de vereiste ervaring en certificering
om de noodzakelijke taken uit te voeren.

Het bevestigen van ophangpunten in een dak moet altijd worden uitgevoerd door een professionele rigger en in overeenstemming met de lokale regels van de locatie.

Er kan maximaal VQ 60 + VQ MB + VQ DF (350 Ibs, 160 kg) worden gevlogen uit een enkele draadstang. Deze combinatie heeft een veiligheidsfactor
van 8: 1. (Zie Afb.3)

LINK PLATE

(fig. 1)

De VQ MB gebruiken voor extra patroonregeling

De VQ-verbindingsplaat wordt gebruikt om een VQ DF of VQ MB te koppelen aan een V/Q 60- of VQ 100-kast. Er worden drie schakelplaten gebruikt om elke kast met
elkaar te verbinden. De Link platen worden standaard meegeleverd bij elke VQ DF en VQ MB.

Verwijder de M10-schroeven met verzonken kop zoals weergegeven in het diagram hiernaast. Gebruik dezelfde schroeven om de verbindingsplaat op zijn plaats te
bevestigen. De verbindingsplaat zit vlak in de inkepingen van de kast. Bij de schakelplaten worden twee langere M10-bouten geleverd. Deze bouten moeten worden
gebruikt om de achterste koppelingsplaat op zijn plaats te bevestigen.

(NL



68 VQ Series

Arraying VQ 60

Een enkele VQ 100 kan meer vermogen en duidelijkheid produceren over zijn straalbreedte van 100 graden dan veel oplossingen met meerdere kasten, een groot
voordeel wanneer u de esthetiek van uw gebouw in overweging neemt. Een VQ 100 is niet ontworpen om te worden opgesteld.

Twee VQ 60's kunnen worden opgesteld om een goed gedefinieerde horizontale dekkingshoek van 120 graden te produceren.

De VQ-arrayplaat is ontworpen om optimaal twee VQ 60-kasten te rangschikken. Om de plaat te plaatsen, plaatst u de dozen op de grond met de achterkant van de
kasten tegen elkaar. Verwijder de twee M10 verzonken bouten en vervang ze door ofwel de M10 schroef of de meegeleverde oogbouten. Zoek de vier M10-oogbouten
uit de meegeleverde bevestigingsset en steek deze door de array-plaat in de bevestigingspunten in de kast. Deze zullen worden gebruikt om de array op te pakken.
Herhaal dezelfde procedure aan de onderkant van de kasten, gebruik de M10-schroef. Als u in liggende richting vliegt, kan de M10-schroef op beide array-platen

worden gebruikt.
Opmerking: Alle bevestigingen moeten met schroefdraad worden vergrendeld en worden vastgedraaid tot 25 Nm

Twee onafhankelijke ophaalpunten worden aanbevolen om de array op te hangen. De belangrijkste ophaalpunten zijn de twee achterste oogbouten. De twee voorste
oogbouten kunnen als veiligheidspunten worden gebruikt.

Item nr. ‘ Omschrijving ‘ Aantal stuks
1 M10 gewone sluitring 8
2 M10 veerring 8
3 Schroef M10 x 50 mm 8
4 Oogbout M10 4
5 Array beugel 2

Quick Start Guide 69

Introduktion

VQ-produkterna i hela sortimentet anvénder en unik drivarteknologi for att utstrala en sammanhangande enpunktskalla for verldgsen dispersionskontroll nér den &r
kopplad till vart enda horn. Denna avancerade design anpassar givarnas akustiska centrum och ger en enda sammanhangande vagfront som strommar ut fran halsen.

Foraren anvander tva koncentriska ringformiga membran. Den storre av de tva har en 3,5 "rdstspole och aterger frekvenser fran 400 Hz till 7 kHz. En annan stor fordel
hér &r att det inte finns ndgon crossover nagonstans nara vokalregionen som garanterar den mest naturliga och fassammanhangande reproduktionen i detta kritiska
omréde. 2 "HF-membranet tar dver vid 7 kHz till 22 kHz genom en passiv eller en aktiv crossover. Den externa gjutningen har omfattande kylflans som sakerstéller god
varmedverforing for hog effekthantering och mycket lag effektkomprimering.

Kontaktdon/kablar

Ingangspaneler

0Obs: VQ 60 och VQ 100 &r konfigurerade som standard for Bi-Amp-drift.

Tri-Amp-funktion & mdjlig med Barrier Strip-ingdngarna.

VQ DF &r konfigurerad som standard for drift med en forstarkare. Bi-Amp-funktion ar majlig med Barrier Strip-ingangarna.

VQ MB ar konfigurerad for drift med en forstarkare.

VQ 60/ 100 VQ DF

LF MF HF MF HF

-+ - 4+ - +

14

INK WIRES VQ 60

TAMOY . REQUIRED -

)R PASSIVE
)PERATION

=171

VQ MB

-+ - +

1]

INK WIRES VQ 64DF
REQUIRED

TANNOY |- 5 ncerv: |
)PERATION

=111




70 VQ Series

VQ 60, VQ 100 och V/Q DF &r utrustade med 4-poliga Neutrik Speakon-kontakter och barriarlist for fasta installationer.
Speakon Connections -
Speakon har foljande fordelar jamfort med EP- och XLR-kontakter:

Alla avslut dr [6dfria; detta underldttar livet vid installationen eller ndr faltservice krdvs. Kontakter accepterar en trdd pd 6 kvm med en ytterdiameter pa upp till 15
mm och en strémstyrka pa 30 ampere. Stiften pé de tva Speakon-uttagen som identifieras ingang/utgang pa baksidan av ingangspanelen ar parallella i holjet for att
underldtta anslutningen till ytterligare VQ-hdgtalare (utom VQ MB). Tannoy har antagit den vanliga professionella ljudkabelkonventionen for VQ-produkten.

VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

No connections on pins

1+and 1- LF Positive (+ve)
mz:i ;Zsleije(z,ee)) MF/HF Positive (+ve) No connections on pins
9 MF/HF Negative (-ve) 24 and 2-

Barridrremsanslutningar

Barridrremsan rymmer bar ledning, fortunna ledningar eller spadkopplingar. Barridrremsorna dr sarskilt utformade for anvandning i fasta/permanenta installationer.

VQ 60 och VQ 100 &r konfigurerade for Bi-amp-drift; genom att ta bort de fyra ledningsledningarna mellan de tva barridrremsorna pa termineringspanelens tri-amp-
funktion dr mdjlig. VQ DF &r konfigurerad for enkel forstérkare; genom att ta bort de 4 ledningsledningarna mellan de tva barridrremsorna pa termineringspanelens
bi-amp-funktion & méjlig.

VQ60/100 Bi-amp —  Anslut LF-forstarkaren till LF -+/- pa den dvre raden av barridrlist.
Anslut MF/HF-forstérkare till MF/HF +/- pd nedre raden av barridrremsan.

VQ60/100 Tri-amp —  Anslut LF-forstarkaren till LF -+/- pa den dvre raden av barridrlist.
Anslut MF-forstarkaren till MF +/- p den dvre raden av barridrlist.
Anslut HF-forstarkaren till HF +/- pa den dvre raden av barridrlist.

VQDF Single Amp—  Anslut MF/HF-forstarkare till MF/HF -+/- pd nedre raden av barridrremsan.

VQ DF Bi-amp — Anslut MF-forstarkaren till MF +/- p den dvre raden av barridrlist.
Anslut HF-forstarkaren till HF +/- pa den dvre raden av barridrlist.
VQMB - Anslut forstarkaren till LF +/- terminalerna.

Observera att om du slingrar ut till ytterligare hogtalare kommer det att minska belastningen pa forstarkaren. Undvik att ladda forstarkare for lagt. Om
forstarkaren & minst 4 ohm ska du inte ge den en belastning pa 2 ohm. Aven nir forstarkaren har fatt en klass pa 2 ohm, kom ihdg att for att halla jimna steg
med strommen kommer kretsen att ha mycket hogre strém @n tidigare och ledningarna mdste hantera den. Inte bara kommer ledningsforlusterna att véxa utan
systemets dampningsfaktor kommer att forsamras. Det kan vara battre att kora separata kablar fran forstérkaren till hdgtalarna eller dela belastningen dver tva
forstarkarkanaler.

Kabelval bestdr framst av att vélja rdtt tvdrsnittsarea i forhallande till kabelldngden och lastimpedansen. Ett litet tvarsnittsomrdde skulle 6ka kablarnas motstand,
inducera effektforlust och svarsvariationer (d@dmpningsfaktor).

Kontaktdon ska anslutas med en kabel pa minst 2,5 kvm (12 gauge). Detta kommer att vara helt tillfredsstéllande under normala forhallanden. Vid mycket ldnga
kabeldragningar bor kabelstorleken dverstiga detta. Foljande tabell visar féréandringen i motstand, kanslighetsforlust och dampningsfaktor pa grund av effekterna
av kabeldiameter och langd for tvd nominella impedansbelastningar (4 ohm & 8 ohm). Anvénd denna tabell for att bestimma en lamplig kabeldiameter for den
korningslangd du behdver. For resulterande d@mpningsfaktor anses varden dver 20 i allménhet vara adekvata for l[judforstarkningssystem av hdg kvalitet.

Quick Start Guide 71

Dampningsfaktor*

" Diameter av Kabel 2 1ps
Kabe"(ornmg TradforIUSt (dB) _
40hm 8ohm 40hm 8ohm
Ladda Ladda Ladda Ladda
5 16 0,2 0,1 40 v 80

1,5mm 15 0,10 , v

2,5mm 10 0,04 01 0 108 4 216 v

4mm 6 0,01 0 0 255 v 510 v

6mm 3 0,01 0 0 494 v 988 v

10 33 1,5mm 15 0,20 0,4 0,2 19 X 4H v
2,5mm 10 0,07 0,2 01 55 v m v

4mm 6 0,03 01 0 136 v 272 v

6mm 3 0,01 0 0 282 v 563 v

25 82 1,5mm 15 0,49 1 0,5 8 X 16 v
2,5mm 10 0,18 0,4 0,2 23 v 45 v

4mm 6 0,07 01 01 57 v 114 v

6mm 3 0,03 01 0 123 v 246 v

50 164 1,5mm 15 0,98 19 1 4 X 8 X
2,5mm 10 0,35 0,7 0,4 n X 23 v

4mm 6 0,14 03 01 29 v 58 v

6mm 3 0,06 01 01 64 v 127 v

100 328 1,5mm 15 1,95 35 1.9 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X n X

4mm 6 0,27 0,6 03 15 X 29 v

6mm 3 0,12 03 01 32 v 65 v

*De resulterande ddmpningsfaktorsiffrorna harleds med en professionell forstérkare av god kvalitet

Polaritetskontroll

Det &r viktigast att kontrollera ledningens polaritet innan hdgtalarsystemet flyger. En enkel metod for att gora detta utan en pulshaserad polaritetskontroll for
LF-enheter dr som foljer: Anslut tva ledningar till + ve och -ve-terminalerna pa ett PP3-batteri. Anslut ledningen som &r ansluten till + ve-terminalen pd batteriet pa
hdgtalarkabelbenet som du tror &r anslutet till stift 1+ pa hogtalarkontakten och likasé batteriets -ben pa stift 1-.

Om du har anslutit den ordentligt kommer LF-drivenheten att ga framat, vilket indikerar att ledningarna ar korrekta. Allt som aterstar nu ar att ansluta +
ve-hdgtalarkabeln till + ve-terminalen pa forstérkaren och -ve-ledningen till -ve-terminalen pa forstérkaren. Om dock LF-drivrutinen ror sig bakat méste
ingdngsanslutningarna inverteras.

Det finns ocksa kommersiellt tillgangliga polaritetscheckar som kan anvandas (IviePAL™, NTI™). Om du satter igang ett system med en spektrumanalysator som
SMAART™, SYSTUNE™, CLIO™, MLSSA™ genom att kontrollera impulssvaret for den forsta positiva svangningen. Se till att EQ och crossover-filtrering har tagits bort
innan du kontrollerar.

0Om det uppstar problem ska du forst kontrollera kabeldragningen. Om du anvander forstarkare frén mer an en tillverkare, kontrollera polariteten pa forstarkarna saval
som hogtalarna.

Forstdrkning och krafthantering

Som med alla professionella hdgtalarsystem dr effekthanteringen en funktion av rostspolens termiska kapacitet. Forsiktighet bor iakttas for att undvika att kéra
forstarkaren i klimman (klippning &r slutresultatet av dverkdrning av nagon forstarkare). Skador pa hogtalaren kommer att uppsta om forstarkaren drivs in i klimman
under en langre tid. Takhojd pa minst 3dB bor tillatas. Vid utvardering av en forstarkare ar det viktigt att ta hansyn till dess beteende under belastningsforhallanden
med ldg impedans. Ett hogtalarsystem dr mycket reaktivt och med transienta signaler kan det krdva mer strdm dn den nominellaimpedansen skulle indikera.

| allmanhet kommer en hogeffektsforstarkare som kdrs utan distorsion att skada hogtalaren mindre an en lagforstarkare som standigt Klipps. Det &r ocksa vart att
komma ihdg att en hogeffektsforstarkare som kor pa mindre an 90% av uteffekten i allmanhet Idter mycket battre an en lagre effektforstarkare som kor pa 100%. En
forstarkare med otillrécklig drivenhet méjliggdr inte att full prestanda eller hdgtalaren kan realiseras.

Det &r viktigt ndr olika tillverkarforstérkare anvands i en enda installation att de har mycket nara matchande vinster, variationen bor vara mindre &n +/- 0,5 dB.
Denna forsiktighetsatgard ar viktig for den totala systembalansen ndr endast en enda aktiv crossover anvands med flera skap; det rekommenderas darfor att samma
forstarkare anvands hela tiden.

P4 specifikationssidorna hittar du VQ-hdgtalarnas effekthanteringskapacitet i tre kategorier: -
Genomsnitt (RMS), program och topp

Virekommenderar att du anvander den programstyrka som anges i hdgtalarspecifikationerna for att vélja ratt forstérkare. For att realisera VQ-hdgtalarnas fulla
potential bor forstarkarna nominell kontinuerlig effekt vara lika med hogtalarnas programeffekt vid dess nominella impedans.

(SE



72 VQ Series

Rekommenderad forstarkare i VQ-serien
VQ60/100 Stromkrav
Lag frekvens 2000 W till 4 ohm
Passiv MF/HF 400 W till 8 ohm
Mellanfrekvens 400 W till 8 ohm
Hog frekvens 200 W till 8 ohm
VQDF
Passiv MF/HF 400 W till 8 ohm
Mellanfrekvens 400 W till 8 ohm
Hog frekvens 200 W till 8 ohm
VQMmB 2000 W till 4 ohm

Hogtalarhanteringssystem

Tannoy VQ-serie hdgtalare dr utformade for att anvédndas med en elektronisk signalprocessor som ger crossover, utjgmning, fordrdjning och dynamiska funktioner.
Vi rekommenderar starkt Lab Gruppen PLM + eller D-serien med fabriksinstéliningar fran LAKE-lastbiblioteket. LAKE LM26/44 DSP med samma fabriksinstallningar
fran LAKE-lastbibliotek i kombination med Lab Gruppen C-serien eller FP + -serien med modeller med ldmplig uteffekt for de valda skap som rekommenderas
rekommenderas ocksa. Lab Gruppen CAFE-programvara ger en heltackande Iosning for att valja den basta mdjliga kombinationen av produkter i PLM + eller
D-serien till alla Tannoy-hdgtalarprodukter, vilket gor det mdjligt for anvéndare att ha exakta tekniska data for stromforsorjning, kraftuttag, varmeeffekt,
kabelinfrastrukturkrav och BOM-kalkylator. For mer information om LAKE och Lab Gruppens produkter, ga till www.

Rigging & Suspension

VQ-hdrdvaran som omfattas av den hdr guiden har utformats for att erbjuda snabba, enkla och sakra losningar for montering av specifika VQ-hdgtalare. Denna
hardvara har konstruerats och tillverkats med en hdg sékerhetsbelastningsfaktor for sin specifika roll. For att sékerstalla en s saker anvandning som mdjligt av
hdrdvaran som omfattas av denna guide, maste den monteras i strikt dverensstimmelse med instruktionerna. Informationen i dessa handbdcker om montering och
saker anvandning av dessa tillbehdr maste forstas och foljas.

Installation av VQ-hdgtalare med dedikerad hardvara bor endast utforas av fullt kvalificerade installatdrer, i enlighet med alla nddvandiga sékerhetskoder och
standarder som tillampas pd installationsplatsen.

VARNING: Eftersom de juridiska kraven for flygning andras fran land till land, kontakta ditt lokala sakerhetsstandardkontor innan du installerar ndgon produkt. Vi
rekommenderar ocksd att du noggrant kontrollerar lagar och stadgar innan du pabdrjar arbetet.

VQ-hérdvara har utformats for anvéndning endast med hdgtalare i VQ-serien och dr inte designad eller avsedd for anvéndning med andra Tannoy Commercial-
produkter eller andra enheter fran andra tillverkare. Att anvénda Tannoy Professional-hdrdvara for ndgot annat andamal &n det som anges i denna guide anses
vara felaktig anvandning. Sddan anvandning kan vara mycket farlig som éverbelastning, modifiering; montering i ndgot annat an det som tydligt anges i manualen
eller skada VQ-hardvaran kommer att dventyra sékerheten. Komponentdelarna pd alla VQ-hardvaruenheter far endast monteras med hjélp av de medfdljande
tillbehdrssatserna och i enlighet med anvandarhandboken. Anvéndning av andra tillbehor eller icke godkdnda monteringsmetoder kan resultera i ett osdkert
hdrdvarusystem genom att minska belastningssakerhetsfaktorn. Svetsning,

Nar en VQ-hdgtalare fasts pa en yta med hjélp av en VQ-hardvaruenhet, maste installatoren se till att ytan kan béra lasten pd ett skert och sdkert satt. Den anvanda
hardvaran méste vara sakert, sakert och i enlighet med manualen, fést bade pa hdgtalaren och dven pa ytan i frdga, med endast de fasthal som tillhandahalls som
standard och tackta i manualen. Sakra infastningar i byggnadsstrukturen ar avgérande. Sok hjalp frén arkitekter, konstruktionsingenjorer eller andra specialister om
du dr osdker.

Alla flygda hogtalare maste forses med en oberoende, korrekt klassad och sékert ansluten sekundar sékerhet - forutom den huvudsakliga hardvaruenheten. Denna
sekundara sakerhet maste forhindra att hdgtalaren tappar mer dn 150 mm (6 “) om den huvudsakliga hardvaruenheten misslyckas.

VARNING: Anvand under inga omsténdigheter hdgtalarens handtag for att béra hogtalarens vikt férutom for avsedd anvandning: handbérande. Handtagen &r inte
klassade for att stodja hogtalarens belastning for tillfallig eller permanent installation.

VQ-serien av hogtalare dr avsedd att hangas upp eller jordas. | det hér avsnittet beskrivs hur man fysiskt konfigurerar VQ-flygprogram och matriser. Foljande &r de
rekommenderade metoderna for de flesta situationer. Specifika situationer kan krava andra metoder. Det dr anvdndarens ansvar att bestamma lonsamheten och

Quick Start Guide 73

Flyga ett enda VQ-skap med hjalp av 6gonbultar

Den enklaste metoden att flyga ett enda VQ-skap ar med ett par M10 axeldglor pa toppen, med en tredje Ggonbult pd baksidan av skdpet for att luta skapet.

) VEB FORGED EYEBOLT

VQ-hdgtalare kan flygas med hdgkvalitativa VEB M10-6gonbultar med krage till BS4278: 1984. Hogtalarna ar utrustade med
invandiga stalbygel, som ocksa fungerar som flygpunkter och accepterar VEB M10-dgonbultar.

17
ﬁ % For att installera VEB M10-6gonbultarna, ta bort original M10-rdknare som dr nedsankta fran de platser du vill installera VEB
] N M10-6gonbultarna. Byt sedan ut dessa forsankta M10-skruvar med VEB M10-6gonbultarna. M10-insatsen pa baksidan av skapet
tar ocksa emot ett VEB M10-6gonskruv och bor anvandas for att luta hdgtalaren till onskad vinkel.

VIKTIGT: Av sékerhetsskal dr det absolut nddvéndigt att minst tvd dgonbultar kopplade till tva oberoende fasta remmar anvands
per skap. Stoppa aldrig det ena héljet frén det andra med hjalp av 6gonbultar.

Forsok aldrig anvdnda formade dgonbultar, dvs. bildade av en stalstav och bdjda i ett dga.

Flyga ett enda VQ-skap i liggande riktning med EBS-smidda 6gonbultar




74 VQ Series

VQ Flying Bracket (Single Point Hang Flying Bracket)

For saker, flexibel och enkel flygning &r VQ Flying-fastet utformat for att upphénga VQ-skdpet frén en enda svangpunkt. Detta mjliggor exakt justering av
riktningsvinklar med skapet pa plats. Den flygda VQ-hdgtalaren maste forses med en oberoende, korrekt klassad och sékert ansluten sekundér sakerhet -
forutom den huvudsakliga hardvaruenheten. Denna sekundéra sékerhet méste forhindra att hogtalaren tappar mer &@n 150 mm (6") om den huvudsakliga
hardvaruenheten misslyckas.

Obs: Alla fasten bor vara ganglasta och atdragna till 25 Nm.

TR

1 M10 vanlig bricka 3
2 M10 fidderbricka 3
3 Skruv M10x 50 mm 3
4 Bracket Flying - VQ 1

Stangéanden anvands i kombination med VQ-faste. Tva typer av stavéndar finns tillgangliga. Den ena &r utformad for att acceptera 4" UNC-géngsténg, och den andra
accepterar 12 mm gangstang. (Gngstang levereras av anvéndaren).

Varunummer. Beskrivning Kvantitet
1 Rod End - VQ _“UNCeller 12mm 3
2 Skruv M12x45 lockhuvud 3
3 M12 Nyloc-mutter 3

Quick Start Guide 75

Tabort de framre tva forsankta M10-skruvarna som sitter pa toppen av skapet och den dvre M10-forsankta skruven pa den dvre delen av skapet. Montera flygfastet
enligt bilden. (Se fig. 1)

VIKTIGT: Endast skruvar, fastelement, skakbestandiga och vanliga brickor ska anvandas for att montera VQ-faste. Obs: Alla fasten hor vara ganglasta och
atdragna till 25 Nm.

Nér den &r fixerad i lage kan stdnganden forflyttas langs vilken som helst av de fem tandade kanterna i varje spar for att finjustera hdgtalarnas lutningsvinkel. (Se fig.
2) Géngstangen bor inte vara ldngre dn 300 mm (12"). Anvéndaren ansvarar for att leverera rétt gdngstang. Minsta specifikationer for gangstangen r: -

USA - klass B7 (1438 kg, 650 kg for V2 “stang baserat pa en sakerhetsfaktor pa 10: 1)
Metrisk - Grad 10.9 (1459 Ibs, 660 kg for 12 mm stang baserat pa en sakerhetsfaktor 10: 1)

Anvénd lampliga muttrar for att [dsa stdnganden pa gdngstangen (levereras av anvandaren). Anvand en Nyloc-mutter [dngst upp pa gangstangen for att sakra
polkldmman (levereras av anvandaren).

Gangstangen kan fastas pa ett Uni-Strut-tillbehdr med lampligt betyg.
Anvénd alltid Nyloc-muttrar for att fasta den gédngade sténgen vid stangklamman eller Uni-Strut.

Riggning av ett flygat ljudsystem kan vara farligt om det inte utfors av kvalificerad personal med erforderlig erfarenhet och certifiering for att utfora
nddvandiga uppgifter.

Fastning av hangpunkter i ett tak bor alltid utforas av en professionell rigger och i enlighet med lokala regler pa platsen.

Maximalt VQ 60 -+ VQ MB + VQ DF (350 kg, 160 kg) kan flygas frén en enda géngad stang. Denna kombination har en sakerhetsfaktor pa 8: 1. (Se fig. 3)

(fig. 1)




76  VQ Series

VQ-lankplatta
VQ-ldnkplattan anvénds for att ansluta en VQ DF eller VQ MB till ett VQ 60- eller VQ 100-skap. Tre lankplattor anvands for att ansluta varje skap. Lankplattorna
levereras som standard med varje VQ DF och VQ MB.

Ta bort M10 forsankta skruvar enligt bilden nedan. Anvand samma skruvar for att fasta lankplattan. Lankplattan sitter jamnt i skapsfordjupningarna. Tva langre M10-
bultar levereras med ldnkplattorna. Dessa bultar bor anvandas for att fasta den bakre lankplattan pa plats.

Obs: Alla fasten bor vara ganglasta och atdragna till 25 Nm

LINK PLATE

Anvianda VQ MB for ytterligare monsterkontroll

VQ-lankplattan anvénds for att ansluta en VQ DF eller VQ MB till ett VQ 60- eller VQ 100-skap. Tre ldnkplattor anvands for att ansluta varje skap. Lankplattorna
levereras som standard med varje VQ DF och VQ MB.

Ta bort M10 forsankta skruvar enligt bilden nedan. Anvand samma skruvar for att fasta lankplattan. Lankplattan sitter jamnt i skdpsfordjupningarna. Tva langre
M10-bultar levereras med ldnkplattorna. Dessa bultar bor anvandas for att fasta den bakre lankplattan pa plats.

Quick Start Guide 77

Arraying VQ 60

En enda VQ 100 kan producera mer kraft och klarhet dver sitt 100 graders strélbreddsomréde an ménga olika ldsningar som anvander flera skap, en stor fordel nar du
overvager din byggnadsestetik. En VQ 100 &r inte utformad for att vara grupperad.

Tva VQ 60-tal kan placeras for att ge en véldefinierad horisontell tackningsvinkel pd 120 grader.

VQ array-plattan dr utformad for att optimalt placera tvd VQ 60-skép. For att passa plattan, stéll idorna pd marken med skdpens bakkant. Ta bort de tva M10
forsankta bultarna och byt ut dem med antingen M10-skruven eller de medfdljande 6gonbultarna. Leta reda pa de fyra M10-6gonbultarna frén den medféljande
fixeringssatsen och sdtt in dessa genom matrisplattan i riggpunkterna i skapet. Dessa kommer att anvéndas for att plocka upp matrisen. Upprepa samma procedur
ldngst ner pa skapen, anvand M10-skruven. Om du flyger i liggande riktning kan M10-skruven anvéndas pd bdda matrisplattorna.

Obs: Alla fasten bor vara ganglasta och atdragna till 25 Nm

Tva oberoende upphamtningsstallen rekommenderas for att stanga av matrisen. De viktigaste upphamtningsstéllena dr de tva bakre dgonbultarna. De tva framre
dgonskruvarna kan anvandas som sakerhetspunkter.

Varunummer. ‘ Beskrivning ‘ Kvantitet
1 M10 vanlig bricka 8
2 M10 fiaderbricka 8
3 Skruv M10x 50 mm 8
4 Eyebolt M10 4
5 Arrayféste 2




78 VQ Series

Wprowadzenie

Petnowarto$ciowe produkty VQ wykorzystuja unikalng technologie przetwornika, aby emitowac spdjne, jednopunktowe Zrédto dla doskonatej kontroli dyspersji
po potaczeniu z nasza pojedyncza tuba. Ta zaawansowana konstrukcja wyréwnuje akustyczne $rodki przetwornikéw, zapewniajac jedno spdjne czoto fali
wydobywajace sie z gardta.

Gtosnik wykorzystuje dwie koncentryczne pierscieniowe membrany. Wiekszy z nich ma 3,5-calowa cewke drgajaca i odtwarza czestotliwosci od 400 Hz do 7 kHz.
Inng wazna zaleta jest to, ze w poblizu obszaru wokalnego nie ma zwrotnicy, co zapewnia najbardziej naturalng i spéjna fazowo reprodukcje w tym krytycznym
obszarze. Membrana 2 "HF przejmuje od 7 kHz do 22 kHz w drodze pasywnej lub aktywnej zwrotnicy. Zewnetrzny odlew charakteryzuje sie obszernym radiatorem,
zapewniajacym dobre przenoszenie ciepta dla przenoszenia duzej mocy i bardzo niska kompresje mocy.

Ztacza/okablowanie

Panele ztaczy wejsciowych

Uwaga: VQ 60 VQ 100 s standardowo skonfigurowane do pracy w trybie Bi-Amp.

Praca w trybie Tri-Amp jest mozliwa przy uzyciu zaciskdw wejsciowych listwy barierowej.

VQ DF jest standardowo skonfigurowany do pracy z jednym wzmacniaczem. Praca w trybie Bi-Amp jest mozliwa przy uzyciu zaciskéw wejsciowych listwy barierowe;.

VQ MB jest skonfigurowany do pracy z pojedynczym wzmacniaczem.

VQ60/100 VQ DF

LF  MF HF MF  HF
-+ -+ - + -+ - +

1]

INK WIRES VQ 60

TANNOY ] REQUIRED -

DR PASSIVE
)PERATION

=171

VQ MB

1]

INK WIRES VQ 64DF
REQUIRED

TANNOY |- 5 acerve |
)PERATION

=171

Quick Start Guide 79

VQ 60, VQ 100 VQ DF s3 wyposazone w 4-biegunowe ztacza Neutrik Speakon i listwe barierowa do instalacji statych.
Potaczenia Speakon -
Speakon ma nastepujace zalety w poréwnaniu ze zkgczami typu EP i XLR:

Wszystkie zakoficzenia s3 bezlutowe; Utatwia to zycie w czasie instalacji lub gdy wymagany jest serwis w terenie. Styki akceptuja przewody o przekroju 6 mm2i
Srednicy zewnetrznej do 15 mm, a prad znamionowy wynosi 30 A. Piny 2 gniazd Speakon zidentyfikowanych wejécia/wyjscia z tytu panelu wejsciowego s3 potaczone
réwnolegle w obudowie, aby utatwi¢ podtaczenie do dodatkowych gtosnikéw VQ (z wyjatkiem VQ MB). Firma Tannoy przyjeta standardowa konwencje
profesjonalnego okablowania audio dla produktu VQ.

i VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

No connections on pins

1+and 1- LF Positive (+ve)
mzni Ec;si;i:/ij :+(-\::) MF/HF Positive (+ve) No connections on pins
9 MF/HF Negative (-ve) 2+and 2-

Potaczenia pasow barierowych

Listwa barierowa zawiera nieizolowany drut, ocynowane przewody lub taczniki widetkowe. Tasmy odgradzajace s3 specjalnie zaprojektowane do stosowania

w statych/statych instalacjach. VQ 60 i VQ 100 sa skonfigurowane do pracy w trybie bi-amp; poprzez usuniecie 4 przewodéw t3czacych miedzy dwoma paskami
barierowymi na panelu zakoriczeniowym mozliwa jest praca w trybie tri-amp. VQ DF jest skonfigurowany do pracy z pojedynczym wzmacniaczem; poprzez usuniecie 4
przewoddw taczacych miedzy dwoma paskami barierowymi na panelu zakoriczeniowym mozliwa jest praca bi-amp.

Bi-amp VQ 60/100 - Podtacz wzmacniacz LF do LF +/- w grnym rzedzie paska barierowego.

Podfacz wzmacniacz MF/HF do MF/HF +/- w dolnym rzedzie listwy barierowej.

Potréjny wzmacniacz VQ 60/100 — Podfacz wzmacniacz LF do LF +/- w gérnym rzedzie paska barierowego.
Podfacz wzmacniacz MF do MF +/- w gérnym rzedzie paska barierowego.
Podtacz wzmacniacz HF do HF -+/- w gérnym rzedzie paska barierowego.

VQ DF pojedynczy wzmacniacz — Podtacz wzmacniacz MF/HF do MF/HF +/- w dolnym rzedzie listwy barierowej.

VQ DF Bi-amp — Podfacz wzmacniacz MF do MF +/- w gérnym rzedzie paska barierowego.
Podtacz wzmacniacz HF do HF -+/- w gérnym rzedzie paska barierowego.

VQMB - Podfacz wzmacniacz do zaciskéw LF +/-.

Iwrd¢ uwage, ze wyjécie petli do dodatkowych gtosnikdw bedzie miato wptyw na zmniejszenie obciazenia wzmacniacza. Unikaj zbyt niskiego tadowania
wzmacniaczy. Jesli wzmacniacz jest przeznaczony na minimum 4 omy, nie obciazaj go 2 omami. Nawet gdy wzmacniacz jest oceniany na 2 omy, pamietaj, ze aby
nadazy¢ za moca, obwdd bedzie miat znacznie wiekszy prad niz wezedniej i okablowanie bedzie musiato sobie z tym poradzic. Nie tylko wzrosna straty okablowania,
ale rowniez pogorszy sie wspétczynnik ttumienia systemu. Lepiej bytoby poprowadzi¢ oddzielne kable od wzmacniacza do gtosnikéw lub podzieli¢ obcigzenie na dwa
kanaty wzmacniacza.

Wybdr kabla polega gtdwnie na doborze odpowiedniego przekroju poprzecznego w stosunku do dtugosci kabla i impedancji obcigzenia. Maty obszar przekroju
zwiekszytby rezystancje szeregowa kabli, wywotujac straty mocy i zmiany odpowiedzi (wspdtczynnik ttumienia).

Itacza powinny by¢ podtaczone kablem o przekroju minimum 2,5 mm2 (12 AWG). W normalnych warunkach bedzie to catkowicie zadowalajace. W przypadku

bardzo dtugich przewodéw rozmiar przewodu powinien by¢ wiekszy. Ponizsza tabela przedstawia zmiany rezystancji, utraty czutosci i wspétczynnika trumienia

spowodowane wptywem Srednicy i dtugosci kabla dla dwéch nominalnych obciazeri impedancyjnych (4 Qi 8 Q). Skorzystaj z tej tabeli, aby okresli¢ odpowiednia PL
Srednice kabla dla wymaganej dtugosci przebiegu. Jako wynikowy wspétczynnik thumienia, wartosci wieksze niz 20 sg ogéInie uwazane za wystarczajace dla wysokiej

jakosci systemdéw wzmacniania dZzwieku.



80 VQ Series

5 16

Kabel
Odpornos¢

Srednica
Cable Run -

40hm 8ohm 4ohm 8ohm
Zataduj Zataduj Zataduj Zataduj
0,2 0,1 40 v 80

Strata drutu (dB)

Wspétczynnik ttumienia *

Quick Start Guide

81

1,5mm 15 0.10 , v

2,5mm 10 0,04 01 0 108 4 216 v

4mm 6 0,01 0 0 255 v 510 v

6mm 3 0,01 0 0 494 v 988 v

10 33 1,5mm 15 0,20 0,4 0,2 19 X 4 v
2,5mm 10 0,07 0,2 01 55 v m v

4mm 6 0,03 01 0 136 v 272 v

6mm 3 0,01 0 0 282 v 563 v

25 82 1,5mm 15 0.49 1 0.5 8 X 16 v
2,5mm 10 0.18 0,4 0,2 23 v 45 v

4mm 6 0,07 01 01 57 v 114 v

6mm 3 0,03 01 0 123 4 246 v

50 164 1,5mm 15 0.98 19 1 4 X 8 X
2,5mm 10 0.35 0,7 0,4 n X 23 v

4mm 6 0.14 0.3 01 29 v 58 v

6mm 3 0,06 01 01 64 v 127 v

100 328 15mm 15 1,95 35 1.9 2 X 4 X
2,5mm 10 0,70 14 0,7 6 X n X

4mm 6 0,27 0.6 0.3 15 X 29 v

6mm 3 0.12 0.3 01 32 v 65 v

*Wynikowe warto$ci wspdtczynnika ttumienia pochodza z dobrej jakosci profesjonalnego wzmacniacza

Sprawdzanie biegunowosci

Najwazniejsze jest, aby sprawdzi¢ polaryzacje okablowania przed uruchomieniem systemu gtosnikéw. Prosta metoda wykonania tego bez impulsowego sprawdzania
biegunowosci dla jednostek LF jest nastepujaca: Podtacz dwa przewody do zaciskéw + ve i -ve baterii PP3. Przyt6z przewdd podtaczony do bieguna + ve akumulatora
do ndzki kabla gtoénika, ktéra Twoim zdaniem jest podfaczona do styku 1+ ztacza gtosnika, a takze -wej ndézki akumulatora do styku 1.

Jesli podtaczytes prawidtowo, jednostka napedowa LF przesunie sie do przodu, wskazujac, ze okablowanie jest prawidfowe. Teraz pozostaje tylko podtaczy¢ przewdd
gtosnikowy + ve do zacisku + ve wzmacniacza, a przewdd -ve do zacisku -ve wzmacniacza. Jesli jednak sterownik LF porusza sie wstecz, potaczenia wejsciowe musza
zosta¢ odwrdcone.

Istnieja réwniez dostepne w handlu $rodki sprawdzajace biegunowos¢, ktére mozna zastosowac (IviePAL™, NTI™). Jesli uruchamiasz system wykorzystujacy analizator
widma, taki jak SMAART™, SYSTUNE™, CLIO™, MLSSA™, sprawdzajac odpowiedz impulsowa dla pierwszego dodatniego wahania. Przed sprawdzeniem upewnij sie, ze
korektor i filtrowanie zwrotnicy zostaty usunigte.

Jesli wystapia problemy, w pierwszej kolejnosci sprawdz okablowanie kabli. Jesli uzywasz wzmacniaczy wiecej niz jednego producenta, sprawdz polaryzacje na
wzmacniaczach i gtosnikach.

Wzmocnienie i obstuga mocy

Podobnie jak we wszystkich profesjonalnych systemach gtosnikowych, moc jest funkgja pojemnosci cieplnej cewki drgajacej. Nalezy uwaza¢, aby uniknac wpiecia
wzmacniacza w przesterowanie (przesterowanie jest koricowym skutkiem przesterowania dowolnego wzmacniacza). Uszkodzenie gtosnika bedzie trwate, jesli
wzmacniacz zostanie wcisniety w zacisk na dtuzszy okres czasu. Powinna by¢ dopuszczalna wysokos¢ co najmniej 3dB. Podczas oceny wzmacniacza wazne jest, aby
wziag¢ pod uwage jego zachowanie w warunkach ohciazenia o niskiej impedangji. System gtosnikow jest wysoce reaktywny i przy sygnatach przejéciowych moze
wymagac wiekszego pradu, niz wskazywataby na to impedancja nominalna.

Ogdlnie rzecz biorac, wzmacniacz o wiekszej mocy dziatajacy bez znieksztatcer spowoduje mniejsze uszkodzenie gtosnika niz ciagte przesterowanie wzmacniacza o
nizszej mocy. Warto rowniez pamieta¢, ze wzmacniacz o duzej mocy, pracujacy z mniej niz 90% mocy wyjsciowej, generalnie brzmi znacznie lepiej niz wzmacniacz o
nizszej mocy, pracujacy z 100%. Wzmacniacz o niewystarczajacych mozliwosciach wysterowania nie pozwoli na uzyskanie petnej wydajnosci lub wykonanie gtosnika.

W przypadku uzywania wzmacniaczy réznych producentow w jednej instalacji wazne jest, aby miaty bardzo scisle dopasowane wzmocnienia, odchylenie powinno by¢
mniejsze niz +/- 0,5 dB. Ten srodek ostroznosci jest wazny dla ogéInej réwnowagi systemu, gdy tylko jedna aktywna zwrotnica jest uzywana z wieloma kolumnami;
dlatego zaleca sie uzywanie w catym urzadzeniu tych samych wzmacniaczy.

Na stronach specyfikacji znajdziesz moc wyjsciowq gtosnikdw VQ w trzech kategoriach: -
Srednia (RMS), program i szczyt

Zalecamy uzycie mocy programu podanej w specyfikacji gtosnikéw, aby wybrac wtasciwy wzmacniacz. Aby zrealizowac petny potencjat gtosnikéw VQ, znamionowa
moc ciagfa wzmacniaczy powinna by¢ réwna programowej mocy gtoénikéw przy ich impedancji nominalnej.

Zalecana moc wzmacniacza serii VQ
VQ60/100 Wymaganie mocy
Niska czestotliwos¢ 2000 W przy 4 omach
Pasywne MF/HF 400 W przy 8 omach
Srednia czestotliwos¢ 400 W przy 8 omach
Wysoka czestotliwos¢ 200 W przy 8 omach
VQDF
Pasywne MF/HF 400 W przy 8 omach
Srednia czestotliwos¢ 400 W przy 8 omach
Wysoka czestotliwos¢ 200 W przy 8 omach
VQMB 2000 W przy 4 omach

Systemy zarzadzania gtosnikami

Gtosniki z serii Tannoy VQ zostaty zaprojektowane do wspdtpracy z elektronicznym procesorem sygnatu, ktéry zapewnia funkcje zwrotnicy, korekji, opdznienia

i dynamiki. Zdecydowanie zalecamy Lab Gruppen z serii PLM + lub D z ustawieniami fabrycznymi z biblioteki LAKE. LAKE LM26/44 DSP przy uzyciu tych samych
ustawien fabrycznych z biblioteki obcigzenia LAKE w potaczeniu z Lab Gruppen serii Club serii FP + przy uzyciu modeli z odpowiednia mocg wyjsciowa dla wybranych
szaf VQ jest réwniez zalecane. Oprogramowanie Lab Gruppen CAFE zapewnia kompleksowe rozwigzanie do wyboru najlepszej mozliwej kombinacji produktéw z

serii PLM + lub D do wszystkich gtosnikow Tannoy, umozliwiajac uzytkownikom uzyskanie doktadnych danych technicznych dotyczacych dostarczania mocy, poboru
mocy, mocy cieplnej, wymagan dotyczacych infrastruktury kablowej oraz kalkulatora BOM. Wiecej informacji o produktach LAKE i Lab Gruppen mozna znalez¢ na
stronie www.

Olinowanie i zawieszenie

Sprzet VQ oméwiony w tym przewodniku zostat zaprojektowany tak, aby oferowac szybkie, proste i bezpieczne rozwiazania do montazu okreslonych gtosnikéw
VQ. Ten sprzet zostat zaprojektowany i wyprodukowany z wysokim wspétczynnikiem obciazenia bezpieczeristwa dla jego okreslonej roli. Aby zapewni¢ mozliwie
najbezpieczniejsze uzytkowanie sprzetu opisanego w tej instrukgji, nalezy go montowac scisle wedtug podanych instrukgji. Informacje zawarte w tych instrukcjach
dotyczace montazu i bezpiecznego uzytkowania tych akcesoriéw musza by¢ zrozumiane i przestrzegane.

Montaz gtosnikow VQ przy uzyciu dedykowanego sprzetu powinien by¢ wykonywany wytacznie przez w petni wykwalifikowanych instalatoréw, zgodnie ze
wszystkimi wymaganymi przepisami i normami bezpieczefistwa obowiazujacymi w miejscu instalacji.

OSTRZEZENIE: Poniewaz wymagania prawne dotyczace lotéw zmieniaja sie w poszczegdinych krajach, przed zainstalowaniem jakiegokolwiek produktu nalezy
skonsultowac sie z lokalnym biurem ds. Norm bezpieczeristwa. Zalecamy rowniez, aby przed rozpoczeciem pracy dokfadnie sprawdzi¢ wszelkie przepisy i regulaminy.

Sprzet VQ zostat zaprojektowany do uzytku wytacznie z gtosnikami serii VQ i nie jest zaprojektowany ani przeznaczony do uzytku z innymi produktami Tannoy
Commercial lub innymi urzadzeniami innych producentéw. Uzywanie sprzetu Tannoy Professional do celéw innych niz wskazane w tym przewodniku jest uwazane za
niewtasciwe uzytkowanie. Takie uzycie moze by¢ bardzo niebezpieczne, jak przeciazanie, modyfikowanie; montaz w jakikolwiek inny sposdb niz wyraznie okreslony w
instrukgji lub uszkodzenie sprzetu VQ zagrozi bezpieczeristwu. (zesci sktadowe dowolnego urzadzenia VQ moga by¢ montowane wyfacznie przy uzyciu dostarczonych
zestawdw akcesoridw i Scisle wedtug instrukcji obstugi. Stosowanie innych akcesoriéw lub niezatwierdzonych metod montazu moze spowodowac powstanie
niebezpiecznego systemu okuc poprzez zmniejszenie wspétczynnika bezpieczeristwa tadunku. Spawalniczy,

Za kazdym razem, gdy gtosnik VQ jest mocowany do powierzchni za pomoca sprzetu VQ, instalator musi upewnic sig, ze powierzchnia jest w stanie bezpiecznie i
pewnie utrzymac tadunek. Zastosowany sprzet musi by¢ bezpiecznie, pewnie i zgodnie z instrukgja, przymocowany zaréwno do gtosnika, jak i do danej powierzchni,
przy uzyciu wytacznie otworéw mocujacych dostarczonych standardowo i opisanych w instrukji. Niezbedne sg bezpieczne mocowania do konstrukcji budynku. W
razie watpliwosci zwréc sie o pomoc do architektéw, inzynierdw konstruktoréw lub innych specjalistow.

Wszystkie latajace gtosniki musza by¢ wyposazone w niezalezne, prawidtowo dobrane i bezpiecznie zamocowane dodatkowe zabezpieczenie - oprocz
podstawowego urzadzenia sprzetowego. To dodatkowe zabezpieczenie musi zapobiegac upadkowi gtosnika o wiecej niz 150 mm (6 cali) w przypadku awarii
podstawowego urzadzenia.

OSTRZEZENIE: Pod zadnym pozorem nie nalezy uzywac uchwytéw gtosnika do podparcia ciezaru gtosnika, z wyjatkiem celu ich uzycia: przenoszenia w rece. Uchwyty
nie s przystosowane do przenoszenia obciazenia gtosnika przy tymczasowej lub statej instalaji.

Gama gtosnikéw VQ jest przeznaczona do montazu podwieszanego lub ustawiania na ziemi. Ta sekcja szczegétowo opisuje, jak fizycznie skonfigurowac flyware
VQ i macierze. Ponizej przedstawiono zalecane metody w wiekszosci sytuacji. Specyficzne sytuacje moga wymagac innych metod. Obowiazkiem uzytkownika jest
okreslenie zywotnosci i bezpieczeristwa metod alternatywnych i odpowiednie ich wdrozenie..

(PL



82 VQ Series

Latanie pojedyncza szafka VQ za pomoca srub oczkowych

Najprostsza metoda latania pojedyncza szafka VQ jest uzycie pary srub oczkowych M10 na gérze i uzycie trzeciej Sruby oczkowej z tyhu szafy do przechylenia szafy.

=

KUTA SRUBA OKULOWA VEB

Gtosniki VQ mozna lata¢ za pomoca wysokiej jakosci srub oczkowych VEB M10 z kotnierzem zgodnym z BS4278: 1984. Gosniki
59 Wyposazone w wewnetrzne stalowe wsporniki, ktdre petnia rowniez funkcje latajacych punktéw, i s3 wyposazone w $ruby
oczkowe VEB M10.

Aby zainstalowac sruby oczkowe VEB M10, usuni oryginalne $ruby z tbem wpuszczanym M10 z miejsc, w ktérych chcesz
zainstalowac sruby oczkowe VEB M10. Nastepnie zamien te wpuszczane $ruby M10 na sruby oczkowe VEB M10. Wktadka M10 z
tytu obudowy akceptuje rdwniez Srube oczkowa VEB M10 i powinna by¢ uzywana do odchylania gtosnika pod zadanym katem.

WAZNE: Ze wzgledow bezpieczenistwa ze wzgledéw bezpieczeristwa konieczne jest uzycie co najmniej dwdch $rub oczkowych
pofaczonych z dwoma niezaleznie zamocowanymi pasami na szafke. Nigdy nie zawieszaj jednej obudowy na drugiej za pomoca
Srub oczkowych.

Nigdy nie probuj uzywac uformowanych Srub oczkowych, tj. Uformowanych ze stalowego preta i zagietych w ucho.

Latanie pojedyncza szafg VQ w orientacji poziomej przy uzyciu kutych srub oczkowych EBS

VQ Flying Bracket (Single Point Hang Flying Bracket)

W celu zapewnienia bezpieczneqo, elastycznego i prostego latania, wspornik VQ Flying zostat zaprojektowany do podwieszenia obudowy VQ w jednym punkcie
obrotu. Pozwala to na precyzyjna requlacje katéw celowania z obudowa na miejscu. Latajacy gtosnik VQ musi by¢ wyposazony w niezalezne, prawidtowo dobrane
i bezpiecznie zamocowane dodatkowe zabezpieczenie - oprécz podstawowego urzadzenia sprzetowego. To dodatkowe zabezpieczenie musi zapobiegac upadkowi

gtosnika o wiecej niz 150 mm (6") w przypadku awarii podstawowego urzadzenia.

Uwaga: Wszystkie mocowania powinny by¢ zabezpieczone $rubami i dokrecone momentem 25 Nm.

Koricéwka drazka jest uzywana w potaczeniu ze wspornikiem latajacym VQ. Dostepne s3 dwa rodzaje koricowek ttoczyska. Jeden jest przystosowany do pretéw

TS

1

Podkfadka zwykta M10

Quick Start Guide

Podkfadka sprezysta M10

Sruba M10 x 50 mm

w | W | w

S lw N

Latanie na wsporniku - VQ

gwintowanych %2" UNC, a drugi do pretdw gwintowanych 12 mm. (Pret gwintowany dostarczany przez uzytkownika)..

Przedmiot nr. Opis llos¢
1 Koricéwka drazka - VQ _“UNClub 12 mm 3
2 Sruba z them walcowym M12x45 3
3 Nakretka M12 Nyloc 3

—_

83

@



84 VQ Series

Odkrec dwie przednie $ruby z tbem stozkowym M10 znajdujace sie na gorze obudowy i gorng srube z them stozkowym M10 na gérze z tytu obudowy. Zamontuj
latajacy wspornik, jak pokazano. (Zob. Rys. 1)

WAZNE: Do montazu wspornika ptywajacego VQ nalezy uzywa¢ wytacznie dostarczonych srub, tacznikow, podktadek odpornych na wstrzasy i zwyktych. Uwaga:
Wszystkie mocowania powinny by¢ zabezpieczone $rubami i dokrecone momentem 25 Nm.

Po zamocowaniu na miejscu koniec drazka mozna przesuwac wzdtuz dowolnej z pieciu zabkowanych krawedzi w kazdej szczelinie, aby precyzyjnie dostroi¢ kat
nachylenia gtosnikow. (Patrz rys. 2) Uzyty pret gwintowany nie powinien mie¢ wiecej niz 300 mm (12") dtugosci. Uzytkownik jest odpowiedzialny za dostarczenie
odpowiedniego preta gwintowanego. Minimalne specyfikacje preta gwintowanego to: -

USA - klasa B7 (1438 funtéw, 650 kg na pret 2 “przy wspétczynniku bezpieczerstwa 10: 1)
Metryczne - klasa 10,9 (1459 funtéw, 660 kg dla preta 12 mm przy wspdtczynniku bezpieczeristwa 10: 1)

Uzyj odpowiednich nakretek, aby zablokowac koniec preta na precie gwintowanym (dostarczane przez uzytkownika). Uzyj nakretki Nyloc na gdrze preta
gwintowanego, aby zabezpieczy( zacisk stojaka (dostarczany przez uzytkownika).

Pret gwintowany mozna przymocowac do odpowiedniego akcesorium Uni-Strut.
Zawsze uzywaj nakretek Nyloc do mocowania preta gwintowanego do zacisku stojaka lub Uni-Strut.

Montowanie systemu nagtasniajacego moze by niebezpieczne, chyba ze zostanie wykonane przez wykwalifikowany personel z wymaganym doswiadczeniem i
uprawnieniami do wykonywania niezbednych zadan.

Mocowanie punktéw podwieszenia na dachu powinno by¢ zawsze wykonywane przez profesjonalnego riggera i zgodnie z lokalnymi przepisami lokalnymi.

Z jednego preta gwintowanego mozna przelecie¢ maksymalnie VQ 60 + VQ MB + VQ DF (350 funtéw, 160 kg). Ta kombinacja zapewnia wspétczynnik bezpieczerstwa

8:1. (Zob. Rys. 3)

(fig. 1)

Quick Start Guide 85

Plyta taczaca VQ
Phyta faczaca VQ stuzy do taczenia VQ DF lub VQ MB z szafa VQ 60 lub VQ 100. Do potaczenia kazdej szafy stuza trzy ptytki taczace. Phyty faczace s dostarczane
standardowo z kazdym VQ DF i VQ MB.

Odkre¢ wkrety z them stozkowym M10, jak pokazano na schemacie obok. Uzyj tych samych Srub, aby zamocowac ptytke faczaca. Ptyta taczaca zostanie umieszczona
réwno w zagtebieniach szafki. Dwie dfuzsze Sruby M10 sa dostarczane z ptytami taczacymi. Tych $rub nalezy uzy¢ do zamocowania ptytki tylnego tacznika na miejscu.

Uwaga: Wszystkie mocowania powinny by¢ zabezpieczone $rubami i dokrecone momentem 25 Nm

LINK PLATE

Uzywanie VQ MB do dodatkowego sterowania wzorcem
Ptytataczaca VQ stuzy do taczenia VQ DF lub VQ MB z szafa VQ 60 lub VQ 100. Do potaczenia kazdej szafy stuza trzy ptytki taczace. Ptyty taczace s3 dostarczane
standardowo z kazdym VQ DF i VQ MB.

Odkre¢ wkrety z them stozkowym M10, jak pokazano na schemacie obok. Uzyj tych samych Srub, aby zamocowac ptytke faczaca. Ptyta taczaca zostanie umieszczona
réwno w zagtebieniach szafki. Dwie dtuzsze sruby M10 sa dostarczane z ptytami taczacymi. Tych $rub nalezy uzy¢ do zamocowania ptytki tylnego tacznika na miejscu.

@



86 VQ Series

Tablica VQ 60

Pojedynczy VQ 100 moze wytwarzac wieksza moc i klarowno$¢ w swoim obszarze 100-stopniowej szerokosci wigzki niz wiele rozwiazar szeregowych
wykorzystujacych wiele szaf, co jest wielka zaleta, biorac pod uwage estetyke budynku. VQ 100 nie jest przeznaczony do ustawiania w macierz.

Dwa VQ 60 mozna ustawic w szyku, aby uzyskac dobrze zdefiniowany poziomy kat pokrycia wynoszacy 120 stopni.

Plyta VQ array zostata zaprojektowana tak, aby optymalnie ustawi¢ dwie szafy VQ 60. Aby zamontowac ptyte, ustaw pudetka na ziemi tak, aby tylna krawedz szafek
sie stykata. Odkrec dwie Sruby z them wpuszczanym M10 i wymien na $rube M10 lub dostarczone Sruby oczkowe. Zlokalizuj cztery $ruby oczkowe M10 z dostarczonego
zestawu mocowan i wi6z je przez ptyte szyku do punktéw mocowania w szafie. Beda one uzywane do podniesienia tablicy Powtérz te sama procedure na dole szafek,
uzywajac Sruby M10. Podczas lotu w orientacji poziomej Sruba M10 moze by¢ uzywana na obu ptytach szyku.

Uwaga: Wszystkie mocowania powinny byc¢ zabezpieczone $rubami i dokrecone momentem 25 Nm

Do zawieszenia macierzy zalecane sa dwa niezalezne punkty podnoszenia. Gtwnymi punktami odbioru sa dwie tylne $ruby oczkowe. Dwie przednie Sruby oczkowe
moga stuzy¢ jako punkty bezpieczenstwa.

Przedmiot nr. ‘ Opis ‘ llos¢
1 Podktadka zwykta M10 8
2 Podkfadka sprezysta M10 8
3 Sruba M10 x 50 mm 8
4 Sruba oczkowa M10 4
5 Wspornik tablicy 2

Quick Start Guide 87

IS

VQZILLY VB MBORSA/N\—FT7/OY—%ZFALT Ab—LY MaB—RHRRERGF U, VT ILR—VICEE Uic & EIC
BN BEIEHZERRLE T, COBERKECEID MIVRT 21— —DFER LI AES N BHSEITDIE—DIL—LYNE
EMNMRHtENET T,

RSA/N\N—(F. 2 DDORIDNBIRY VIS4 T 75 L% ERLET, 2 DD REVWHICIE3S AV FDRAZAIAILHEGB D, 400Hz hr S
TkHz FTORRBEBEELE T, 22 TDEHS 1 DORELFEE. R—HILEEOELICTARA—/\—D W sh, TOEERS
BTRHEARTUREDIE— LY MEBAEIRIEENDZETT 2V FHRIA T I ILIE Iy Y TFeld7o 7470 A—/N
—HENUTTkHz ~ 22kHz TS E £, AR IF. SEDNIBEEEITEBEENEMRDIO DR IFLREGER RIS B8 HE—
NV IHEBZTWET,

AXI517—7)

ANARTINRRIL

EVQ60 BXTVQI00 (&, /N1 7> TEIEDIRIEE LTSN TVE T,

NUFZZNI YT ANGFEERUTNS A7 TEEL FIRET T,

VQDF (&, > IV 7 v TRIEDFEZEE U TEBRENTWE Y, NUFRN Yy TANmF2ERL T\ 7Y TBENTRETT,
VQMB &, > 7IV7 > TEMERICER S N TWE T,

VQ60/100 VQ DF

LF MF HF MF  HF
-+ - + - + -+ - +

1] 1

INK WIRES VQ 60 INK WIRES || VQ 64DF

TANNOY | 2covren | TANNOY | ccoven |

)PERATION )PERATION

=171 =171

VQ MB

PL

s [®

JP



88 VQ Series

VQ60. VQ 100, & KUVQDF Icid. EERRBRD 4B/ KNy A AV ARV FENYTF IR TIHEDFF 5N TWET,
A aViER-
Speakon Il EP B LXIR 7+ 7D IART FICHR TROF =N H DT,

ITRTCOEIHFIFIFATLLRATY, hickD, BREBREFIFT7—ILRY—EADREBERIGEDEENEKICADET, Eald. AERLER
K15mm, EFREEN 0T RTFD6FEAMMDITAVEZIIANE T, AJ/RILOBHEICHZAN/EALELTHEANEINS 2 DDRE
vy hoEVE, BIIDOVQ AE—H— (VQMB ZR) NDEHRZARSICT 2/cHIc T/ O—Iv—RNATHEFICR>TWET,
Tannoy l& VQRRITEED TOT7 vy 3 HIA—T+ ARERAUEFALTWET,

* v VQ 60 and VQ 100

Speakon Connections VQDF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)
MF/HF Negative (-ve)

MF/HF Positive (+ve) No connections on pins
MF/HF Negative (-ve) 2+and 2-

INUT ARy TR

INUTZZRNY YT, BIE. BAYFEIN)—R, FEFEAR—RNROARIZITH/HIELET, /NUTFANI YT E, EE/BAMNLKE THE
AT 370HIERIICERET SN TVET, VQ60 S KTVQ100 i, /N1 7Y TEIMERICER SN TVWET, KRig/SCRILD2DD/NUF7AKNY
YIEDARDY D TAVPERDONT &I LD, N7V TBRIEDNTEETT, VQDF (> VIV 7 Y TREBICBR SN TWET,
RIH/ISRILD 2 DDINY T AN TED 4ERDY 7 DAV ERDNT &Ik D, INA 7V TIBENTIRETT,

Quick Start Guide 89

Damping Factor*

Cable Run Diameter of Cable Wire Loss (dB)
conductor Resistance
40hm 8ohm 40hm 8ohm
Load Load Load Load

VQ60/100 /N1 77> -

VQ60/100 kS 17> F -

VQDF ¥ > I INT > T -
VQDF /XA 77> 7~

LF 7> T7ZNNUF ANy TD—ELEDFID LF+/- [CEEHRULE T,
MFHF 7 > 72 XU 7 AUy FDOTEED MIHF +/- ICHEER L E 9

LF7 > T7ZN\UFZAR)yTD—2LEDFID LF+/- [CEEHRULE T,
MF 7> &NV P AND T D—F EDTID MF+/- [CEERLE T
HF 7> 7 & XU 7 AR Yy T D—8EEDFID HF +/- (TR L E T,

MFHE 77> 772 )N) 7 AR U 7O TERD MEHF +/- ICEE T LK T,
MF 7> 72NV P AND Y TD—FLEDTID MF+/- [CEERR LT T

HF 7> 7 &)XV 7 ZARD vy T D—8EEDFID HF +/- (TR LE T,
VQMB - 7y 7% F+- iR FICERLE I,

BIMDODRAE—H—ICIL—TFTIORT 2L, PYTDERENERBRINDEITGERELTLIEETW, PV TOEHREELLTERVESICL

TLIEE W, PV TOEENRINAA—LDIFEE. 2 A—LDEREMNMTBVWTLTEE W, J /7’®m¢§b\27r LA >TWB5
ETH. BAICBW DL IEHICEIFEICIELEILD BIEBMNCEWERM TN, R TUEITDZINENGH D EITSER LTSV, i
BREBADKRELRBLEFT TR YRATLADBERBEHETLUES, 7Y IHSRE—H—F LD T =TIV %IRRT Dh. Bk

2 D07 VT FrRIVIEREI T Z2ANEWEENHDET,

T DRERF, EIT—TILORES LGV E—F U RCEELTEVWKHEBEZRIRT 5 & TS NET, MEEI NS
We T—TILOBEFHEFRHIEINL, BHBRKREINEDEE (RRARE) NREELET,

ARG 25FAMMM T =) U EDT—TILTRIRT DDENHDET, TN BEORHET TRELICTHEDVWHDTY,
FEBICRWI—DIVERDBE, 71V T A X INZBRIEDENHDET, ROKIF. 2 DDRMA VY E—F YV AEH G A—LE
8A—L)DT—TILDERERESDEEICLZIEN.. BREEBXL BIORERREOELERLTVWET, COXRZHEALT DERE
RORSICELT—TIVERZRELE T, REVTESNIRERARICOVTIE, —KRIC N0 ZBAZENSHED RVATLA
ICBELTWSERBENE T,

0

1.5mm 0.10 X

2.5mm 0.04 0 1 108 N 216 X

4mm 6 0.01 0 0 255 X 510 X

6mm 3 0.01 0 0 494 X 988 X

10 33 1.5mm 15 0.20 0.4 0.2 19 X 41 X
2.5mm 10 0.07 0.2 0.1 55 X m X

4mm 6 0.03 0.1 0 136 X 272 X

6mm 3 0.01 0 0 282 X 563 X

25 82 1.5mm 15 0.49 1 0.5 8 X 16 X
2.5mm 10 0.18 0.4 0.2 23 X 45 X

4mm 6 0.07 0.1 0.1 57 X 114 X

6mm 3 0.03 0.1 0 123 X 246 X

50 164 1.5mm 15 0.98 1.9 1 4 X 8 X
2.5mm 10 0.35 0.7 0.4 n X 23 X

4mm 6 0.14 0.3 0.1 29 X 58 X

6mm 3 0.06 0.1 0.1 64 X 127 X

100 328 1.5mm 15 1.95 3.5 1.9 2 X 4 X
2.5mm 10 0.70 14 0.7 6 X n X

4mm 6 0.27 0.6 0.3 15 X 29 X

6mm 3 0.12 0.3 0.1 32 X 65 X

EROBRFBBOBIER. 8mBOT7O7cy>atLry 7 eERLTEEHENTVET

BEFTyY

AE—H—IAFLERIETHIIC, RIROBHEEERITDCENTEEETY, FZZYMD/ULAR—ZDIBHEF v h—RLTIh
HEIISEBERAEREIRDEEDTIT, 2RKDTAV7—%PP3/\wTU—D +ve BE Ve I FITIEFLUE T, /Ny T U—D +velmgFICEE
HENTVWBTAV—EAE—H—ORII—DEY 1+ [CERINTWBEBDNEZAE—H—T—TILLy JIcERE L. BRRIC/\y
TF)—D-ve LYy I HEE Y 1- [CEEHRLE T,

FULKBIRTZELFRTA T2y MO EITAICEE L, BENELWTEERUET, HoTWBDIE, +ve AE—H—D)—Rig% 7
V7D +ve i FITER U, ve U—RIRE 7 > 7D ve i FICERT T 2 &2 TY, /2L LF RSAN—DRF ICBEN T 255 (1E
ANERERGITDIHENHDET,

FRTEITROBEF v H—HHBHDET (viePA™ NTI™), SMAART™, SYSTUNE™, CLIO™, MLSSA™ i EDRART NSLTF +S5A Y% ERL

TBIDEDRA VT DA VINAIGEEF v I T3 ElcED, YRTLEFEBELIT DHE, FT v/ 9 5R1lc, QE/OXA—/N
—JAIFYUTHBIBRENTWSZ EEERLTIEE N,

FENREUIEE I RUICT—T I OEREFANTLLEST W, BEOA—N—DOF VT ZFERLTWDEEIF. T
_wﬁﬁ'E%ﬁEwu LK 7L_éb\

VIERE=R

HEiRE EHUE

INTOTAKRDAE—N—Y AT LERKIC, EALEBERA R I OBBFEDEK T, 7o TRV Y FITRDODEHRNE

SICERITBIRENHDET (VI TRBT YT eA—N—RIATUIHERTT ) 7Y T2REBIVYTICHRULAL E AE—H—
DEENFHRLE T, PREDIBDOANYRIL—LZFAT2RENHDET, 7‘/7’&%@@‘%&%@\ BA Y E—FVRADBERSR
BT TOBEZERIZIENEETY, IVRAE—A—IRATLRRBENSEL BEESDHE AMA Y E—F Y ADRITLD
L DBERZVHDEETBAREMEDHDET,

—MRIC. BHDBWEEAT Y T ABE AT Y ITHERIC I Vv EY T TEENDERAE—H—ADIA—IDNDERLBDFET,
foo HABAD 0 BERFATHETZEEAT Y FId. —RRIC 100 B TEET RELEAT V7LD BIEBINCEBNTWEZEEEZTH
AEED B D E T, BRENBEAN AT DR TV T Tl 7T =XV APAE—H—%2RBTEFE A,
B—DRECTCERBIA—N—OF7 VI HFERITZDIHE. 71 YN EBICEBIC—HRUTWSIENEETY, ZEE +/-0.5dB K& TH
ZNERHDET, COFHEBIZ. BE—DF I T« TIVARA—/N\—DIINERDOF v ERY NTERESNTVBIES. VATLLE
DINTGVRAICES>TEETY, Ueh' > 26 %EBLTRU7Z VY 72 ERBIZEaBHHLET,

ERAR—=VITIF VQRE—H—DENLEBEEAN I DOATTY—T5HINTWVWET, -

S RMS) . 7OV A BLE—Y

AE—H—DARICEEH SN TWB IO ZL/NT—%FERLTC EULWP Y I ERBIRTZEEREHLET, QAE—H—DRAD
TREMZRIRTBICIE. 7Y TOERERE NI, DMA Y E—F VA TORAE—H—D 7OV T LEHEZE UL RITFNIERDEE A,

(P



90 VQ Series
VQ Series Recommended Amplifier Power
VQ60/100 Power Requirement
Low Frequency 2000 Winto 4 ohms
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 Winto 8 ohms
High Frequency 200 Winto 8 ohms
VQDF
Passive MF/HF 400 Winto 8 ohms
Mid Frequency 400 W into 8 ohms
High Frequency 200 Winto 8 ohms
VQMB 2000 Winto 4 ohms
° == S —
AE—H—BEIATL

TannoyVQ &) —ZXZAE—=H—(d. VOARA—/N\— A A1 E—a>. ToL 1. F1 Iy ez R HIZEFES /Aty —7
FEATEZEIICHATNTVWES, IMEO—RZ17ZVDT7 7o )Ty N EZ fz Lab Gruppen PLM + £/ (& D U —X%Z3@<&H
#HULET, INEO—RZATZUDRAC 77V NI Tty AT S LAKELM26/44DSP & 3#IRULIZVQ F v ERy MIEYIRHNE
NEBAICETIVEERT S Lab Gruppen ( 2 —XFHT2lE FP+ 2V —XH K EIH LE F, Lab Gruppen CAFE Y 7 R 7 7 I, PLM + F/cld
DY —RHBDHREREDREDHEAEDLEETRTD Tannoy AL—H—HRITRIRT B D BIEMRY Ua—ya v wiRHU,
IA—HY—HDBAEIE. BIHEE. BN T—TIA Y T7IARNT IV F v EH, ELUBOM B OIEREREMN T — Y ZBETE354L5
ICUE T, LAKE 35 & U LabGruppen BEDFEMIT D WTIE, wwwic 77 EZZALTLREE W,

VX JEGARY V7Y

ZDHARTEHATZVQ/\—R I 7IF BFEDVQAE—H—EED A FBcHDRETI Y T DZLRY ) a—r a3V ER ity
BESICHEFESNTVET, TO/N\—KRIx7F. FOEEDRIDHICEVWEEABRRTHRARICEESNTVET, TOHIRN
ICEE SN TWB/N\—RI T P ZAERREDZRIERITBICIE. IBESNICEBRICEBICH >STHAIL TEZRENHDET, Ins
DT T DRI TELRERFERICEETEZINSONZaT7IILDBEREBEL, ZNICKSHENHDFT,

BRAN-RY7ZEALEWQAE—A—DRER. RESBAM TCEASNSGINTORERZED—NREEEICH ST, TRICER
DHBIREEDHHNRTIDDLENHDET,

EERITICEAIDENERHREICEI>TRRBSICH, HMZERET BRIIC. RFVDDOREREERICTEKI LS W, e, (FEZRA
FBHENC ERPHAIZ T2 ICHER T2 EzB8HLET,

VQN\—=RI7IE QY —ZXZAE=A—TOMERAT DL SICERETSNTE D, D Tannoy Commerdial @B C DA —H—DT/\A X T
FERTDLSCEFRE R LEFRREINTOWE R A, ZOHA RITIRSNTWB LS DB Tannoy Professional /\— R = 7= EHT2 2

Ll NEYRERERBEINE T, TOLSBRERF A—/\—O—R, TERE, FEEICBBRBIBENBDET, V22 FILICATE

NTWBHUANDAETHHAITRED QN R I 7EEBELED TS L, BN ERDNET, VQ/N\—RT7 7 7/\1 2OEBRE M
F EOT7I Y UF YN EFRAL. -T2 FILICEBICERU COHEHL TEDRENHDET, thDT7I 2zt U PERIN
TWEAWEMITHEEZERTRE BEOLEENMET U, \—RILPIVRATANRE THIBBAREENHDET, B

VWQN\—RIx7FN\A REFERALTWQRAE—H—2KRAICEET DB EEIC. REEIRANZTEHI DERICETEXZEIEN
TELIEEERTINENHDET, FRAITD/\—RIT7d. B2 DERIC.NZaTIICHE>T AE—H—EHBOREDM
HIC BETRHBEIN. Y227 THN—ZNTWBEENRDHEFERUTED A 5N TWIRENHDE T, BYDEEEL>H
DEBEIETBIENEETY, BN HZIHEIE. BER. BET Y YT, £EZFDMOEFMRICEIFEZRDHTIIZE W,

RITITBINRTDOAEL—H—IClE, FER/N—R T 7T/I\A RICIMA T, M2 Ul EUKER SN, Lo b ERD S hic Z k%
PEBMEDL>STVWIRENHDET, COTRHBEEMICED, FEQ/N\—RIz7T/I\ARACEBENRLELIBEIC. AE—H
—HY150mm (6") ZRBATE T I 2DZHSHENHDE,

EEFRERETOFEAZBVT WHEBIIRETHEAE—I—D/\VRILZFERULTAE—H—DEEZ X ZHBWVWTLIEEW, \VRIL
F. —EBREIEANBRREDCHICAE—H—DaEEYR— N2 LS ICEHAESh TWE A,

ZURZAE—H—DWEHEIL. RO TIFELIFTTZIVRAYYIEBRNELTWEYS, 2OEIYavy TR Q751777 LA

EYBMICHER T EICDWTEUSEHBLET, UTIE. BEAEDRATHRINZHETT, BEDRI TR ORI
HILRDBAEDNHDET, REFTEDOETAREHE T2 EHIITL. ZNIIEUTENSZRE T ZDF I —DEFETT,

Quick Start Guide 91

PAMNILNZERUTE—D VQ ¥ rEXRY M ERITIS

B—DWFrERY NERITSEIROBEBAEE. LEBITMO0 VNI —TFARILNDORT7ZFEAL. FrERYNOEHEICH S
3BEEHOTAMILNEERLTFrEXY M EMEITHIETT,

VEB & 771 RIL b~
VQ AE—H—I[&, BS4278:1984 [c h T — R =DEME VEBMI0 PARILMNTRIST CENTEE T, AE—
H—IlF 7oAV T HRA Y N EFRBZALAF—ILIT L —ADEHFINTHE D VEBMI0O PARILN %52
FTANEY,
VEBM10 771 7RJL N ZEXD Af 17 B [ i&. VEBM10 77 7RJL b ZERD 3 B I5FTH ST D M10 MR ZELD 44
LET, RIT. TNSOMITE MI0 RV % VEBMI0 PARILNERILE T, FrERYNOE@EICH S

M10 1 > — K&, VEBMI0 ZARILMCHRIGLTHED, RE—H—%HLOAEICIET2HICERT
ZRHENHDET,

BEEZE LOERIS, FrERYISEIR2DDMIUTEESNZAN S Y ZICU VI SNRIE
2DDTARIVNEFERITDIENRARTY, PAMINEFRALT —ADIY/O—Yv—%2H5—
ADIVIA—=Iv—h5mDTIHFRNWTLIEE L,

RS 7A4mILs DFEDifiENSER SN, BICHIFSN7ARILNEFERLES ELBVNTL
&0,

EBS $BE 7 NIL N ZFERALTERAE TE—DO W F v EXRY b ERITIS

(P



92 VQ Series

VQ 73T 73T YNV TIVIKA VYNNI T IS4 TTZT YN

BETERBD DIV TINBT AV TDEDITNQT AT TZT Yy MINFrERY MEBE—DERY MRA Y M SMROTIF5 &
SICREFENTVET, TNICED. FrERY N EZ DS TREFEZIEICHETEX I, 7717 WQAE—A—(CE. TER/\
—ROLFF/IARITIZT, HIZUTe, EUKERS N, LoD ERD TSN ZRRERBENMED >TVWDIRENHDET,
COZRNBREMICED, FEBN\—R U7 T/\A RCEEDRELUIZRIC. AE—=A—DN150mm (61> F) ZB A TET IS
DEHSBENHD T,

FEINTOEERIF. ALY RAYIZLT2BNM DMLY THED 2 RENHDE T,

Item No. Description Quantity
1 M10 Plain Washer 3
2 M10 Spring Washer 3
3 Screw M10 x 50mm 3
4 Bracket Flying - VQ 1

OYyRIVRIEWQ 74T TSy heBAELETERLET, AVRIVRICIE2BESHDET, 1 DiEh 1Y F UINCRIAFEAO
YREZFANDESICERFFTNTHED, 512 2mm RIMFEOYREZIFANE T, (- —D AR LR UE),

Item No. ‘ Description ‘ Quantity
1 Rod End —VQ _" UNCor 12mm 3
2 Screw M12x45 Cap Head 3
3 M12 Nyloc Nut 3

Quick Start Guide 93

FrERY SO LEERICHBHIED 2 DDOMRI MO RV & FrERY NOEELEBICH D EEDMOMR Y ZERDALET, IOLS
LTS24V T TITy RN EBAHILTET, (M122R)

BRI 7 737y hOBHITICIE FBORI BHE. ik, T2 v—DAHZEFEBLTLEE VN EINTOEEER
F ALY RAOYZLT2NM DRLY TRESDZDRENHDFT,

FIEDMEICEET S L. AY RDFZERZAOY RAD 5 DDWERD LY JOVWIT MR >TBEIL T AE—H—DERBEZH
HETEET, (M2Z22R)EATZRUEDORSE300mm (12') U T THEIBLENHDET, ELVWRUBEZRMHITZDEI—H—0D
BEETT, RUBDORIMIRIERDER DT,

KE-JL—RB7(1838 7RV R, Z2E 101 ICE D %' Oy RDBEIF650kg)
A—=RNJVE -7 L—K 109 (1459 Ibs, 2K 10:1 IcED< 12mm O KD E 660kg)

WYIaF Y hZ2ERALT Oy ROmERIMHEOY R (A—F—HrEHR) IcOv 7 LE T, XIFEDY ROLEEBICEH 2 Nyloc 7 hZfE
BULT R=Lo 50 7ZEELET (- -1 HR).

RIMEOYRIEF BYRERD Uni-Strut 77 BT VICERD G IFZ2ENTEERT,
RIMEAYRZR—INI VT EFIZANT Y MIEETBITIE BIC Nyloc 7y b2 ERLTIEE W,

TIAVTYIYRIRTLDIF VT IE BBERY RV eRITI B DICRERBREERER L ERDH ZIBHEITORWVR
D, BRIBBZENHDET,

BROMBOTIFRA Y MOEER, BIc7ODYH—h\ RISZORMORACRESTITOIBENHDET,

XA VQ60+VQMB+VQDF (350 Ibs, 160kg) (&, BE—DRUAZOY RHSRITTZENTEEX T, COMAEDLEDREEIT 81 TY,
(K3 =2H])

(fig. 1)

(P



94 VQ Series

vQUurs7L—h
VQ U 7L — K& VQDF H7clE VQMB % VQ60 H/ciE VQ100 F v EXR Y MCHER T BIchICERENE T, HF vEXRY MDERIC
332DV ITL—MMEREINE T, Y7L — M B VQDF B LVQMB ICRETHEBLTVWET,

RISDORISRIESIC MOMRIZIRDALE T, AURYZ2EALT VI 7L — b EMEDBICEELE Y, UV 7 7L —h
[F FrERYRDLKEHCU TN EWNEDE T, UV I TL—MTIFE 2RDORWMIORILEDIEBLTWE T, 2h5DMRILNE Y
PV TL—NEFREDMNEICEEY BIchIERITIHENHDET,

FEIRTOBRERFALY ROV S, 5Nm DRLY TRESSNDRENBDET

LINK PLATE

EMDING—> FlITHDT=6 D VQ MB DfEF

VQ U 7L — & VQDF F7clE VQMB Z VQ60 K7zlE VQ100 F v EXRY MIHER T BIchIcERASINET T, EF rEXRY NDOERIC
3. 320UV ITL—IDMEREINET, U7 7L — M B VQDFE KOVQMBICEEETHEBLTWET,

RIGDECRIESIc. MOMRIZBMDHLES, ORI Z2ERALTC VY FL—hEMEDMEICEELE I, Y7 FL—k
[F FrEXYRDFACU oD EWNEDE T, U FL—MIE 2RDRWMIORILEDBMEBLTWE T, ThE5DRILNE Y
PIUYITL—hEREDMEICEEY BIchHICERITIRENBDEY,

Quick Start Guide 95

VQ 60 D%

BEB—nVQ100 (F. EHOFrvERYNEFERETZIZLDTLAY ) a—y3avibi, 100 EOE—ARER TLDZLDEHEREES%
SHHEFTENTEE T, chid. BYOEBZEEITIBEICKERF LTI, VQ100 (E. EEFIESNBELSICEHESNTULEFA.
22DDVQ60 ZELHILT, 120 EDRRFEICEESNIcAKFEANLY VABEEERTEET,

WQZLAZ7L—KE 22060 FvERY RN ERBICTLATDLSICHRE SN TVWEYD, 7L—rEEDO R IFBICIE. FrERY
DBIHENERMTDLSICRY I AEMEICBEE T, 2480 M0IMARLRZED AL, M0 RV EEMBOT7ARILNERZHUET,
NBOEEFY DS 4D2DMOTARILEERDIF. 7LA7L—REBLTEFvERYRDUF VI RAVNIEALE T, TN BIE

PLAZREEIT2DIERENE T, FrERYNOTETRIUFIRZREDIEL. M0 RIZFERLEY, RS TRITI25E
F MO RYZEWMADT LA FL— R THEBTEXRT,

EINTORERRBRALYROY TSN 5Nm DMLY THREDSNDZRENHD XY

FLAZ—RBLETDICIE 2 DOMILIcEY I Ty TRA Y N aBEHLE T, EREYITYTRAVME 2DDUF FAIRILET
Yo 2 DDAV RPAIRILNERERA VN EVTERTEX T,

Item No. Description Quantity
M10 Plain Washer 8

M10 Spring Washer

Screw M10x 50 mm
Eyebolt M10

L9 I I N VN LS I e
N | B [0 | &

Array Bracket




96 VQ Series

IR

VQ £ R 5= m A AR IR B R R R R BB S TR R S SR, MEESRMNMNARYESFN LI HBRNBRIES, XMEHRIIZIHE
HEESRRIAFHUOT Y, TR 4T A MERE & HE AT R A,

KR EAFNEOHIATEE R AERRERN—NEE 35S ETHEE, THE I 400H E 7kH 8RR, XBHNS— N EERAR,
ERHEREMHLREE AR XA, THAREL X EXIGIREEAMBLERNEIN, 2 HFREEE THRIH RS AR 7k =
22 kHz BUSTZRIRE SMERSH R AT ZHBATIRE, THHAR PSR, USKH KR L EFIERRAOIIRES,

&% AR /R4
BAERBEE

2 VQ 60 1 VQ 100 $EEL E A Bi-Amp #RAERIAR AL E

fE AREF BN IR T AT T= RIS R,

VQDF #RECE A B AR IR IEMIR AR B, (E ARRE KM IR TR U T W R IE R 1R,
VQMB B & A B AT KRR IR 1Eo

VQ 60/100 VQ DF

LF  MF HF MF  HF
-+ -+ - + -+ - +

1] 1]

INK WIRES INK WIRES || VQ 64DF

TANNOY | ZEcuRen | TANNOY | o5 acer: |

)PERATION )PERATION

=171 =171

VQ MB

Quick Start Guide 97

VQ 60, VQ 100 F1 VQ DF 2% 4 £t Neutrik Speakon- i 28 FNE E R 2 HIR B0

Speakon -
5 EP 70 XLR 2L BUA0ZE B RS 4EEL, Speakon EBU T A:
BRI AT IR XER LM BTN IHEBRNEBTENER, MaBET 6 FHAEXRNSE, IMERKA B ZXK, FERTRA

30 &%, WNERE EARR AN/ 24 Speakon & ERIFESTEESNTNTAT, UET ZHHEEIH L VQ 477528 (VQMBBRSM, Tannoy 2
AVQ =R AT R ERN T L RS,

VQ 60 and VQ 100

Speakon Connections VQ DF Speakon

Connections

VQ MB Speakon
Connections

LF Negative (-ve)

LF Positive (+ve) LF Negative (-ve)

LF Positive (+ve)

No connections on pins
1+and 1-

MF/HF Positive (+ve)

MF/HF Positive (+ve) . .
MF/HF Negative (-ve) No connections on pins

MF/HF Negative (-ve) 2+ and 2-

PREs iR
BESTRMRLE, EH5IENTHERE SR, RESENGTATER/ & KA Z%, V060 71 VQ 100 BB HX M A B TI5E T BRHER
R RE R AN 4 L, ATBHTE REHRIE, VODF BB MM A SRR E B BRISEER LA RS R ZEN 4 REEE,
RIASEIR IR 4E
VQ60/100 SINB— 45 LF A A S8 IR BIRRES 2 S5 —17HA LF +/-

& MF/HF 5 A 28 2 BB B £ R &R — 1T B MF/HF +/- 6
VQ60/100 SThif— HF LF A SR BIRBIS 42 S5 —17HG LF 4+

15 MF A K S8 R IR B SR TRATHO MF +/-

¥ HF A S R BB A TRAT A HF +/-
VODF A AR 45 ME/HF i K 2 HE BIRRES R T3 — 1T 0 ME/HF +/-
VODF WA KR 4% MF B K ER:E 12 BIRRRE &£ T THY MF+/-,

¥ HF A S R BB A TRAT A HF +/-
VQ MB- BRI LF 4/ 5T
BER, MEIEMTEREEARBEMARARNLR, BEBHAR AR MRAKX[HOSNAEEH 4B, BAESRTE
HEn 2 BRIB A Fa2k, RMEA KRR BE TIRR E 2804, W =ic(E, ATIR EIE, RS EFLLAIESNRR, FERL Bt E,
RRFLEARFE L, T B RGHIE B Rt R PR, SIFIE MM A BB SRMA IR, HERABHRIBE AR EE b,
BANEFFECRREREANKEMAREIEZFERNEEER, B/OEEEERS MRS EEREE, SBTIZERFEFm
REZE A (B2,
EERE SRR FE D 25 FHER (L MAEMBARITEL, EEFERT, XBERESABEMN, MBEBRK, BL%RTRBIT IE,
TRERTERMRRET S (KB 8EI8) T, TR EEFK RN, B, REERAHERRANEL, Al RHE
BAERBNETRENESER, HFRLNERRY, BEANAT DHEXNFERENASHBRSGTMEC 25,



98 VQ Series

Cable Run IO el Wire Loss (dB)
conductor Resistance

Damping Factor*

40hm 8ohm 40hm 8ohm
Load Load Load Load

1.5mm 0.10 X

2.5mm 0.04 108 N 216 X

4mm 6 0.01 0 0 255 X 510 X

6mm 3 0.01 0 0 494 X 988 X

10 33 1.5mm 15 0.20 0.4 0.2 19 X 41 X
2.5mm 10 0.07 0.2 0.1 55 X m X

4mm 6 0.03 0.1 0 136 X 272 X

6mm 3 0.01 0 0 282 X 563 X

25 82 1.5mm 15 0.49 1 0.5 8 X 16 X
2.5mm 10 0.18 0.4 0.2 23 X 45 X

4mm 6 0.07 0.1 0.1 57 X 114 X

6mm 3 0.03 0.1 0 123 X 246 X

50 164 1.5mm 15 0.98 19 1 4 X 8 X
2.5mm 10 0.35 0.7 0.4 n X 23 X

4mm 6 0.14 0.3 0.1 29 X 58 X

6mm 3 0.06 0.1 0.1 64 X 127 X

100 328 1.5mm 15 1.95 3.5 1.9 2 X 4 X
2.5mm 10 0.70 14 0.7 6 X n X

4mm 6 0.27 0.6 0.3 15 X 29 X

6mm 3 0.12 0.3 0.1 32 X 65 X

KRR E AR RENT LM KEFFHE

RitasE

EERRS VTZH, RERENREIFETER. THRERE T LFIRIEC BR[O E AT RN T AR EHE PP3 R
+ve Fl -ve iy Fo FHERRBIRM + ve IR FRILER DA IRA LM (BN AZMC EE DA AR E R IFA ) 1+), BRI -ve
REDERERISHR 1-o

WNSRARL IER, LF IRZ IS @ BT B3, RAFEEER, NEF THMER +ve HARRSILEREIIM AR LH +ve v T, H -ve 51L& ERE
BIFg KRR LR ve 3 Fo B, IR LFRFFJ[EEHD, WEEREWMAN EE,

AT UE AT SRR AR Z 3T (viePAL™, NTI™), 405R 14 IE 72 (68 FASSIE 3 A% (5140 SMAART™, SYSTUNE™, CLIO™, MLSSA™)iEi R4, Bt & 58
— N IERIERIBK NG AL, R E Z 8T, IEFRMRE MR FQF13 iR,

INRBBEE, FEECERLEL MRERAZ KENSEHAIR AR, BRERARF7 SRR

A FThEE LB

SRBERIHERRGE—#, ELEESETEATENRE. MiEFE ﬁ;%J—rﬁik%%ﬁ]tillS’E?FF (eFREEMMARERIIWINAIRLSE
R)o MR FEEMIKATERG I R ERI BB KT, MM HER ZONER 3BHRE, ETHEHARN, EENREEZREER
BB HEH TR HERRGTEATRAN, HEEFERESES, CAREILRIREI TS RIR R ESRIRTR.

BE, RARENEER AR L ESRRE R IR G RFNFERORER /N ERZILE, BITERHINERRE 90 %HEIHER X
ARUTE SREGF TIZ1T7E 100 %R RN K 3R WBNBEN R BRI A BB AL £ AR IERES IS =R

ERNZEPERAARFIEEHM AR, EENEERGIFERFNEEE, X—mHNEUR/NTF +-05dB, XT—RREE, 5%
WABUE A— N EEZ XA, WIpHEEN TENRENTFERES, Fit, #EEN I EHERERE KR,

TEMETUE L, EATRUR B =FhEAH VQ 75 2R ThE A 3 e
F9{E (RMS), 12 FFFiE{E

HAVEWE A AR A5 HIN TR PR IESRIE F ERRI A K2R, AT VQEAERNEERES, MARNAE EENENETFHR
FREE4T T RIS AR dmAZ T

Quick Start Guide 99

VQ Series Recommended Amplifier Power
VQ60/100 Power Requirement
Low Frequency 2000 W into 4 ohms
Passive MF/HF 400 W into 8 ohms
Mid Frequency 400 W into 8 ohms
High Frequency 200 W into 8 ohms
VQDF
Passive MF/HF 400 W into 8 ochms
Mid Frequency 400 W into 8 ohms
High Frequency 200 W into 8 ohms
VQMB 2000 W into 4 ohms
== 0g &
BESREERS

Tannoy VQ RINFEREESHETFES A ERTLSFEH, ZES A ESRE M550, 191, EIRFhESIIEE, FA15RZUE U Lab Gruppen PLM +
5 D R%5 LAKE Sad EErh Rt ik —ie (8 o iR & 13U A LAKE a3 EErhRgAE R S Fi% 9 LAKE LM26/44 DSP, 1A B 5 Lab Gruppen C 22515,
FP+ RIIEL & 15 FIRY LP, FH{E AR B ETIE VQ HLAE IE LM HINZERAY B, Lab Gruppen CAFE IR ET— N £ EMFR AR, FTLUABTE Tannoy
HERR ML PIM + 5 D RIIF=MMR EA S, NMEAPEBIRBIIREH, ThERERE, M, BAEMIZREERM BOM i+ E 85115
T AR #5048, < LAKE 1 Lab Gruppen Fn:‘ﬁ’:E’JE§1= g, &ihiE www

FHNZE

AIEFEHN B VOGS AR ER QAR A RE, BRMZENMRAR RIBELSENER, WEAMIZTEIER
ARENRERBEN ABREREMERARIEERRSOES, BATRRRBIEEMIRAHITAR HRERIETXLETFHh
BXRAFENREERAXLERENER.

ERERWEHH VO RRNRE, BT E S RINRR A RIRIBEZIGEE RN wH R £ F MR ERTT,
EE BT YUTERENNAR, BERKEM RIS AEIMHNRERENAE, RNEEZWEEF R TEZMHREQERGE
BEFEM,

VO BB T AT VQ R5I5 A RS, AeLiR it AT EmME A Tannoy Commercial 7= & s E fth i B AO4E (T HAthi& % 4% Tannoy Professional
TE 4 TR ATE R AT IR Z SN BRI B R AR IEMBIE . XHMERTRIEFERR, SINER, EGUFPRIB#IEANE
f A BITALE, IR VQEGHSBRRE, 2T VOB ZFHIA K5 &8 R 6E1E BIREAM G E G iTa L, FE& B8R
Fto iﬁiﬂ%ﬁﬁﬁﬁﬁé’%ﬁ fE AEAMG S R A ENBREFTETRSSEEGRER R L, B,

BHER VQEHEES O FEREEERE LN, REARVLARRZREAELBR SN XENH, ERNEHLRARE, FE
BHEFM, HENERREREAFHHESHEELL, BEEEEFFRMEXRE L, MEAEMNFEREEXETE, WHLE

i8], EFREHIE, HMTRITHEME RN,

BREZWEEFZEN, A VTHEERE L RERMIN, EHAENNFEERNE" 22K E, NIRFTENTEHIRELEME,

X e — R &5 HE L BT L 5 2R BR TR BT 150 2K (6 2E+F),

ELEEABAT, BOEESNFRATXEGERNES, EFHRAERIMNTFIR, FHTRAZIRMNSAARENHER A,

AR VQOEESERESUNEES, ATIFAN BN E VQ CITERMMES, U TR RSB THIEEFRE. HFEB AT
BEHMTT R BEBNKTENAT Iiﬁllﬁcé 4 48 R 3t SE B = A ISR E



100 VQ Series

ERmRARRRESS, VQ HLE

AT VQHAER R E BT R TR TREME A—Xt M10 BRif e, EVEFBERE=ARIFREENEER,

VEB A&HR

Q VQ A E RS T LUME FATF & BS4278:1984 RS &A BT VEB M10 RIRERR HH1TRIZ, AR & B NEBNHIZ 2L,
&R ATLMEA TR, FEEF VEBMI0 BIRIELE,
ELR4E VEBMI0 RIRERE, IE A E RS VEBMI0 RINERE AL E BT RIAH M0 T KI85T, A5,

A VEB M10 R R 8844 B4 3X 2T N30 M10 B85T, HLEE 5 TETEY M10 BN RIE ATLAZR 29 VEB M10 RERiE42,
MRATHEHERARBITERE,

EERRATREER, 8MEZDYHERMANSMWA B R EHRENBI IR, YI7ER
IR E—MESS—MERE,

DIt fE AR R RIR R4S, RO SRAT &I AL S AU AR R Y242

Flying a single VQ cabinet in a landscape orientation using EBS forged Eyebolts

VQ kTR (R BETCITR)

Quick Start Guide 101

ATEE, RIEME LT T, VQ RITHRIZIT AN BNRE 2B VOWAE, XEAERMSYEEHERRAE. KTEE
MIRE (IR &2 5N, TR VQ 7 i e B A M), EMEERNAFEEZRNHEER K E, MREBZWEMFRFLEHE, X

MR EZ 2L ARIIEH AR E BT 150mm (67)o
FREEEMHMITEIITEE 25Nm,

Cimte oy iy

1 M10 Plain Washer 3
2 M10 Spring Washer 3
3 Screw M10 x 50mm 3
4 Bracket Flying - VQ 1

k5 VQ ¥ITE R—EE M, FinEmMER, —MiZitATEN 1 UNCELH, S—MiZ it AT R 12 mm 2504, (S48 A PR 4),

Item No.

1

Description

Rod End —VQ _" UNCor 12mm

Quantity
3

Screw M12x45 Cap Head

3

M12 Nyloc Nut

3



102 VQ Series

ENTCFAUAETRER A ET A LSk M10 S2ETANGLFHLAE TR AR /2 B AVTIED M10 K825, MERTRAR TR 5, (WE 1)
EEFER N AIE AREMEIRET, RE, PiREEFTRERALR VQ TR, EREREHHMITEHITEE 25Nm,

YEEFEEL M EM, FFRATUIE S MEENE I B RSP EA— B3, URAFERNENAE, (BSIE 2.) FERR
BEATAK B R AR 300 2K (12 36~), AR 61 SRR it IE R IRAT, SRR SR A4 A: -

£[E - B7 £ (1438 85, X4F 15" #F4 650 27, EF 101 MR E£FRE)

280 -109 & (12mm #F24 1459 &5, 660 T52, EFREZE 10)

1 FAIE SRR B FTIn S E FE IR AT L (A PR ), 1 FBATTRTERAY Nyloc B2 EAR 32 (B A PR )0
A AT LLE EE RS LA E R Uni-Strut B £

TR 2% 18 F Nyloc B2 B 45 42 4T E 72 2I4F e 5k Uni-Strut o
BRIEBHEGMELBRMEBHNERARRNITLENES, TNTZEMRSHRAFERER,

BT LR S EE R i LT R B 3R, FHAE A AL #E

BIEAT & RIS FE VQ60 -+ VQ MB + VQ DF (350 &%, 160 F52), i AEMREREH 81, (LWE 3)

(fig. 1)

Quick Start Guide 103

VQ R

VQ $% 4R AT VQDF =5 VQ MB &= 422 VQ 60 = VQ 100 ML4E, =N EHER AT E#E S M14E, S VQDF #1 VQ MB HAREMI A 1R

NABEFTR, EIT M0 TKE25T, (3 ARIERIRIR ST S5 MR B RE B, EHEME SHEMDOF T, E 2R T AN EK M10 8242,
X LEeAR A 7 FITH% /R R AR B E 2L

EEAEERNITREHHZZE5Nm

LINK PLATE

£ VQ MB i# 17 th [ S 4=

VQ $E 4R A4 VQ DF =5 VQ MB %422 VQ 60 = VQ 100 HLAE. =A™ iE 4R AT E 8 M HI4E, & VQDF 70 VQ MB HREM B &4

WMAEFTTR, EIT M0 TUk425T, 1 FRABRIRYAR ST 1 SEAR B RE B (Lo & HEARIS EVAEM O Fo ERARFEM T A EKH M10 8242,
XL B TSR E AR B E 2 6L,




104 VQ Series

351 VQ 60

5ERZAMAERITERESIRR R T RAELL, B4 VQ 100 7EE 100 iR 3R 3 X E LRI = £ B KRB ThRFEME, XEZREEHE
SZRRFRRAIMESE, VQ100 FHAEZ T ARTHEFIA,

AT A VQ 60 HEF A — AR E Y 120 EKEBE R,

VQ BEFIRRIE T AR EMBHESIF AN VQ 60 HLIE, ERFZIN, EHEFHEME L, FEWRERNFiL%, BITAAN M0 kg, A
FA M0 S2 T BEFR AR IR AR A B . BEPTEYEIE TREHHK B A M0 BIFRE, AEHENET IR BEAVAERRIEE &, XL
BATIREES, £/ M0 BETENAE R ESERNT TR, WRUERTE 1T, WA A FEFIHR _E#RE R M10 #2457,

ERPTAEEMRITEFHAEE 25Nm
EE AR AR B SRE RS, FEMNRBRRANERIRE R AP ITRIRERTRERE R,

Item No. ‘ Description ‘ Quantity
1 M10 Plain Washer 8
2 M10 Spring Washer 8
3 Screw M10x 50 mm 8
4 Eyebolt M10 4
5 Array Bracket 2

Quick Start Guide 105



106 VQ Series

EN) Specifications

VQ100

VQ 60

VQ 85DF

Frequency response (-3 dB)

115Hz- 23 kHz

115Hz - 23 kHz

400 Hz - 23 kHz

Frequency range (-10 dB) 90 Hz - 27 kHz 90 Hz - 27 kHz 350 Hz - 27 kHz
Sensitivity (1W @ 1 m) 111dB 115dB 111dB
Dispersion (-6 dB) 100 degrees conical 60 degrees conical 80 x50 degrees
Driver components LF-2x300 mm (12") low frequency LF-2x300 mm (12") low frequency N/A
transducers, semi horn loaded transducers, semi horn loaded
MF/HF - dual concentric compression MF/HF - dual concentric compression MF/HF - dual concentric compression
driver loaded into single PSW driver loaded into single PSW driver loaded into single PSW
waveguide waveguide waveguide
Crossover N/A Biamp - 450 Hz (active), Single amplified - 7 kHz (passive)
7 kHz (passive) Bi-amp - 7 kHz (active)
Triamp - 450 Hz, 7 kHz (active)
Directivity factor (Q) 8.5 212 133
Directivity index (DI) 93 133 11.2
Maximum SPL 135 dB averaged, 141 peak 138 dB averaged, 144 dB peak 134 dB averaged, 140 peak
Power handling
LlF@4Q 1000 W cont, 2000 W peak 1000 W cont, 2000 W peak N/A
MF@80Q 200 W cont, 400 W peak 200 W cont, 400 W peak 200 W cont, 400 W peak
HF@8Q 90 W cont, 180 W peak 90 W cont, 180 W peak 90 W cont, 180 W peak
Passive MF/HF @ 8 Q 200 W cont, 400 W peak 200 W cont, 400 W peak 200 W cont, 400 W peak
Nominal impedance LF-40,MF-8Q,HF-80Q LF-40Q,MF-8Q,HF-80Q MF-8Q,HF-8Q

Construction 18 mm (0.71") plywood, internally braced

Grille Powder coated perforated steel grille

Finish Textured black or white paint

Connectors Barrier strip and speakon connector

Fittings 8 xrecessed carrying handles, 12 x M10 flying inserts 2 xrecessed carrying handles,
12x M10flying inserts

Dimensions 925x694x515mm 925x694 x515mm 500x 694 x 515 mm

(36.4x27.3x20.3")

(36.4x27.3x20.3")

(19.7%27.3x203")

Weight

65 kg (143 Ibs)

77 kg (169 Ibs)

27.0kg (594 1bs)

Frequency response (-3 dB)

VQ 64DF

400 Hz - 23 kHz

VQ64MH

400 Hz - 23 kHz

Quick Start Guide 107

VQMB

115 Hz- 500 Hz

Frequency range (-10 dB) 350 Hz - 27 kHz 350 Hz - 27 kHz 90 Hz- 600 Hz
Sensitivity (1W @ 1 m) 114 dB 115dB 105 dB
Dispersion (-6 dB) 60 x 40 degrees 60 x 40 degrees N/A
Driver components N/A N/A LF-2x300 mm (12") low frequency
transducers, semi horn loaded
MF/HF - dual concentric compression MF/HF - dual concentric compression N/A
driver loaded into single PSW driver loaded into single PSW
waveguide waveguide
Crossover Single amplified - 7 kHz (passive) Single amplified - 7 kHz (passive) N/A
Bi-amp - 7 kHz (active) Bi-amp - 7 kHz (active)
Directivity factor (Q) 19.3 213 N/A
Directivity index (DI) 12.9 13.3 N/A

Maximum SPL 137 dB averaged, 143 peak 138 dB averaged, 144 peak 135 dB averaged, 141 peak
Power handling

LF@4Q N/A N/A 1000 W cont, 2000 W peak
MF@8Q 200 W cont, 400 W peak 200 W cont, 400 W peak N/A

HF@8Q 90 W cont, 180 W peak 90 W cont, 180 W peak N/A

Passive MF/HF @ 8 Q 200 W cont, 400 W peak 200 W cont, 400 W peak N/A

Nominal impedance MF-8Q,HF-80Q MF-8Q,HF-80Q LF-40Q

Construction 18 mm (0.71") plywood, internally braced

Grille Powder coated perforated steel grille

Finish Textured black or white paint

Connectors Barrier strip and speakon connector

Fittings 2 xrecessed carrying handles, 12 x M10 flying inserts

Dimensions 500x 694 x 515 mm 510x 694 x 515 mm 433x694x515mm
(19.7x27.3x20.3") (20.1x27.3x20.3") (171x273x20.3")

Weight 29.5kg (64.9Ibs) 45.5kg (100.1 Ibs) 37 kg (81.6 Ibs)

(EN



108 VQ Series

Other important information

@ Important information ] ﬁ Informations importantes] I(':':J;Lari;rr\‘ft::magoes ]

1. Register online. Please register your new
Music Tribe equipment right after you purchase it by
visiting musictribe.com. Registering your purchase using
our simple online form helps us to process your repair
claims more quickly and efficiently. Also, read the terms
and conditions of our warranty, if applicable.

2. Malfunction. Should your Music Tribe
Authorized Reseller not be located in your vicinity,

you may contact the Music Tribe Authorized Fulfiller for
your country listed under “Support” at musictribe.com.
Should your country not be listed, please check if your
problem can be dealt with by our “Online Support” which
may also be found under “Support” at musictribe.com.
Alternatively, please submit an online warranty claim at
musictribe.com BEFORE returning the product.

3. Power Connections. Before plugging the
unitinto a power socket, please make sure you are using
the correct mains voltage for your particular model.
Faulty fuses must be replaced with fuses of the same type
and rating without exception.

@ Aspectos importantes ]

1. Registro online. Le recomendamos que
registre su nuevo aparato Music Tribe justo después de

su compra accediendo a la pagina web musictribe.com.

El registro de su compra a través de nuestro sencillo
sistema online nos ayudara a resolver cualquier

incidencia que se presente a la mayor brevedad posible.
Ademds, aproveche para leer los términos y condiciones de
nuestra garantia, si es aplicable en su caso.

2. Averias. Enel caso de que no exista un distribuidor
Music Tribe en las inmediaciones, puede ponerse en
contacto con el distribuidor Music Tribe de su pais,

que encontrard dentro del apartado “Support” de nuestra
pagina web musictribe.com. En caso de que su pais no
aparezca en ese listado, acceda a la seccién “Online Support”
(que también encontrard dentro del apartado “Support”

de nuestra pagina web) y compruebe si su problema aparece
descrito y solucionado alli. De forma alternativa, envienos a
través de la pagina web una solicitud online de soporte en
periodo de garantia ANTES de devolvernos el aparato.

3. Conexiones de corriente. Antes de enchufar
este aparato a una salida de corriente, aseguirese de que dicha
salida sea del voltaje adecuado para su modelo concreto.

En caso de que deba sustituir un fusible quemado, debera
hacerlo por otro de idénticas especificaciones, sin excepcidn.

1. Enregistrez-vous en ligne. Prenezle
temps d’enregistrer votre produit Music Tribe aussi vite
que possible sur le site Internet musictribe.com. Le fait
d'enregistrer le produit en ligne nous permet de gérer

les réparations plus rapidement et plus efficacement.
Prenez également le temps de lire les termes et conditions
de notre garantie.

2. Dysfonctionnement. Sivous n'avez pas

de revendeur Music Tribe prés de chez vous, contactez le
distributeur Music Tribe de votre pays : consultez la liste
des distributeurs de votre pays dans la page “Support”

de notre site Internet musictribe.com. Si votre pays n'est
pas dans la liste, essayez de résoudre votre probleme avec
notre “aide en ligne” que vous trouverez également dans
|a section “Support” du site musictribe.com. Vous pouvez
également nous faire parvenir directement votre demande
de réparation sous garantie par Internet sur le site
musictribe.com AVANT de nous renvoyer le produit.

3. Raccordement au secteur. Avant de relier
cet équipement au secteur, assurez-vous que la tension
secteur de votre région soit compatible avec I'appareil.
Veillez a remplacer les fusibles uniquement par des
modeles exactement de méme taille et de méme valeur
électrique — sans aucune exception.

Weitere wichtige
Informationen

1. Online registrieren. Bitte registrieren Sie

Ihr neues Music Tribe-Gerét direkt nach dem Kauf auf der
Website musictribe.com. Wenn Sie Ihren Kauf mit unserem
einfachen online Formular registrieren, kdnnen wir Ihre
Reparaturanspriiche schneller und effizienter bearbeiten.
Lesen Sie bitte auch unsere Garantiebedingungen,

falls zutreffend.

2. Funktionsfehler. Sollte sich kein Music Tribe
Handler in Ihrer Ndhe befinden, kénnen Sie den

Music Tribe Vertrieb Ihres Landes kontaktieren, der auf
musictribe.com unter ,Support” aufgefiihrt ist. Sollte Ihr
Land nicht aufgelistet sein, priifen Sie bitte, ob Ihr Problem
von unserem ,Online Support” geldst werden kann, den
Sie ebenfalls auf musictribe.com unter ,Support” finden.
Alternativ reichen Sie bitte lhren Garantieanspruch

online auf musictribe.com ein, BEVOR Sie das

Produkt zuriicksenden.

3. Stromanschluss. Bevor Sie das Gerdt an

eine Netzsteckdose anschlieBen, priifen Sie bitte, ob Sie
die korrekte Netzspannung filr Ihr spezielles Modell
verwenden. Fehlerhafte Sicherungen miissen ausnahmslos
durch Sicherungen des gleichen Typs und Nennwerts
ersetzt werden.

1. Registre-se online. Por favor, registre seu
novo equipamento Music Tribe logo apds a compra
visitando o site musictribe.com Registrar sua compra
usando nosso simples formuldrio online nos ajuda a
processar seus pedidos de reparos com maior rapidez e
eficiéncia. Além disso, leia nossos termos e condi¢des de
garantia, caso seja necessario.

2. Funcionamento Defeituoso.

(aso seu fornecedor Music Tribe ndo esteja localizado

nas proximidades, vocé pode contatar um distribuidor
Music Tribe para o seu pais listado abaixo de “Suporte”

em musictribe.com. Se seu pais ndo estiver na lista,

favor checar se seu problema pode ser resolvido com o
n0sso “Suporte Online” que também pode ser achado
abaixo de “Suporte”em musictribe.com. Alternativamente,
favor enviar uma solicitacdo de garantia online em
musictribe.com ANTES da devolugdo do produto.

3. Ligagoes. Antes de ligar a unidade a tomada,
assequre-se de que estd a utilizar a voltagem correcta para
0 modelo em questdo. Os fusiveis com defeito terdo de

ser substituidos, sem qualquer excepcao, por fusiveis do
mesmo tipo e corrente nominal.

Informazioni importanti]

1. Registratevi online. Viinvitiamo a registrare
il nuovo apparecchio Music Tribe subito dopo averlo
acquistato visitando musictribe.com. La registrazione
dell'acquisto tramite il nostro semplice modulo online ci
consente di elaborare le richieste di riparazione in modo
piti rapido ed efficiente. Leggete anche i termini e le
condizioni della nostra garanzia, qualora applicabile.

2. Malfunzionamento. Nel caso in cuiil
rivenditore autorizzato Music Tribe non si trovi nelle vostre
vicinanze, potete contattare il Music Tribe Authorized
Fulfiller per il vostro paese, elencato in “Support”

@ musictribe.com. Se la vostra nazione non ¢ elencata,
controllate se il problema puo essere risolto tramite il
nostro “Online Support”che pud anche essere trovato sotto
“Support” @ musictribe.com. In alternativa, inviate una
richiesta di garanzia online su musictribe.com PRIMA di
restituire il prodotto.

3. Collegamento all’alimentazione.
Prima di collegare |'unita a una presa di corrente,
assicuratevi di utilizzare la tensione di rete corretta

per il modello specifico. | fusibili guasti devono essere
sostituiti, senza eccezioni, con fusibili dello stesso tipo e
valore nominale.

Belangrijke informatie ]

1. Registreer online. Registreer uw nieuwe
Music Tribe-apparatuur direct nadat u deze hebt gekocht
door naar musictribe.com te gaan. Door uw aankoop

te registreren via ons eenvoudige online formulier,
kunnen wij uw reparatieclaims sneller en efficiénter
verwerken. Lees ook de voorwaarden van onze garantie,
indien van toepassing.

2, Storing. Mocht uw door Music Tribe
geautoriseerde wederverkoper niet bij u in de buurt zijn
gevestigd, dan kunt u contact opnemen met de door Music
Tribe Authorized Fulfiller voor uw land vermeld onder
“Support” op musictribe.com. Als uw land niet in de lijst
staat, controleer dan of uw probleem kan worden opgelost
door onze "Online Support", die u ook kunt vinden onder
"Support" op musictribe.com. U kunt ook een online
garantieclaim indienen op musictribe.com VOORDAT u het
product retourneert.

3. Stroomaansluitingen. Voordat u het
apparaat op een stopcontact aansluit, moet u ervoor
zorgen dat u de juiste netspanning voor uw specifieke
model gebruikt. Defecte zekeringen moeten zonder
uitzondering worden vervangen door zekeringen van
hetzelfde type en dezelfde waarde.

a Viktig information ]

1. Registrera online. Registrera din nya Music
Tribe-utrustning direkt efter att du kdpt den genom

att besoka musictribe.com. Att registrera ditt kop med
vart enkla onlineformular hjalper oss att behandla dina
reparationsansprak snabbare och mer effektivt. Lds ocksa
villkoren i var garanti, om tillimpligt.

2. Fel. Omdin Music Tribe-auktoriserade aterforsaljare
inte finns i din ndrhet kan du kontakta Music Tribe
Authorized Fulfiller for ditt land listat under “Support” pa
musictribe.com. Om ditt land inte dr listat, kontrollera om
ditt problem kan hanteras av var “Onlinesupport” som
ocksa finns under “Support” pa musictribe.com. Alternativt
kan du skicka in ett online-garantiansprak pa musictribe.
com INNAN du returnerar produkten.

3. Stromanslutningar. Innan du ansluter
enheten till ett eluttag, se till att du anvander rdtt
ndtspanning for just din modell. Felaktiga sakringar
madste bytas ut mot sakringar av samma typ och
markning utan undantag.

>J I Wazna informacja ]

1. Zarejestrowac online. Zarejestruj swj
nowy sprzet Music Tribe zaraz po zakupie na stronie
musictribe.com. Zarejestrowanie zakupu za pomocg
naszego prostego formularza online pomaga nam szybciej
i efektywniej rozpatrywac roszczenia dotyczace naprawy.
Przeczytaj réwniez warunki naszej gwarandji, jesli dotyczy.

2. Awaria. Jesli Twdj autoryzowany sprzedawca
Music Tribe nie znajduje sie w poblizu, mozesz
skontaktowac sie z autoryzowanym dostawca Music Tribe
dla swojego kraju, wymienionym w sekji ,Wsparcie” na
stronie musictribe.com. Jesli Twojego kraju nie ma na
liScie, sprawdz, czy Twdj problem moze zostac rozwiazany
przez nasze ,Wsparcie online”, ktére mozna rowniez
znalez¢ w sekdji ,Wsparcie” na stronie musictribe.com.
Alternatywnie, przeslij zgtoszenie gwarancyjne online na
musictribe.com PRZED zwrotem produktu.

3. Polaczenia zasilania. Przed podtaczeniem
urzadzenia do gniazdka sieciowego upewnij sie, ze
uzywasz odpowiedniego napiecia sieciowego dla danego
modelu. Wadliwe bezpieczniki nalezy bez wyjatku
wymieni¢ na bezpieczniki tego samego typu i wartosci.

G ZDIDEEL IR ]

1. E2—XDEMER / EEDZEIR:
2=y h&INT—=Y 4y NMIERT D81
. BEETIICHIBUIEELWEER%
FARLTWSZEZERL TSI,
A=y hcko>TlE 230V & 120V D
2DODESRIYYaVvEYIDEZTES,
bt 2 —XDBMEEHBZ WD DD
HNFEFT, EULLBWMEDE 2 —Xi,
X OB RED E 2 — XIS T
WBREARHD T,

2. I MusicTribe 7« — 5 — DB EHR
DHEFIE IRV E Z(E. musictribe.com D
“Support” RICHIEE S NTWD, BEKDE
@ MusicTribe 7 s A AU E 21— —(caY>
FUORNTZIENTEET, & BHROE
MY X MCRRWEEIK. B U musicribe.com
@ “Support” Al % “Online Support” THE
BOBBEIIBTERWA, FTv I UL
THTLET W, HBWE, BmERE
I BREIIC. musictribe.com T, AV T4 VD
RAFBRZEFL TIEE W,

3. BFER: BRY Y MNMCERI—
RE#ERT 2E0IC. ARERIGEY)REE
ZEALTWSEZ &% SHERLIEE W,
RFEEIEE LI 2 —XENTEER
SUER. BENREIUE 12 —XICKHT
ZRENHDET,

Quick Start Guide 109

HiHERRER ]

1. FESEM. BFMWE Music Tribe F=5 /S 2B
7E musictribe.com [k M, T _EH &R

ELEMER XEBTFRNEREGLER
HAMBIRBEEERT, IHIERIERIERE

AR EM,

2. FEHESIIE, &5 MusicTribe =&
TEEE TR, RIS AHERIREE, 158
RIGME - RNHE R, BIRAMTEHX%E
Music Tribe $% €578, 58K % musictribe.com iy
B “WHERETO BUY” —#= THIFrFIHHIF /22 B
ERZ3-1

3. BREE, BAL & EERIRA, B
R {2 R EIE M, (RIG22FHE E A,
hIBUE AR S K E MR £,

N

£

ES

@

F

3

E

A= R

@

SE

B

L

s [®

J

2

CN



110 VQ Series

e

Hereby, Music Tribe declares that this product is in compliance with Directive
2011/65/EU and Amendment 2015/863/EU, Directive 2012/19/EU, Regulation
519/2012 REACH SVHC and Directive 1907/2006/EC, and this passive product is not
applicable to EMC Directive 2014/30/EU, LV Directive 2014/35/EU.

Full text of EU DoCis available at https://community.musictribe.com/

EU Representative: Music Tribe Brands DK A/S
Address: Gammel Strand 44, DK-1202 Kebenhavn K, Denmark

UK Representative: Music Tribe Brands UK Ltd.
Address: 6 Lloyds Avenue, Unit 4CL London EC3N 3AX, United Kingdom

Quick Start Guide 111

(EN



TANNOY



